

BILL TO:	_ \	JOB LOCAT	ION:		
COMPANY Chula Vista	, City of	COMPANY	City of Chula Vista	DATE	December 6,2017
ADDRESS 276 Fourth	Ave	ADDRESS	276 Fourth Ave	EXPIRY DATE	January 5,2018
				SALES REP.	MATTHEW ROBBART
Chula Vista	, CA 91910		Chula Vista, CA 91910	PHONE.	(909)257-2733 EXT
CONTACT Gary Halbe	rt	CONTACT		EMAIL.	mrobbart@nicpartnersinc.com
PHONE		PHONE			
TITI C.					

FF - Chula Vista, City of-Comprehensive Tech Refresh - Police/PublicWorks/LCDC/Animal Facility/RecCenters/Fire/Wireless

SCOPE OF WORK:

NASPO ValuePoint AR-233 (14-19) PA# 7-14-70-04

"The GSPD 401IT - General Provisions - Information Technology Statement of Work terms apply to all orders and supersedes the corresponding Sections of the GSPF40IT terms. Authorized purchasers issuance of purchase order(s) is deemed acceptance of these Statement of Work Terms."

Please refer to the attached Statement of Work "City of Chula Vista - Technology Refresh"

*** Fulfillment Only ***

PART#	DESCRIPTION	QTY	UNIT PRICE	TOTAL PRICE
	NASPO ValuePoint AR-233 (14-19) PA# 7-14-70-04			
	Police Department			
C1-CISCO4431/K9	Cisco ONE ISR 4431 (4GE,3NIM,8G FLASH,4G DRAM,IPB)	1.00	\$7,150.0000	\$7,150.00
CON-SNT-C14431K9	*SNTC-8X5XNBD C1 ISR 4431 (4GE,3NIM,8G FLASH)	5.00	\$0.0000	\$0.00
	60 Month Service Duration			
C1-SL-1300-AKC	*Cisco ONE Promo LIC Akamai Connect for 1300 connection WAAS	1.00	\$0.0000	\$0.00
SL-44-IPB-K9	IP Base License for Cisco ISR 4400 Series	1.00	\$0.0000	\$0.00
PWR-4430-AC	AC Power Supply for Cisco ISR 4430	1.00	\$0.0000	\$0.00
PWR-4430-AC/2	AC Power Supply (Secondary PS) for Cisco ISR 4430	1.00	\$520.0000	\$520.00
CAB-AC	AC Power Cord (North America), C13, NEMA 5-15P, 2.1m	2.00	\$0.0000	\$0.00
PVDM4-64	64-channel DSP module	1.00	\$0.0000	\$0.00
MEM-4400-8G	8G DRAM (4G+4G) for Cisco ISR 4400, Spare	1.00	\$0.0000	\$0.00
NIM-BLANK	Blank faceplate for NIM slot on Cisco ISR 4400	2.00	\$0.0000	\$0.00
MEM-FLSH-8G	8G eUSB Flash Memory for Cisco ISR 4430	1.00	\$0.0000	\$0.00
MEM-4400-DP-2G	2G DRAM (1 DIMM) for Cisco ISR 4400 Data Plane	1.00	\$0.0000	\$0.00
C1F1PISR4400SK9	Cisco ONE Foundation Perpetual License ISR 4400	1.00	\$5,005.0000	\$5,005.00
CON-ECMU-C1F1PISR	*SWSS UPGRADES Cisco ONE Foundation Perpetual License I	5.00	\$0.0000	\$0.00
	60 Month Service Duration			
SL-44-SEC-K9	Security License for Cisco ISR 4400 Series	1.00	\$0.0000	\$0.00
SL-44-APP-K9	AppX License for Cisco ISR 4400 Series	1.00	\$0.0000	\$0.00
ISRWAAS-RTU-1300	ISRWAAS RTU for 1300 connections	1.00	\$0.0000	\$0.00
CON-ECMU-IW1300	*SWSS UPGRADES ISRWAAS RTU for 1300 connections	1.00	\$0.0000	\$0.00
	60 Month Service Duration			
C1-PI-LFAS-ISR-K9	Cisco ONE PI Device License for LF, AS, & IWAN App for ISR	1.00	\$0.0000	\$0.00
C1-LIC-VCM-1N	*Cisco ONE Promo license to manage one WAAS node	1.00	\$0.0000	\$0.00
C1AUPISR4400SK9	Cisco ONE Advanced UC Perpetual License ISR 4400	1.00	\$2,600.0000	\$2,600.00
CON-ECMU-C1A4400S	*SWSS UPGRADES C1 Advanced Perpetual Lic ISR 4400	5.00	\$0.0000	\$0.00
	60 Month Service Duration			
SL-44-UC-K9	Unified Communication License for Cisco ISR 4400 Series	1.00	\$0.0000	\$0.00
FL-CME-SRST-25	SRST-25 Seat License (CME uses CUCME Phone License ONLY)	1.00	\$0.0000	\$0.00
FL-CUBEE-25	Unified Border Element Enterprise License - 25 sessions	1.00	\$0.0000	\$0.00
SISR4400UK9-316S	Cisco ISR 4400 Series IOS XE Universal	1.00	\$0.0000	\$0.00



BILL TO:	JOB LOCATION:	
COMPANY Chula Vista, City of	COMPANY City of Chula Vista	DATE December 6,2017
ADDRESS 276 Fourth Ave	ADDRESS 276 Fourth Ave	EXPIRY DATE January 5,2018
		SALES REP. MATTHEW ROBBART
Chula Vista, CA 91910	Chula Vista, CA 91910	PHONE. (909)257-2733 EXT
CONTACT Gary Halbert	CONTACT	EMAIL. mrobbart@nicpartnersinc.com
PHONE	PHONE	
TITLE		

FL-SHEST Cisco Survivable Remote Silte Telephony (SRST) License OLLY)	PART#	DESCRIPTION	QTY	UNIT PRICE	TOTAL PRICE
NM-2FXSIFXAD 2-Port FXS/FXS-E/DID and 4-Port FXO Network Interface Module 1.00 \$910,000 \$910,00 C141VISR4400S-04 *Tracker PID v04 FAD Perpetual ISR4400S - no delivery 1.00 \$0,000 \$0.00 C1F1VISR4400S-04 *Tracker PID v04 FAD Perpetual ISR4400S - no delivery 1.00 \$0,000 \$0.000 C900-48IU-A Caralyst 9300 48-port UPOE, Network Advantage 18.00 \$60,0000 \$0.0000 C0N-SNT-C33000-W-A-48 Cyclo Month Service Duration 18.00 \$0.0000 \$0.000 C9300-NW-A-48 1100W AC Config 1 Pecur Supply 18.00 \$0.0000 \$0.000 PWR-C1-1100WAC 1100W AC Config 1 Secondary Power Supply 18.00 \$1,657,500 \$29,835.00 C3000-NW-AX 2100 MA C Config 1 Perus (Supply 18.00 \$0.0000 \$29,835.00 C141TCAT393002-50 1050 C MA Edvartage Term (\$9300 48-port 18.00 \$0.0000 \$0.000 C143TCAT393002-50 1050 C ME C9300 DNA Advantage Term C9300 48-port 18.00 \$0.0000 \$0.000 C143TCAT393002-50 1050 C ME C9300 DNA Advantage Term C9300 48-port 18.00 \$0.0000 \$0.000 </td <td>FL-SRST</td> <td>Cisco Survivable Remote Site Telephony (SRST) License</td> <td>1.00</td> <td>\$0.0000</td> <td>\$0.00</td>	FL-SRST	Cisco Survivable Remote Site Telephony (SRST) License	1.00	\$0.0000	\$0.00
C1A1VISRA400S-011 "Tracker PID v01 Adv Perpetual ISRA400S- no delivery 1.00 \$0,0000 \$0,000 C1F1VISRA400S-04 Tracker PID v04 Fnd Perpetual ISRA400S- no delivery 1.00 \$0,0000 \$0,0000 C0300-48U-A Catalyst 9300 48-port UPOE, Network Advantage 18.00 \$6,831.5000 \$122,967.00 C0300-NW-A-18 "C59300 Network Advantage, 48-port license 18.00 \$0,0000 \$0,000 PWR-C1-1100WAC 1100W AC Config 1 Power Supply 18.00 \$123,50000 \$22,233.00 C9300-NW-48 C100W AC Config 1 Power Supply 18.00 \$1,657,5000 \$22,933.00 C9300-Ma-8X C241349 13900 8 x 100E Network Module 18.00 \$1,657,5000 \$29,935.00 C1A1TCAT39300247 "C1 Advantage Term, C9300 48-Port 18.00 \$0,0000 \$0,000 C1-63300-31RK-59 "C1500 ONE SBB ASE License Term 450,00 \$0,0000 \$0,000 C1-18SE-PLS-TIKK-67 "C1500 ONE SBB ASE License Term 450,00 \$0,0000 \$0,000 C1-18SE-PLS-TIKK-79 "C1500 ONE SBB-SIMPLIC License Term 450,00 \$0,0000 \$0,000 C1-18SE-PLS	FL-CME-SRST-100	SRST-100 Seat License (CME uses CUCME Phone License ONLY)	3.00	\$1,495.0000	\$4,485.00
C1FTVISRA400S-04 *Tracker PID v04 Find Perpetual ISR440DS- no defivery 1.00 \$0,0000 \$0,000 C3004-8U-A Catalysts 9300 48-port UPOE, Network Advantage 18.00 \$6,831,5000 \$122,967.00 C500-NSNT-C93004UA SMTC-EXEX/NSD Catalysts 9300 48-port UPOE, Network Advantage 90.00 \$0,0000 \$0.0000 C600-NSNT-C93004UA C5000 NW-A-48 *75,000 Network Advantage, 48-port license 18.00 \$0,0000 \$0.0000 PWR-C1-1100WAC 1100W AC Config 1 Power Supply 18.00 \$0,0000 \$22,230,00 C8300-NW-AX 2100W AC Config 1 Secondary Power Supply 18.00 \$1,697,5000 \$29,835,00 C1401TCATS3000 *100W AC Config 1 Secondary Power Supply 18.00 \$0,0000 \$20,800 C1401TCATS3000 *100E Advantage Term C9300 48-port 18.00 \$0,0000 \$0,0000 C1401TCATS30002-57 *101E Advantage Term C9300 48-Port Term licenses 18.00 \$0,0000 \$0,000 C1-G300-7EKR5Y *101E OSCO ONE Subscription SKU 5Y 18.00 \$0,0000 \$0,000 C1-ISE-RASE-TER-ST *101E OSCO ONE Subscription SKU ISE PLUS SW \$1,000 \$0	NIM-2FXS/4FXO	2-Port FXS/FXS-E/DID and 4-Port FXO Network Interface Module	1.00	\$910.0000	\$910.00
C9300-48U-A Catalyst 9300 48-port UPOE, Network Advantage 18.00 \$6,931.5000 \$122,967.00 CON-SNT-C93004BU-A Catalyst 9300 48-port UPOE, Network Advantage 18.00 \$6,931.5000 \$0,0000 CON-SNT-C93004BU-A Catalyst 9300 48-port UPOE, Network Advantage 18.00 \$0,0000 \$0,000 C93004 NW-A-48 C30300 Network Advantage, 48-port license 18.00 \$0,0000 \$22,230.00 PWR-C1-1100WAC2 1100W AC Conflig 1 Power Supply 18.00 \$1,255,0000 \$22,930.00 C9300-NM-8X Catalyst 9300 8 x 10GE Network Module 18.00 \$1,657,5000 \$22,935.00 C1ATCAT93002 **Cisco ONE Advantage Term, C9300 48-Port Term licenses 18.00 \$4,608,5000 \$80,205.00 C1-C9300-48-DNA-7 **Cisco ONE Subscription SKU 5Y 18.00 \$0,0000 \$0,000 C1-G9300-78 K-Fey **Cisco ONE Subscription SKU 5Y 45.00 \$0,0000 \$0,000 C1-BSE-BASE-TRK-5Y **Cisco ONE Subscription SKU 5Y 45.00 \$0,0000 \$0,000 C1-BSE-BASE-TRK-5Y **Cisco ONE Subscription SKU ISF Plus 5Y 45.00 \$0,0000 \$0,000	C1A1VISR4400S-01	*Tracker PID v01 Adv Perpetual ISR4400S - no delivery	1.00	\$0.0000	\$0.00
COSION-SHU-AC Catalyst 9300 48-port UPOE, Network Advantage 18.00 \$6,831.5000 \$122,967.00 CON-SHT-CS3004HA SNTC-8X5XNBBD Catalyst 9300 48-port UPOE, Network Advantage 90,000 \$0,000 \$0,000 C9300-NW-A-48 *C9300 Network Advantage, 48-port license 18.00 \$0,0000 \$0,000 PWR-C1-1100WAC 1100W AC Config 1 Power Supply 18.00 \$1,255,000 \$22,230.00 C141TCAT93002 *C1000 NE Advantage Term, C9300 48-port 18.00 \$1,607,500 \$29,385.00 C1A1TCAT93002 *C1 Advantage Term, C9300 48-port 18.00 \$1,607,500 \$29,385.00 C1A1TCAT93002297 *C1 Advantage Term C9300 48-Port Term licenses 18.00 \$4,608,500 \$82,985.00 C1-C9300-RIK-EY *C1 Sco ONE Subscription SKU 5Y 18.00 \$0,0000 \$0,000 C1-SEB-BASE-TRK-EY *C15co ONE Subscription SKU 5Y 18.00 \$0,0000 \$0,000 C1-ISE-PLS-TRK-EY *C15co ONE Subscription SKU ISE Plus 5Y 450.00 \$0,000 \$0,000 C1-SWATCH-TRK-EY *C15co ONE Subscription SKU ISE Plus 5Y 450.00 \$0,000 \$0,000	C1F1VISR4400S-04	*Tracker PID v04 Fnd Perpetual ISR4400S - no delivery	1.00	\$0.0000	\$0.00
CON-SNT-G9300HUA SNTC-8X5XNBD Catalyst 9300 48-port UPCE, Network Adva 90.00 \$0.0000 \$0.000 C9300-NW-A-48 'C9300 Network Advantage, 48-port license 18.00 \$0.0000 \$0.000 PWR-C1-1100WAC 1100W AC Config 1 Secondary Power Supply 18.00 \$1.625.0000 \$22,230.00 C9300-NH-AX Catalyst 9300 8 to 10GE Network Module 18.00 \$1.657.5000 \$22,230.00 C141TCAT93002-57 'C1 Advantage Term, C9300 48-port 18.00 \$0.0000 \$0.00 C1-C9300-HE, MAA-T 'Cisco ONE Advantage Term, C9300 48-port Term licenses 18.00 \$4.608.5000 \$82,953.00 C1-C9300-HE, MAA-T 'Cisco ONE C9300 DNA Advantage 48-Port Term licenses 18.00 \$0.0000 \$0.00 C1-C9300-HE, MAA-T 'Cisco ONE Subscription ISE BASE 16.00 \$0.000 \$0.00 \$0.00 C1-SE-PLST 'Cisco ONE Subscription SKU 15P YELD YELD \$0.000 \$0.00 C1-SE-PLST 'Cisco ONE Subscription SKU 15P IPUS 5Y 450.00 \$0.000 \$0.00 C1-SE-PLST-RK-SY 'Cisco ONE Subscription SWATCH SKU 5Y 450.00 \$0.000 \$0.00		Police Department			
C9300-NW448 C9300 Network Advantage, 48-port license 18.0 \$0.0000 \$0.000 PWR-C1-1100WACI 1100W AC Conflig 1 Power Supply 18.0 \$0.000 \$0.00 PWR-C1-1100WACI 1100W AC Conflig 1 Power Supply 18.0 \$1.235.000 \$22,230.00 C9300-NM-8X Catalyst 9300 8 x 10GE Network Module 18.0 \$1.657.500 \$22,835.00 C1A1TCAT393002 Cisco ONE Advantage Term, C9300 48-port 18.0 \$0.000 \$0.000 C1-10-2300-48-DNA-7 C1 Advantage Term C9300 48-port Term licenses 18.0 \$0.000 \$0.000 C1-10-2300-48-DNA-7 C1 Sco ONE C9300 DNA Advantage 48-Port Term licenses 18.0 \$0.0000 \$0.000 C1-10-2300-47-K-54 C1 Sco ONE Subscription SKU 5Y 18.0 \$0.0000 \$0.000 C1-18E-BASE-T C1 Sco ONE Subscription SKU ISE Plus 5Y 45.00 \$0.0000 \$0.000 C1-18E-PLS-TRK-54 C1 Sco ONE Subscription SKU ISE Plus 5Y 45.00 \$0.0000 \$0.000 C1-18E-PLS-TRK-54 C1 Sco ONE Subscription SKU ISE Plus 5Y 45.00 \$0.0000 \$0.000 C1-18E-PLS-TRK-54	C9300-48U-A	Catalyst 9300 48-port UPOE, Network Advantage	18.00	\$6,831.5000	\$122,967.00
C9300-NW-A-48 C9300 Network Advantage, 48-port license 18.00 \$0,000 \$0.00 PWR-C1-1100WAC 1100W AC Config 1 Power Supply 18.00 \$1,235.000 \$20,300 PWR-C1-1100WAC 1100W AC Config 1 Secondary Power Supply 18.00 \$1,235.000 \$22,230.00 C39300-NM-BW Catalyst 9300 8 x 10GE Network Module 18.00 \$1,657.500 \$29,835.00 C1-C17-C17-C17-C17-C17-C17-C17-C17-C17-C	CON-SNT-C93004UA	SNTC-8X5XNBD Catalyst 9300 48-port UPOE, Network Adva	90.00	\$0.0000	\$0.00
PWR-C1-1100WAC 1100W AC Config 1 Power Supply 18.00 \$0.000 \$0.00 PWR-C1-1100WAC/2 1100W AC Config 1 Secondary Power Supply 18.00 \$1,235,0000 \$22,230.00 C9300-NN-BX Catalyst 9300 8 x 10GE Network Module 18.00 \$1,657,000 \$29,835.00 C1-141TCAT93002-5Y C1-1 Advantage Term, C9300 48-Port Term licenses 18.00 \$4,608.500 \$82,953.00 C1-153000-48-DNA-1 Cisco ONE C9300 DNA Advantage 48-Port Term licenses 18.00 \$0,000 \$0,00 C1-C9300-TRK-5Y Cisco ONE Subscription SKU SY 18.00 \$0,000 \$0,00 C1-158E-BASE-TRK-5Y Cisco ONE Subscription ISE BASE EY 450.00 \$0,000 \$0,00 C1-158E-BASE-TRK-5Y Cisco ONE Subscription SKU ISE Plus 5Y 450.00 \$0,000 \$0,00 C1-158E-BASE-TRK-5Y Cisco ONE Subscription SWATCH SKU SY 450.00 \$0,000 \$0,00 C1-158-HLS-TRK-5Y Cisco ONE Subscription SWATCH SKU SY 450.00 \$0,00 \$0,00 C1-158-HLS-TRK-5Y Cisco ONE Subscription SWATCH SKU SY 450.00 \$0,00 \$0,00 C1-158-WATCH-TRK-5Y		60 Month Service Duration			
PWR-C1-1100WACC 1100W AC Config 1 Secondary Power Supply 18.00 \$1,235.000 \$22,230.00 C9300-NM-8X Catalyst 9300 8 x 10GE Network Module 18.00 \$1,667.5000 \$29,835.00 C1ATCAT93002 **Oisco ONE Advantage Term. C9300 48-port 18.00 \$4,080.00 \$20,000 C1ATCAT93002-5Y **C1 Advantage Term. C9300 48-Port Term licenses 18.00 \$4,080.00 \$50,000 C1-C9300-48-DNA-7 **C1sco ONE C9300 DNA Advantage 48-Port Term licenses 18.00 \$50,000 \$50,000 C1-C9300-TRK-5Y **Cisco ONE Subscription SKU 5Y 18.00 \$50,000 \$50,000 C1-ISE-BASE-TRK-5Y **Cisco ONE ISE BASE License Term 450,00 \$0,000 \$0,000 C1-ISE-PLS-TRK-5Y **Cisco ONE Subscription ISE BASE 5Y 450,00 \$0,000 \$0,000 C1-ISE-PLS-TRK-5Y **Cisco ONE Subscription SWI USE Plus 5Y 450,00 \$0,000 \$0,000 C1-ISE-PLS-TRK-5Y **Cisco ONE Subscription SWATCH SKU SY 450,00 \$0,000 \$0,000 C1-ISE-PLS-TRK-5Y **Cisco ONE Subscription SWATCH SKU SY 450,00 \$0,000 \$0,000 <	C9300-NW-A-48	*C9300 Network Advantage, 48-port license	18.00	\$0.0000	\$0.00
C9300-NM-B2X Catalyst 9300 8 x 10GE Network Module 18.00 \$1.657.5000 \$29,835.00 C1A1TCAT93002 **Cisco ONE Advantage Term, C9300 48-port 18.00 \$0,0000 \$0,000 C1A1TCAT93002-50 **C1 Advantage Term, C9300 48P-57 - DNA, 25 ISE PLS, 25 SWATCH 18.00 \$4,608.500 \$82,953.00 C1-C9300-48-DNAA-7 **Cisco ONE C9300 DNA Advantage 48-Port Term licenses 18.00 \$0,0000 \$0,000 C1-13SE-BASE-T **Cisco ONE ISE BASE License Term 450.00 \$0,0000 \$0,000 C1-ISE-BASE-TRK-SY **Cisco ONE Subscription ISE BASE SY 450.00 \$0,0000 \$0,000 C1-ISE-PLS-TRK-SY **Cisco ONE Subscription SKU ISE Plus 5Y 450.00 \$0,0000 \$0,000 C1-ISE-PLS-TRK-SY **Cisco ONE Subscription SKU ISE Plus 5Y 450.00 \$0,0000 \$0,000 C1-ISE-PLS-TRK-SY **Cisco ONE Subscription SWATCH SKU 5Y 450.00 \$0,0000 \$0,000 C1-SWATCH-TRK-50 **Cisco ONE Subscription SWATCH SKU 5Y 450.00 \$0,0000 \$0,000 C1-SWATCH-TRK-57 **C1 Advantage Add-On Term C9300 5Y - 25 ISE PLS, 25 SWATCH 18.00 \$0,0000	PWR-C1-1100WAC	1100W AC Config 1 Power Supply	18.00	\$0.0000	\$0.00
C1A1TCAT93002 **C1SCO ONE Advantage Term, C9300 48-port 18.00 \$0.0000 \$0.000 C1A1TCAT93002-5Y **C1 Advantage Term C9300 48P 5Y - DNA, 25 ISE PLS, 25 SWATCH 18.00 \$4.608.5000 \$82.953.00 C1-C9300-4B-DNAA-T **Cisco ONE C9300 DNA Advantage 48-Port Term licenses 18.00 \$0.0000 \$0.000 C1-S9300-TRK-5Y **Cisco ONE Subscription ISE BASE License Term 450.00 \$0.0000 \$0.000 C1-ISE-BASE-TRK-5Y **Cisco ONE Subscription ISE BASE 5Y 450.00 \$0.0000 \$0.000 C1-ISE-PLS-TRK-5Y **Cisco ONE Subscription SKU ISE Plus SY 450.00 \$0.0000 \$0.000 C1-ISE-PLS-TRK-5Y **Cisco ONE Subscription SKU ISE Plus SY 450.00 \$0.0000 \$0.000 C1-SWATCH-TRK-5Y **Cisco ONE Subscription SWATCH SKU BY 450.00 \$0.0000 \$0.000 C1-SWATCH-TRK-5Y **Cisco ONE Advantage Add-On Term, C9300 18.00 \$0.0000 \$0.000 C1-SWATCH-TRK-5Y **Cisco ONE ISE BASE LICENSE Term 450.00 \$0.0000 \$0.000 C1-ISE-BASE-TRK-5Y **Cisco ONE ISE BASE LICENSE Term 450.00 \$0.0000 \$0.000	PWR-C1-1100WAC/2	1100W AC Config 1 Secondary Power Supply	18.00	\$1,235.0000	\$22,230.00
C1A1TCAT93002-5Y *C1 Advantage Term C9300 48P 5Y - DNA, 25 ISE PLS, 25 SWATCH 18.00 \$4,608.5000 \$82,953.00 C1-C9300-48-DNAA-T *Cisco ONE C9300 DNA Advantage 48-Port Term licenses 18.00 \$0,0000 \$0,000 C1-C9300-TRK-SY *Cisco ONE Subscription SKU 5Y 18.00 \$0,0000 \$0,000 C1-ISE-BASE-TRK-SY *Cisco ONE ISE BASE License Term 450,00 \$0,0000 \$0,000 C1-ISE-PLS-T *Cisco ONE Subscription ISE BASE 5Y 450,00 \$0,0000 \$0,000 C1-ISE-PLS-TRK-SY *Cisco ONE Subscription SKU ISE Plus SY 450,00 \$0,0000 \$0,000 C1-ISE-PLS-TRK-SY *Cisco ONE Subscription SKU ISE Plus SY 450,00 \$0,0000 \$0,000 C1-SWATCH-TRK-SY *Cisco ONE Subscription SKU ISE Plus SY 450,00 \$0,0000 \$0,000 C1-SWATCH-TRK-SY *Cisco ONE Subscription SKU ISE Plus SY 450,00 \$0,0000 \$0,000 C1-ISE-BASE-TRK-SY *C1 Advantage Add-On Term, C9300 SY -25 ISE PLS, 25 SWATCH 18.00 \$0,0000 \$14,508.00 C1-ISE-BASE-TRK-SY *C1sco ONE Subscription SKU ISE Plus SY 450,00 \$0,0000 \$0,000<	C9300-NM-8X	Catalyst 9300 8 x 10GE Network Module	18.00	\$1,657.5000	\$29,835.00
C1-C9300-48-DNAAT **Cisco ONE C9300 DNA Advantage 48-Port Term licenses 18.00 \$0.0000 \$0.000 C1-C9300-TRK-SY **Cisco ONE Subscription SKU SY 18.00 \$0.0000 \$0.000 C1-L9300-TRK-SY **Cisco ONE ISE BASE License Term 450.00 \$0.0000 \$0.000 C1-ISE-BASE-TRK-SY **Cisco ONE Subscription ISE BASE SY 450.00 \$0.0000 \$0.000 C1-ISE-PLS-TRK-SY **Cisco ONE Subscription SKU ISE Plus SY 450.00 \$0.0000 \$0.000 C1-ISE-PLS-TRK-SY **Cisco ONE Subscription SWATCH SKU ISE Plus SY 450.00 \$0.0000 \$0.000 C1-SWATCH-TRK-SY **Cisco ONE Subscription SWATCH SKU 5Y 450.00 \$0.0000 \$0.00 C1-SWATCH-TRK-SY **Cisco ONE Advantage Add-On Term, C9300 18.0 \$0.0000 \$0.00 C1-ASYATCH-TRK-SY **Cisco ONE Advantage Add-On Term C9300 SY - 25 ISE PLS, 25 SWATCH 18.00 \$80.0000 \$14,508.00 C1-ISE-BASE-TRK-SY **Cisco ONE Subscription ISE BASE 5Y 450.00 \$0.0000 \$0.00 C1-ISE-BASE-TRK-SY **Cisco ONE Subscription SWATCH SKU 5Y 450.00 \$0.0000 \$0.00 <td>C1A1TCAT93002</td> <td>*Cisco ONE Advantage Term, C9300 48-port</td> <td>18.00</td> <td>\$0.0000</td> <td>\$0.00</td>	C1A1TCAT93002	*Cisco ONE Advantage Term, C9300 48-port	18.00	\$0.0000	\$0.00
C1-C9300-TRK-57 *Cisco ONE Subscription SKU 5Y 18.00 \$0.0000 \$0.0000 C1-ISE-BASE-T *Cisco ONE ISE BASE License Term 450.00 \$0.0000 \$0.000 C1-ISE-BASE-TRK-57 *Cisco ONE Subscription ISE BASE 5Y 450.00 \$0.0000 \$0.000 C1-ISE-PLS-TRK-57 *Cisco ONE ISE PLUS License Term 450.00 \$0.0000 \$0.000 C1-ISE-PLS-TRK-57 *Cisco ONE Subscription SKU ISE Plus 5Y 450.00 \$0.0000 \$0.000 C1-SWATCH-T *Cisco ONE Subscription SWATCH SKU 5Y 450.00 \$0.0000 \$0.000 C1-SWATCH-TRK-57 *Cisco ONE Subscription SWATCH SKU 5Y 450.00 \$0.0000 \$0.000 C1-SWATCH-TRK-59 *Cisco ONE Subscription SWATCH SKU 5Y 450.00 \$0.0000 \$0.000 C1-SWATCH-TRK-59 *Cisco ONE Subscription SWATCH SKU 5Y 450.00 \$0.0000 \$14,508.00 C1-ISE-BASE-TRK-59 *Cisco ONE ISE BASE License Term 450.00 \$0.0000 \$0.000 C1-ISE-BASE-TRK-57 *Cisco ONE Subscription SKU ISE Plus 5Y 450.00 \$0.0000 \$0.000 C1-ISE-BASE-TRK-57 *Cisco ONE Su	C1A1TCAT93002-5Y	*C1 Advantage Term C9300 48P 5Y - DNA, 25 ISE PLS, 25 SWATCH	18.00	\$4,608.5000	\$82,953.00
C1-ISE-BASE-T *Cisco ONE ISE BASE License Term 450.00 \$0.0000 \$0.000 C1-ISE-BASE-TRK-5Y *Cisco ONE Subscription ISE BASE 5Y 450.00 \$0.0000 \$0.000 C1-ISE-PLS-T *Cisco ONE ISE PLUS License Term 450.00 \$0.0000 \$0.000 C1-ISE-PLS-TRK-5Y *Cisco ONE Subscription SKU ISE Plus 5Y 450.00 \$0.0000 \$0.000 C1-SWATCH-T *Cisco ONE Subscription SWATCH SKU 5Y 450.00 \$0.0000 \$0.000 C1-SWATCH-TRK-5Y *Cisco ONE Advantage Add-On Term, C9300 18.00 \$0.0000 \$0.000 C1-AA1TCAT93001-5Y *Cisco ONE Advantage Add-On Term C9300 5Y - 25 ISE PLS, 25 SWATCH 18.00 \$806.0000 \$14,508.00 C1-ISE-BASE-TR *Cisco ONE ISE BASE License Term 450.00 \$0.0000 \$0.000 C1-ISE-BASE-TRK-5Y *Cisco ONE ISE BASE License Term 450.00 \$0.0000 \$0.000 C1-ISE-BASE-TRK-5Y *Cisco ONE ISE BASE License Term 450.00 \$0.0000 \$0.000 C1-ISE-BASE-TRK-5Y *Cisco ONE ISE BASE License Term 450.00 \$0.0000 \$0.000 C1-ISE-BASE-TRK-5Y	C1-C9300-48-DNAA-T	*Cisco ONE C9300 DNA Advantage 48-Port Term licenses	18.00	\$0.0000	\$0.00
C1-ISE-BASE-TRK-ST *Cisco ONE Subscription ISE BASE SY 450.00 \$0.0000 \$0.000 C1-ISE-PLS-T *Cisco ONE ISE PLUS License Term 450.00 \$0.0000 \$0.000 C1-ISE-PLS-TRK-SY *Cisco ONE Subscription SKU ISE Plus SY 450.00 \$0.0000 \$0.000 C1-SWATCH-T *Cisco ONE Subscription SWATCH SKU SY 450.00 \$0.0000 \$0.000 C1-SWATCH-TRK-SY *Cisco ONE Advantage Add-On Term, C9300 18.00 \$0.0000 \$0.000 C1-AITCAT93001 *Cisco ONE ISE BASE License Term 450.00 \$80.0000 \$0.000 C1-AITCAT93001-SY *Cisco ONE ISE BASE License Term 450.00 \$80.0000 \$0.000 C1-ISE-BASE-TR *Cisco ONE ISE BASE License Term 450.00 \$0.0000 \$0.000 C1-ISE-BASE-TRK-SY *Cisco ONE Subscription ISE BASE SY 450.00 \$0.0000 \$0.000 C1-ISE-PLS-TRK-SY *Cisco ONE Subscription SKU ISE Plus SY 450.00 \$0.0000 \$0.000 C1-ISE-PLS-TRK-SY *Cisco ONE Subscription SWATCH SKU 5Y 450.00 \$0.0000 \$0.000 C1-SWATCH-T *Cisco ONE Subscription S	C1-C9300-TRK-5Y	*Cisco ONE Subscription SKU 5Y	18.00	\$0.0000	\$0.00
C1-ISE-PLS-T *Cisco ONE ISE PLUS License Term 450.00 \$0.0000 \$0.000 C1-ISE-PLS-TRK-SY *Cisco ONE Subscription SKU ISE Plus 5Y 450.00 \$0.0000 \$0.000 C1-SWATCH-T *Cisco ONE StealthWatch License Term - 1 Flow License 450.00 \$0.0000 \$0.000 C1-SWATCH-TRK-SY *Cisco ONE Subscription SWATCH SKU 5Y 450.00 \$0.0000 \$0.000 C1-AA1TCAT93001 *Cisco ONE Advantage Add-On Term C9300 18.00 \$806.0000 \$0.000 C1-ABE-BASE-T *Cisco ONE ISE BASE License Term 450.00 \$0.0000 \$0.000 C1-ISE-BASE-TRK-SY *Cisco ONE ISE PLUS License Term 450.00 \$0.0000 \$0.000 C1-ISE-BASE-TRK-SY *Cisco ONE Subscription SKU ISE Plus 5Y 450.00 \$0.0000 \$0.000 C1-ISE-PLS-TRK-SY *Cisco ONE Subscription SKU ISE Plus 5Y 450.00 \$0.0000 \$0.000 C1-ISE-PLS-TRK-SY *Cisco ONE Subscription SWATCH SKU 5Y 450.00 \$0.0000 \$0.000 C1-ISE-PLS-TRK-SY *Cisco ONE Subscription SWATCH SKU 5Y 450.00 \$0.0000 \$0.000 C1-SWATCH-TRK-SY	C1-ISE-BASE-T	*Cisco ONE ISE BASE License Term	450.00	\$0.0000	\$0.00
C1-ISE-PLS-TRK-5Y *Cisco ONE Subscription SKU ISE Plus 5Y 450.00 \$0.0000 \$0.000 C1-SWATCH-T *Cisco ONE StealthWatch License Term - 1 Flow License 450.00 \$0.0000 \$0.000 C1-SWATCH-TRK-5Y *Cisco ONE Subscription SWATCH SKU 5Y 450.00 \$0.0000 \$0.000 C1AA1TCAT93001 *Cisco ONE Advantage Add-On Term C9300 5Y - 25 ISE PLS, 25 SWATCH 18.00 \$806.0000 \$14,508.00 C1-ISE-BASE-T *Cisco ONE ISE BASE License Term 450.00 \$0.0000 \$0.000 C1-ISE-BASE-TRK-5Y *Cisco ONE Subscription ISE BASE 5Y 450.00 \$0.0000 \$0.000 C1-ISE-PLS-TR *Cisco ONE Subscription SKU ISE Plus 5Y 450.00 \$0.0000 \$0.000 C1-ISE-PLS-TRK-5Y *Cisco ONE Subscription SKU ISE Plus 5Y 450.00 \$0.0000 \$0.000 C1-ISE-PLS-TRK-5Y *Cisco ONE Subscription SKU ISE Plus 5Y 450.00 \$0.0000 \$0.000 C1-SWATCH-TR *Cisco ONE Subscription SWATCH SKU 5Y 450.00 \$0.0000 \$0.000 C3-SWATCH-TRK-5Y *Cisco ONE Subscription SWATCH SKU 5Y 450.00 \$0.0000 \$0.000	C1-ISE-BASE-TRK-5Y	*Cisco ONE Subscription ISE BASE 5Y	450.00	\$0.0000	\$0.00
C1-SWATCH-T *Cisco ONE Stealth/Watch License Term - 1 Flow License 450.00 \$0.0000 \$0.000 C1-SWATCH-TRK-5Y *Cisco ONE Subscription SWATCH SKU 5Y 450.00 \$0.0000 \$0.000 C1AA1TCAT93001 *Cisco ONE Advantage Add-On Term, C9300 18.00 \$0.0000 \$0.000 C1AA1TCAT93001-5Y *C1 Advantage Add-On Term C9300 5Y - 25 ISE PLS, 25 SWATCH 18.00 \$806.0000 \$0.000 C1-ISE-BASE-T *Cisco ONE ISE BASE License Term 450.00 \$0.0000 \$0.000 C1-ISE-BASE-TRK-5Y *Cisco ONE Subscription ISE BASE 5Y 450.00 \$0.0000 \$0.00 C1-ISE-PLS-T *Cisco ONE Subscription SKU ISE Plus 5Y 450.00 \$0.0000 \$0.00 C1-ISE-PLS-TRK-5Y *Cisco ONE Subscription SWATCH SKU 5Y 450.00 \$0.0000 \$0.00 C1-SWATCH-TRK-5Y *Cisco ONE Subscription SWATCH SKU 5Y 450.00 \$0.0000 \$0.00 S9300UK9-166 *CAT9300 Universal image 18.00 \$0.0000 \$0.00 STACK-T1-50CM 50CM Type 1 Stacking Cable 18.00 \$65.0000 \$1,1,170.00 CAB-SPWR-30CM Catalyst	C1-ISE-PLS-T	*Cisco ONE ISE PLUS License Term	450.00	\$0.0000	\$0.00
C1-SWATCH-TRK-5ty *Cisco ONE Subscription SWATCH SKU 5Y 450.00 \$0.0000 \$0.000 C1AA1TCAT93001 *Cisco ONE Advantage Add-On Term, C9300 18.00 \$0.0000 \$0.000 C1AA1TCAT93001-5ty *C1 Advantage Add-On Term C9300 5Y - 25 ISE PLS, 25 SWATCH 18.00 \$806.0000 \$14,508.00 C1-ISE-BASE-T *Cisco ONE ISE BASE License Term 450.00 \$0.0000 \$0.000 C1-ISE-BASE-TRK-5ty *Cisco ONE Subscription ISE BASE 5Y 450.00 \$0.0000 \$0.000 C1-ISE-PLS-T *Cisco ONE ISE PLUS License Term 450.00 \$0.0000 \$0.000 C1-ISE-PLS-TRK-5ty *Cisco ONE Subscription SKU ISE Plus 5Y 450.00 \$0.0000 \$0.000 C1-SWATCH-T *Cisco ONE Subscription SWATCH SKU ISE Plus 5Y 450.00 \$0.0000 \$0.000 C1-SWATCH-TRK-5ty *Cisco ONE Subscription SWATCH SKU 5ty 450.00 \$0.0000 \$0.000 S9300UK9-166 *CAT9300 Universal image 18.00 \$0.0000 \$0.000 STACK-T1-50CM 50CM Type 1 Stacking Cable 18.00 \$65.0000 \$1,1,170.00 CAB-SPWR-30CM Cataly	C1-ISE-PLS-TRK-5Y	*Cisco ONE Subscription SKU ISE Plus 5Y	450.00	\$0.0000	\$0.00
C1AA1TCAT93001 *Cisco ONE Advantage Add-On Term, C9300 18.00 \$0.0000 \$0.000 C1AA1TCAT93001-5Y *C1 Advantage Add-On Term, C9300 5Y - 25 ISE PLS, 25 SWATCH 18.00 \$806.0000 \$14,508.00 C1-ISE-BASE-T *Cisco ONE ISE BASE License Term 450.00 \$0.0000 \$0.000 C1-ISE-BASE-TRK-5Y *Cisco ONE Subscription ISE BASE 5Y 450.00 \$0.0000 \$0.000 C1-ISE-PLS-T *Cisco ONE Subscription SKU ISE Plus 5Y 450.00 \$0.0000 \$0.000 C1-SWATCH-T *Cisco ONE Subscription SKU ISE Plus 5Y 450.00 \$0.0000 \$0.000 C1-SWATCH-TRK-5Y *Cisco ONE Subscription SWATCH SKU 5Y 450.00 \$0.0000 \$0.000 C1-SWATCH-TRK-5Y *Cisco ONE Subscription SWATCH SKU 5Y 450.00 \$0.0000 \$0.000 S9300UK9-166 *CAT9300 Universal image 18.00 \$0.0000 \$0.000 CAB-TA-NA North America AC Type A Power Cable 36.00 \$0.0000 \$0.000 STACK-T1-50CM 50CM Type 1 Stacking Cable 18.00 \$61.7500 \$1,111.50 CAB-SPWR-30CM Catalyst Stack Power Cable	C1-SWATCH-T	*Cisco ONE StealthWatch License Term - 1 Flow License	450.00	\$0.0000	\$0.00
C1AA1TCAT93001-5Y *C1 Advantage Add-On Term C9300 5Y - 25 ISE PLS, 25 SWATCH 18.00 \$806.0000 \$14,508.00 C1-ISE-BASE-T *Cisco ONE ISE BASE License Term 450.00 \$0.0000 \$0.000 C1-ISE-BASE-TRK-5Y *Cisco ONE Subscription ISE BASE 5Y 450.00 \$0.0000 \$0.000 C1-ISE-PLS-T *Cisco ONE ISE PLUS License Term 450.00 \$0.0000 \$0.000 C1-ISE-PLS-TRK-5Y *Cisco ONE Subscription SKU ISE Plus 5Y 450.00 \$0.0000 \$0.000 C1-SWATCH-T *Cisco ONE StealthWatch License Term - 1 Flow License 450.00 \$0.0000 \$0.000 C1-SWATCH-TRK-5Y *Cisco ONE Subscription SWATCH SKU 5Y 450.00 \$0.0000 \$0.000 S9300UK9-166 *CAT9300 Universal image 18.00 \$0.0000 \$0.00 CAB-TA-NA North America AC Type A Power Cable 36.00 \$0.0000 \$0.00 STACK-T1-50CM 50CM Type 1 Stacking Cable 18.00 \$65.0000 \$1,170.00 CAB-SPWR-30CM Catalyst Stack Power Cable 30 CM \$0.0000 \$0.0000 \$0.000 FPR4110-BUN Cisco Firepower 4110 Master	C1-SWATCH-TRK-5Y	*Cisco ONE Subscription SWATCH SKU 5Y	450.00	\$0.0000	\$0.00
C1-ISE-BASE-T *Cisco ONE ISE BASE License Term 450.00 \$0.0000 \$0.000 C1-ISE-BASE-TRK-5Y *Cisco ONE Subscription ISE BASE 5Y 450.00 \$0.0000 \$0.000 C1-ISE-PLS-T *Cisco ONE ISE PLUS License Term 450.00 \$0.0000 \$0.000 C1-ISE-PLS-TRK-5Y *Cisco ONE Subscription SKU ISE Plus 5Y 450.00 \$0.0000 \$0.000 C1-SWATCH-TR *Cisco ONE Subscription SWATCH SKU 5Y 450.00 \$0.0000 \$0.000 C1-SWATCH-TRK-5Y *Cisco ONE Subscription SWATCH SKU 5Y 450.00 \$0.0000 \$0.000 S9300UK9-166 *CAT9300 Universal image 18.00 \$0.0000 \$0.000 CAB-TA-NA North America AC Type A Power Cable 36.00 \$0.0000 \$0.00 STACK-T1-50CM 50CM Type 1 Stacking Cable 18.00 \$61.7500 \$1,170.00 CAB-SPWR-30CM Catalyst Stack Power Cable 30 CM 18.00 \$61.7500 \$1,111.50 FPR4110-BUN Cisco Firepower 4110 Master Bundle 1.00 \$0.0000 \$0.000 FPR4110-NGFW-K9 Cisco Firepower 4110 NGFW Appliance, 1U, 2 x NetMod Bays <t< td=""><td>C1AA1TCAT93001</td><td>*Cisco ONE Advantage Add-On Term, C9300</td><td>18.00</td><td>\$0.0000</td><td>\$0.00</td></t<>	C1AA1TCAT93001	*Cisco ONE Advantage Add-On Term, C9300	18.00	\$0.0000	\$0.00
C1-ISE-BASE-TRK-5Y *Cisco ONE Subscription ISE BASE 5Y 450.00 \$0.0000 \$0.000 C1-ISE-PLS-T *Cisco ONE ISE PLUS License Term 450.00 \$0.0000 \$0.000 C1-ISE-PLS-TRK-5Y *Cisco ONE Subscription SKU ISE Plus 5Y 450.00 \$0.0000 \$0.000 C1-SWATCH-T *Cisco ONE StealthWatch License Term - 1 Flow License 450.00 \$0.0000 \$0.000 C1-SWATCH-TRK-5Y *Cisco ONE Subscription SWATCH SKU 5Y 450.00 \$0.0000 \$0.000 S9300UK9-166 *CAT9300 Universal image 18.00 \$0.0000 \$0.00 CAB-TA-NA North America AC Type A Power Cable 36.00 \$0.0000 \$0.00 STACK-T1-50CM 50CM Type 1 Stacking Cable 18.00 \$65.0000 \$1,170.00 CAB-SPWR-30CM Catalyst Stack Power Cable 30 CM 18.00 \$61.7500 \$1,111.50 FPR4110-BUN Cisco Firepower 4110 Master Bundle 1.00 \$0.0000 \$0.000 FPR4110-NGFW-K9 Cisco Firepower 4110 NGFW Appliance, 1U, 2 x NetMod Bays 2.00 \$58.496.7500 \$116,993.50 CON-SNT-FPR4110N *SNTC-8X5XNBD Cisco Fir	C1AA1TCAT93001-5Y	*C1 Advantage Add-On Term C9300 5Y - 25 ISE PLS, 25 SWATCH	18.00	\$806.0000	\$14,508.00
C1-ISE-PLS-T *Cisco ONE ISE PLUS License Term 450.00 \$0.0000 \$0.000 C1-ISE-PLS-TRK-5Y *Cisco ONE Subscription SKU ISE Plus 5Y 450.00 \$0.0000 \$0.000 C1-SWATCH-T *Cisco ONE StealthWatch License Term - 1 Flow License 450.00 \$0.0000 \$0.000 C1-SWATCH-TRK-5Y *Cisco ONE Subscription SWATCH SKU 5Y 450.00 \$0.0000 \$0.000 S9300UK9-166 *CAT9300 Universal image 18.00 \$0.0000 \$0.00 CAB-TA-NA North America AC Type A Power Cable 36.00 \$0.0000 \$0.00 STACK-T1-50CM 50CM Type 1 Stacking Cable 18.00 \$65.0000 \$1,170.00 CAB-SPWR-30CM Catalyst Stack Power Cable 30 CM 18.00 \$61.7500 \$1,111.50 POlice Department - Firewalls for PD - join to FMC FPR4110-BUN \$0.0000 \$0.000 \$0.00 FPR4110-NGFW-K9 Cisco Firepower 4110 NGFW Appliance, 1U, 2 x NetMod Bays 2.00 \$58,496.7500 \$116,993.50 CON-SNT-FPR4110N *SNTC-8X5XNBD Cisco Firepower 4110 10.00 \$0.0000 \$0.000	C1-ISE-BASE-T	*Cisco ONE ISE BASE License Term	450.00	\$0.0000	\$0.00
C1-ISE-PLS-TRK-5Y *Cisco ONE Subscription SKU ISE Plus 5Y 450.00 \$0.0000 \$0.000 C1-SWATCH-T *Cisco ONE StealthWatch License Term - 1 Flow License 450.00 \$0.0000 \$0.000 C1-SWATCH-TRK-5Y *Cisco ONE Subscription SWATCH SKU 5Y 450.00 \$0.0000 \$0.000 S9300UK9-166 *CAT9300 Universal image 18.00 \$0.0000 \$0.00 CAB-TA-NA North America AC Type A Power Cable 36.00 \$0.0000 \$0.00 STACK-T1-50CM 50CM Type 1 Stacking Cable 18.00 \$65.0000 \$1,170.00 CAB-SPWR-30CM Catalyst Stack Power Cable 30 CM 18.00 \$61.7500 \$1,111.50 POlice Department - Firewalls for PD - join to FMC FPR4110-BUN Cisco Firepower 4110 Master Bundle 1.00 \$0.0000 \$0.00 FPR4110-NGFW-K9 Cisco Firepower 4110 NGFW Appliance, 1U, 2 x NetMod Bays 2.00 \$58,496.7500 \$116,993.50 CON-SNT-FPR4110N *SNTC-8X5XNBD Cisco Firepower 4110 10.00 \$0.0000 \$0.000	C1-ISE-BASE-TRK-5Y	*Cisco ONE Subscription ISE BASE 5Y	450.00	\$0.0000	\$0.00
C1-SWATCH-T *Cisco ONE StealthWatch License Term - 1 Flow License 450.00 \$0.0000 \$0.000 C1-SWATCH-TRK-5Y *Cisco ONE Subscription SWATCH SKU 5Y 450.00 \$0.0000 \$0.000 S9300UK9-166 *CAT9300 Universal image 18.00 \$0.0000 \$0.000 CAB-TA-NA North America AC Type A Power Cable 36.00 \$0.0000 \$0.000 STACK-T1-50CM 50CM Type 1 Stacking Cable 18.00 \$65.0000 \$1,170.00 CAB-SPWR-30CM Catalyst Stack Power Cable 30 CM 18.00 \$61.7500 \$1,111.50 FPR4110-BUN Cisco Firepower 4110 Master Bundle 1.00 \$0.0000 \$0.000 FPR4110-NGFW-K9 Cisco Firepower 4110 NGFW Appliance, 1U, 2 x NetMod Bays 2.00 \$58,496.7500 \$116,993.50 CON-SNT-FPR4110N *SNTC-8X5XNBD Cisco Firepower 4110 10.00 \$0.0000 \$0.000	C1-ISE-PLS-T	*Cisco ONE ISE PLUS License Term	450.00	\$0.0000	\$0.00
C1-SWATCH-TRK-5Y *Cisco ONE Subscription SWATCH SKU 5Y 450.00 \$0.0000 \$0.000 S9300UK9-166 *CAT9300 Universal image 18.00 \$0.0000 \$0.000 CAB-TA-NA North America AC Type A Power Cable 36.00 \$0.0000 \$0.000 STACK-T1-50CM 50CM Type 1 Stacking Cable 18.00 \$65.0000 \$1,170.00 CAB-SPWR-30CM Catalyst Stack Power Cable 30 CM 18.00 \$61.7500 \$1,111.50 Police Department - Firewalls for PD - join to FMC FPR4110-BUN Cisco Firepower 4110 Master Bundle 1.00 \$0.0000 \$0.000 FPR4110-NGFW-K9 Cisco Firepower 4110 NGFW Appliance, 1U, 2 x NetMod Bays 2.00 \$58,496.7500 \$116,993.50 CON-SNT-FPR4110N *SNTC-8X5XNBD Cisco Firepower 4110 10.00 \$0.0000 \$0.000	C1-ISE-PLS-TRK-5Y	*Cisco ONE Subscription SKU ISE Plus 5Y	450.00	\$0.0000	\$0.00
S9300UK9-166 *CAT9300 Universal image 18.00 \$0.0000 \$0.000 CAB-TA-NA North America AC Type A Power Cable 36.00 \$0.0000 \$0.000 STACK-T1-50CM 50CM Type 1 Stacking Cable 18.00 \$65.0000 \$1,170.00 CAB-SPWR-30CM Catalyst Stack Power Cable 30 CM 18.00 \$61.7500 \$1,111.50 Police Department - Firewalls for PD - join to FMC FPR4110-BUN Cisco Firepower 4110 Master Bundle 1.00 \$0.0000 \$0.000 FPR4110-NGFW-K9 Cisco Firepower 4110 NGFW Appliance, 1U, 2 x NetMod Bays 2.00 \$58,496.7500 \$116,993.50 CON-SNT-FPR4110N *SNTC-8X5XNBD Cisco Firepower 4110 10.00 \$0.0000 \$0.000	C1-SWATCH-T	*Cisco ONE StealthWatch License Term - 1 Flow License	450.00	\$0.0000	\$0.00
CAB-TA-NA North America AC Type A Power Cable 36.00 \$0.0000 \$0.000 STACK-T1-50CM 50CM Type 1 Stacking Cable 18.00 \$65.0000 \$1,170.00 CAB-SPWR-30CM Catalyst Stack Power Cable 30 CM 18.00 \$61.7500 \$1,111.50 Police Department - Firewalls for PD - join to FMC FPR4110-BUN Cisco Firepower 4110 Master Bundle 1.00 \$0.0000 \$0.000 FPR4110-NGFW-K9 Cisco Firepower 4110 NGFW Appliance, 1U, 2 x NetMod Bays 2.00 \$58,496.7500 \$116,993.50 CON-SNT-FPR4110N *SNTC-8X5XNBD Cisco Firepower 4110 \$0.0000 \$0.0000 \$0.000	C1-SWATCH-TRK-5Y	*Cisco ONE Subscription SWATCH SKU 5Y	450.00	\$0.0000	\$0.00
STACK-T1-50CM 50CM Type 1 Stacking Cable 18.00 \$65.0000 \$1,170.00 CAB-SPWR-30CM Catalyst Stack Power Cable 30 CM 18.00 \$61.7500 \$1,111.50 Police Department - Firewalls for PD - join to FMC FPR4110-BUN Cisco Firepower 4110 Master Bundle 1.00 \$0.000 \$0.00 FPR4110-NGFW-K9 Cisco Firepower 4110 NGFW Appliance, 1U, 2 x NetMod Bays 2.00 \$58,496.7500 \$116,993.50 CON-SNT-FPR4110N *SNTC-8X5XNBD Cisco Firepower 4110 10.00 \$0.0000 \$0.000	S9300UK9-166	*CAT9300 Universal image	18.00	\$0.0000	\$0.00
CAB-SPWR-30CM 18.00 \$61.7500 \$1,111.50 Police Department - Firewalls for PD - join to FMC FPR4110-BUN Cisco Firepower 4110 Master Bundle 1.00 \$0.000 \$0.000 FPR4110-NGFW-K9 Cisco Firepower 4110 NGFW Appliance, 1U, 2 x NetMod Bays 2.00 \$58,496.7500 \$116,993.50 CON-SNT-FPR4110N *SNTC-8X5XNBD Cisco Firepower 4110 10.00 \$0.0000 \$0.0000 \$0.000	CAB-TA-NA	North America AC Type A Power Cable	36.00	\$0.0000	\$0.00
Police Department - Firewalls for PD - join to FMC FPR4110-BUN Cisco Firepower 4110 Master Bundle 1.00 \$0.000 \$0.00 FPR4110-NGFW-K9 Cisco Firepower 4110 NGFW Appliance, 1U, 2 x NetMod Bays 2.00 \$58,496.7500 \$116,993.50 CON-SNT-FPR4110N *SNTC-8X5XNBD Cisco Firepower 4110 10.00 \$0.0000 \$0.000	STACK-T1-50CM	50CM Type 1 Stacking Cable	18.00	\$65.0000	\$1,170.00
FPR4110-BUN Cisco Firepower 4110 Master Bundle 1.00 \$0.0000 \$0.000 FPR4110-NGFW-K9 Cisco Firepower 4110 NGFW Appliance, 1U, 2 x NetMod Bays 2.00 \$58,496.7500 \$116,993.50 CON-SNT-FPR4110N *SNTC-8X5XNBD Cisco Firepower 4110 10.00 \$0.0000 \$0.000	CAB-SPWR-30CM	Catalyst Stack Power Cable 30 CM	18.00	\$61.7500	\$1,111.50
FPR4110-NGFW-K9 Cisco Firepower 4110 NGFW Appliance, 1U, 2 x NetMod Bays 2.00 \$58,496.7500 \$116,993.50 CON-SNT-FPR4110N *SNTC-8X5XNBD Cisco Firepower 4110 10.00 \$0.0000 \$0.000		Police Department - Firewalls for PD - join to FMC			
CON-SNT-FPR4110N *SNTC-8X5XNBD Cisco Firepower 4110 10.00 \$0.0000 \$0.000	FPR4110-BUN	Cisco Firepower 4110 Master Bundle	1.00	\$0.0000	\$0.00
5.1.5 5.10 1.10 1.10 1.10 1.10 1.10 1.10	FPR4110-NGFW-K9	Cisco Firepower 4110 NGFW Appliance, 1U, 2 x NetMod Bays	2.00	\$58,496.7500	\$116,993.50
60 Month Service Duration	CON-SNT-FPR4110N	*SNTC-8X5XNBD Cisco Firepower 4110	10.00	\$0.0000	\$0.00
		60 Month Service Duration			



BILL TO:		JOB LOCATION:	
COMPANY (Chula Vista, City of	COMPANY City of Chula Vista	DATE December 6,2017
ADDRESS 2	276 Fourth Ave	ADDRESS 276 Fourth Ave	EXPIRY DATE January 5,2018
			SALES REP. MATTHEW ROBBART
	Chula Vista, CA 91910	Chula Vista, CA 91910	PHONE. (909)257-2733 EXT
CONTACT (Gary Halbert	CONTACT	EMAIL. mrobbart@nicpartnersinc.com
PHONE		PHONE	
TIT1 F			

TITLE:

CAB-TA-NAM North America ACT Type A Power Cable 4.00 \$0,0000 \$0.00 SF-FXCS4K-2-How Freprower Extensible Operating System (FXOS) for FPR4K 2.00 \$0,0000 \$0.00 SF-FR-TGB-289 Cisco Frepower Horeat Defense software v6.2 2.00 \$0,0000 \$0.00 FPR4K-SSD-BBLKD Frepower 4000 Series SSD Ist Carrier 2.00 \$0,0000 \$0.00 GLC-TE 1000BASE-T SFP transceiver module for Category 5 copper wire 2.00 \$0,0000 \$0.00 FPR4K-RACC-MIT Frepower 4000 Series Fan 12.00 \$0,0000 \$0.00 FPR4K-RACK-MAT Frepower 4000 Series Rack Mount Ki 2.00 \$0,0000 \$0.00 FPR4K-RACK-MAT Frepower 4000 Series Rack Mount Ki 2.00 \$0,0000 \$0.00 FPR4K-NR-BLANK Frepower 4000 Series Network Module Blank Slot Cover 2.00 \$0,0000 \$0.00 FPR4K-NR-BLANK Frepower 4000 Series 100 WAC Power Supply 2.0 \$0,5000 \$0.00 FPR4K-NR-BLANK Frepower 4000 Series 100 WAC Power Supply 2.0 \$0,5000 \$0.00 FPR4K-NR-BLANK Frepower 4000 Serie	PART#	DESCRIPTION	QTY	UNIT PRICE	TOTAL PRICE
SF-FRR-TD6.2-K9 Cisco Firepower Threat Delense software v6.2 2.00 \$0.0000 \$0.000 FPR4K-SSD208D Firepower 4000 Series SSD for FPR-4110/4120 2.00 \$0.0000 \$0.00 GLC-TE 1000BASE-T SFP bransceiver module for Category 5 copper wire 2.00 \$0.0000 \$0.000 FPR4K-KACC-KIT FPR4K Hardware Accessory Kif (Rack Mounts, Cables) 2.00 \$0.0000 \$0.000 FPR4K-FAN Firepower 4000 Series Fan 12.00 \$0.0000 \$0.000 FPR4K-FAN Firepower 4000 Series Rack Mount Kit 2.00 \$0.0000 \$0.00 FPR4K-FWR-AC-1100 Firepower 4000 Series Network Module Blank Slot Cover 2.00 \$0.0000 \$0.00 FPR4K-PWR-AC-1100 Firepower 4000 Series Network Module Blank Slot Cover 2.00 \$0.0000 \$0.00 FPR4K-PWR-AC-1100 Firepower 4000 Series Network Module Blank Slot Cover 2.00 \$0.0000 \$0.00 FPR4K-PWR-AC-1100 Firepower 4000 Series Network Module Blank Slot Cover 2.00 \$0.0000 \$0.00 FPR4K-PWR-AC-1100 Firepower 4000 Series Network Module Blank Slot Cover 2.00 \$0.0000 \$0.000	CAB-TA-NA	North America AC Type A Power Cable	4.00	\$0.0000	\$0.00
FPRIAK-SSD2000 Firepower 4000 Series SSD for FPR-4110/4120 2.00 \$0.0000 \$0.000 FPRIAK-SSD-BBLXD Firepower 4000 Series SSD Sint Carrier 2.00 \$0.0000 \$0.00 GLC-TE 1000BASE-T SFP transceiver module for Category 5 copper wire 2.00 \$0.0000 \$0.000 FPRIAK-ACC-KIT FPRAKH Hardware Accessory Kit (Rack Mounts, Cables) 2.00 \$0.0000 \$0.00 FPRIAK-PAR-AC-1100 Firepower 4000 Series Sack Mount Kit 2.00 \$0.0000 \$0.00 FPRIAK-RACK-MT Firepower 4000 Series Rack Mount Kit 2.00 \$0.0000 \$0.00 FPRIAK-PAR-AC-1100 Firepower 4000 Series Network Module Blank Slot Cover 2.00 \$0.0000 \$0.00 FPRIAK-PAR-AC-1100 Firepower 4000 Series Network Module Blank Slot Cover 2.00 \$0.0000 \$0.00 FPRIAK-PAR-AC-1100 Firepower 4000 Series Network Module Blank Slot Cover 2.00 \$0.0000 \$0.00 FPRIAK-PAR-AC-1100 Firepower 4000 Series Network Module Blank Slot Cover 2.00 \$2.596.7500 \$5.93.50 L-FPRALIOT-TIME Cisco FPRA110 Threat Defense Threat and Malware Sy Subs 2.00 \$2.596	SF-FXOS4K-2.1-K9	Firepower Extensible Operating System (FXOS) for FPR4K	2.00	\$0.0000	\$0.00
FPRAKK-SD-BBLKD	SF-FPR-TD6.2-K9	Cisco Firepower Threat Defense software v6.2	2.00	\$0.0000	\$0.00
CLC-TE 1000BASE-T SFP transceiver module for Category 5 copper wire 2.00 \$0.0000 \$0.000 \$0	FPR4K-SSD200	Firepower 4000 Series SSD for FPR-4110/4120	2.00	\$0.0000	\$0.00
FPR4K-ACC-KIT FPR4K Hardware Accessory Kit (Rack Mounts, Cables) 2.00 \$0.0000 \$0.00	FPR4K-SSD-BBLKD	Firepower 4000 Series SSD Slot Carrier	2.00	\$0.0000	\$0.00
Firepower 4000 Series Fan 12.00 \$0.0000	GLC-TE	1000BASE-T SFP transceiver module for Category 5 copper wire	2.00	\$0.0000	\$0.00
FPR4K-PWR-AC-1100 Firepower 4000 Series 1100W AC Power Supply 2.00 \$0.0000 \$0.000	FPR4K-ACC-KIT	FPR4K Hardware Accessory Kit (Rack Mounts, Cables)	2.00	\$0.0000	\$0.00
FPR4K-RACK-MNT Firepower 4000 Series Rack Mount Kit 2.00 \$0.0000 \$0.000 FPR4K-NM-BLANK Firepower 4000 Series Network Module Blank Slot Cover 2.00 \$0.0000 \$0.00 FPR4K-NM-BLANK Firepower 4000 Series Network Module Blank Slot Cover 2.00 \$0.0000 \$0.00 FPR4K-PMR-C1100 Firepower 4000 Series Network Module Blank Slot Cover 2.00 \$2.596.7500 \$5.193.50 L-FPR4110T-TM-B Cisco FPR4110 Threat Defense Threat and Malware License 2.00 \$0.0000 \$0.00 L-FR4110T-TM-BY Cisco Any Connect Plus Term License, Total Authorized Users 100.00 \$0.0000 \$11.970.03.50 L-AC-PLS-GY-S2 Cisco Any Connect Plus License, 5YR, 100-249 Users 100.00 \$0.0000 \$1.1375.0 FPP-10G-LR** 10GBASE-LR SFP Module 2.0 \$2.596.7500 \$5.193.50 FPP-11G-LR** 11GGBASE-LR SFP Module 40.00 \$715.0000 \$28.600.00 SFP-11G-LR** 11GGBASE-LR SFP Module 5.0 \$66.0000 \$325.00 SFP-11G-LR** 11GGBASE-LR SFP Module 5.0 \$66.0000 \$325.00 SFP-11G-	FPR4K-FAN	Firepower 4000 Series Fan	12.00	\$0.0000	\$0.00
FPR4K-NM-BLANK Firepower 4000 Series Network Module Blank Slot Cover 2.00 \$0.0000 \$0.00 FPR4K-NM-BLANK Firepower 4000 Series Network Module Blank Slot Cover 2.00 \$0.0000 \$0.00 FPR4K-PWR-AC-1100 Firepower 4000 Series Network Module Blank Slot Cover 2.00 \$2,596,7500 \$5,193.50 L-FPR4110T-TM-F Cisco FPR4110 Threat Defense Threat and Malware License 2.00 \$89,501,7500 \$179,003.50 L-AC-PLS-LIC= *Cisco AnyConnect Plus Term License, 5YR, 100-249 Users 100.00 \$0.0000 \$0.00 L-AC-PLS-GY-S2 Cisco AnyConnect Plus License, 5YR, 100-249 Users 100.00 \$113,7350 \$1,137.50 FPP-10G-LR= 10GBASE-LR SFP Module 2.00 \$2,596.7500 \$5,193.50 FPP-10G-LR= 10GBASE-LR SFP Module 40.00 \$715.0000 \$28,600.00 FPP-110G-LRM= 10GBASE-CU SFP+ Cable 1 Meter 5.00 \$65.0000 \$325.00 SFP-110G-LQ 10GBASE-CU SFP+ Cable 1 Meter 5.00 \$65.0000 \$32.110.00 CON-SNT-C95004XA Catalyst 9500 40-port 10Gig switch, Network Advantage 2.00 \$16,055.0000 \$32.110.00<	FPR4K-PWR-AC-1100	Firepower 4000 Series 1100W AC Power Supply	2.00	\$0.0000	\$0.00
FPR4K-NM-BLANK Firepower 4000 Series Network Module Blank Slot Cover 2.00 \$0.0000 \$0.000 FPR4K-PWR-AC-1100 Firepower 4000 Series 1100W AC Power Supply 2.00 \$2,596.7500 \$5,193.50 L-FPR4H10T-TIME Cisco FPR4H10 Threat Defense Threat and Malware License 2.00 \$9.0000 \$0.000 L-FPR4H10T-TIME Cisco FPR4H10 Threat Defense Threat and Malware 5Y Subs 2.00 \$8,501.7500 \$179,003.50 L-AC-PLS-GY-S2 Cisco AnyConnect Plus Term License, Total Authorized Users 100.00 \$0.0000 \$0.000 L-AC-PLS-GY-S2 Cisco AnyConnect Plus License, 5YR, 100-249 Users 100.00 \$11.3750 \$1.137.50 Police Department 10GBASE-LR SFP Module 2.0 \$2,596.7500 \$5,193.50 Police Department SFP-10G-LRME 10GBASE-CU SFP+ Cable 1 Meter 5.00 \$65.0000 \$325.00 SFP-H10GB-CU1Me 10GBASE-CU SFP+ Cable 1 Meter 5.00 \$65.0000 \$325.00 CSP9-H10GB-C Department - Core switches for PD Catalyst 9500 40-port 10Gig switch, Network Advantage 2.0 \$16,055.0000 <td< td=""><td>FPR4K-RACK-MNT</td><td>Firepower 4000 Series Rack Mount Kit</td><td>2.00</td><td>\$0.0000</td><td>\$0.00</td></td<>	FPR4K-RACK-MNT	Firepower 4000 Series Rack Mount Kit	2.00	\$0.0000	\$0.00
PPR4K-PWR-AC-1101	FPR4K-NM-BLANK	Firepower 4000 Series Network Module Blank Slot Cover	2.00	\$0.0000	\$0.00
CISPR 4110T-TM=	FPR4K-NM-BLANK	Firepower 4000 Series Network Module Blank Slot Cover	2.00	\$0.0000	\$0.00
Cisco AnyConnect Plus Term License, Total Authorized Users 100.00 \$0.0000 \$0.0	FPR4K-PWR-AC-1100	Firepower 4000 Series 1100W AC Power Supply	2.00	\$2,596.7500	\$5,193.50
Cisco AnyConnect Plus Term License, Total Authorized Users 100.00 \$0.0000 \$0.0	L-FPR4110T-TM=	Cisco FPR4110 Threat Defense Threat and Malware License	2.00	\$0.0000	\$0.00
Cisco AnyConnect Plus License, 5YR, 100-249 Users 100.00 \$11.3750 \$1,137.50 Police Department 100BASE-LR SFP Module 2.00 \$2,596.7500 \$5,193.50 Police Department - Connectivity between PD core a Police Department - Cornectivity between PD core a Police Department - Cornectivity between PD core a Police Department Police Department Police Department - Core switches for PD Police Police Department - Core switches for PD Police Police Police Police Police Police Police Police	L-FPR4110T-TM-5Y	Cisco FPR4110 Threat Defense Threat and Malware 5Y Subs	2.00	\$89,501.7500	\$179,003.50
Police Department 10GBASE-LR SFP Module 2.00 \$2,596.7500 \$5,193.50 Police Department - Connectivity between PD core a Police Department - Connectivity between PD core a Police Department - Connectivity between PD core a Police Department Police D	L-AC-PLS-LIC=	*Cisco AnyConnect Plus Term License, Total Authorized Users	100.00	\$0.0000	\$0.00
SFP-10G-LR= 10GBASE-LR SFP Module 2.00 \$2,596.7500 \$5,193.50 SFP-10G-LRM= Police Department - Connectivity between PD core a 40.00 \$715.0000 \$28,600.00 SFP-10G-LRM= 10GBASE-LRM SFP Module 40.00 \$715.0000 \$28,600.00 Police Department SFP-H10GB-CU1M= 10GBASE-CU SFP+ Cable 1 Meter 5.00 \$65.000 \$325.00 Police Department - Core switches for PD C3500-40X-A Catalyst 9500 40-port 10Gig switch, Network Advantage 2.00 \$16,055.0000 \$32,110.00 C0N-SNT-C9500XA SNTC-8X5XNBD Catalyst 9500 40-port 10Gig switch, Network Advantage 2.00 \$0.0000 \$0.000 \$0.000 60 Month Service Duration C1 Advantage High Term, C9500 C200 C1 Advantage High Term C9500 5Y - DNA, 25 ISE PLS, 25 SWATCH 2.00 \$0.0000 \$0.000 \$0.000 \$0.000 \$0.000 \$0.000 \$0.000 \$0.000 \$0.000 \$0.000 \$0.000 \$0.000 \$0.000 \$0.000 \$0.000 \$0.000 \$0.000 \$0.000 \$0.000 \$0.000	L-AC-PLS-5Y-S2	Cisco AnyConnect Plus License, 5YR, 100-249 Users	100.00	\$11.3750	\$1,137.50
Police Department - Connectivity between PD core a 10GBASE-LRM SFP Module 40.00 \$715.000 \$28,600.00 Police Department 10GBASE-LRM SFP Module 40.00 \$715.000 \$28,600.00 \$25,600.00 \$25,600.00 \$25,000 \$		Police Department			
SFP-10G-LRM= 10GBASE-LRM SFP Module Police Department 40.00 \$715.0000 \$28,600.00 SFP-H10GB-CU1M= 10GBASE-CU SFP+ Cable 1 Meter Police Department - Core switches for PD 5.00 \$65.0000 \$325.00 C9500-40X-A Catalyst 9500 40-port 10Gig switch, Network Advantage 2.00 \$16,055.0000 \$0.000 C0N-SNT-C95004XA SNTC-8X5XNBD Catalyst 9500 40-port 10Gig switch, Network 60 Month Service Duration 10.00 \$0.0000 \$0.000 C1A1TCAT95001 Cisco ONE Advantage High Term, C9500 2.00 \$0.0000 \$0.000 C1-C9500-40-DNAA-T Cisco ONE C9500 DNA Advantage 40P 10Gig Term licenses 2.00 \$0.0000 \$0.000 C1-C9500-TRK-5Y Cisco ONE Subscription SKU 5Y 2.00 \$0.0000 \$0.000 C1-SWATCH-TRK-5Y *Cisco ONE Subscription SWATCH SKU 5Y 50.00 \$0.0000 \$0.000 C1-ISE-BASE-T *Cisco ONE Subscription ISE BASE License Term 50.00 \$0.0000 \$0.000 C1-ISE-BASE-TRK-5Y *Cisco ONE Subscription ISE BASE 5Y 50.00 \$0.0000 \$0.000 C1-ISE-PLS-TRK-5Y *Cis	SFP-10G-LR=	10GBASE-LR SFP Module	2.00	\$2,596.7500	\$5,193.50
Police Department 10GBASE-CU SFP+ Cable 1 Meter 5.00 \$65.0000 \$325.		Police Department - Connectivity between PD core a			
SFP-H10GB-CU1ME 10GBASE-CU SFP+ Cable 1 Meter 5.00 \$65.000 \$325.00 C9500-40X-A Catalyst 9500 40-port 10Gig switch, Network Advantage 2.00 \$16,055.0000 \$32,110.00 CON-SNT-C95004XA SNTC-8X5XNBD Catalyst 9500 40-port 10Gig switch, Network Advantage 10.00 \$0.0000 \$0.000 CON-SNT-C95004XA SNTC-8X5XNBD Catalyst 9500 40-port 10Gig switch, Network Advantage 10.00 \$0.0000 \$0.000 C1A1TCAT95001 Cisco ONE Advantage High Term, C9500 2.00 \$0.0000 \$0.000 C1-41TCAT95001-5Y C1 Advantage High Term C9500 5Y - DNA, 25 ISE PLS, 25 SWATCH 2.00 \$12,590.5000 \$25,181.00 C1-C9500-40-DNAA-T Cisco ONE C9500 DNA Advantage 40P 10Gig Term licenses 2.00 \$0.0000 \$0.000 C1-SWATCH-TK-5Y Cisco ONE Subscription SKU 5Y 2.00 \$0.0000 \$0.000 C1-SWATCH-TRK-5Y *Cisco ONE Subscription SWATCH SKU 5Y 50.00 \$0.0000 \$0.000 C1-ISE-BASE-TRK-5Y *Cisco ONE Subscription SWATCH SKU 5Y 50.00 \$0.0000 \$0.000 C1-ISE-BASE-TRK-5Y *Cisco ONE Subscription SWATCH SKU 5Y 50.00 \$0.00	SFP-10G-LRM=	10GBASE-LRM SFP Module	40.00	\$715.0000	\$28,600.00
Police Department - Core switches for PD C9500-40X-A Catalyst 9500 40-port 10Gig switch, Network Advantage 2.00 \$16,055.0000 \$32,110.00 CON-SNT-C95004XA SNTC-8X5XNBD Catalyst 9500 40-port 10Gig switch, Netw 10.00 \$0.0000 \$0.000 C1A1TCAT95001 Cisco ONE Advantage High Term, C9500 2.00 \$0.0000 \$0.00 C1A1TCAT95001-5Y C1 Advantage High Term C9500 5Y - DNA, 25 ISE PLS, 25 SWATCH 2.00 \$0.0000 \$0.000 C1-C9500-40-DNAA-T Cisco ONE C9500 DNA Advantage 40P 10Gig Term licenses 2.00 \$0.0000 \$0.000 C1-SWATCH-T *Cisco ONE Subscription SKU 5Y 2.00 \$0.0000 \$0.000 C1-SWATCH-TRK-5Y *Cisco ONE Subscription SWATCH SKU 5Y 50.00 \$0.0000 \$0.000 C1-ISE-BASE-T *Cisco ONE Subscription ISE BASE License Term 50.00 \$0.0000 \$0.000 C1-ISE-BASE-TRK-5Y *Cisco ONE Subscription SKU ISE Plus 5Y 50.00 \$0.0000 \$0.000 C1-ISE-PLS-T *Cisco ONE Subscription SKU ISE Plus 5Y 50.00 \$0.0000 \$0.000 C1-ISE-PLS-TRK-5Y *Cisco ONE Subscription SKU ISE Plus		Police Department			
C9500-40X-A Catalyst 9500 40-port 10Gig switch, Network Advantage 2.00 \$16,055.0000 \$32,110.00 CON-SNT-C95004XA SNTC-8X5XNBD Catalyst 9500 40-port 10Gig switch, Netw 10.00 \$0.0000 \$0.000 C1A1TCAT95001 Cisco ONE Advantage High Term, C9500 2.00 \$0.0000 \$0.000 C1A1TCAT95001-5Y C1 Advantage High Term C9500 5Y - DNA, 25 ISE PLS, 25 SWATCH 2.00 \$12,590.5000 \$25,181.00 C1-C9500-40-DNAA-T Cisco ONE C9500 DNA Advantage 40P 10Gig Term licenses 2.00 \$0.0000 \$0.000 C1-SWATCH-T *Cisco ONE Subscription SKU 5Y 2.00 \$0.0000 \$0.00 C1-SWATCH-TRK-5Y *Cisco ONE Subscription SWATCH SKU 5Y 50.00 \$0.0000 \$0.00 C1-ISE-BASE-T *Cisco ONE ISE BASE License Term 50.00 \$0.0000 \$0.00 C1-ISE-BASE-TRK-5Y *Cisco ONE Subscription ISE BASE 5Y 50.00 \$0.0000 \$0.00 C1-ISE-PLS-T *Cisco ONE Subscription SKU ISE Plus 5Y 50.00 \$0.0000 \$0.00 C1-ISE-PLS-TRK-5Y *Cisco ONE Subscription SKU ISE Plus 5Y 50.00 \$0.0000 \$0.00	SFP-H10GB-CU1M=	10GBASE-CU SFP+ Cable 1 Meter	5.00	\$65.0000	\$325.00
CON-SNT-C95004XA SNTC-8X5XNBD Catalyst 9500 40-port 10Gig switch, Netw 60 Month Service Duration 10.00 \$0.0000 \$0.000 C1A1TCAT95001 Cisco ONE Advantage High Term, C9500 2.00 \$0.0000 \$0.000 C1A1TCAT95001-5Y C1 Advantage High Term C9500 5Y - DNA, 25 ISE PLS, 25 SWATCH 2.00 \$12,590.5000 \$25,181.00 C1-C9500-40-DNAA-T Cisco ONE C9500 DNA Advantage 40P 10Gig Term licenses 2.00 \$0.0000 \$0.000 C1-SWATCH-T *Cisco ONE Subscription SKU 5Y 2.00 \$0.0000 \$0.000 C1-SWATCH-TRK-5Y *Cisco ONE Subscription SWATCH SKU 5Y 50.00 \$0.0000 \$0.000 C1-ISE-BASE-T *Cisco ONE ISE BASE License Term 50.00 \$0.0000 \$0.00 C1-ISE-PLS-T *Cisco ONE Subscription ISE BASE 5Y 50.00 \$0.0000 \$0.00 C1-ISE-PLS-TRK-5Y *Cisco ONE Subscription SKU ISE Plus 5Y 50.00 \$0.0000 \$0.00 C1-ISE-PLS-TRK-5Y *Cisco ONE Subscription SKU ISE Plus 5Y 50.00 \$0.0000 \$0.00 S9500UK9-166 CAT9500 Universal image 2.00 \$0.0000 \$0.0000 \$0.0000 <td></td> <td>Police Department - Core switches for PD</td> <td></td> <td></td> <td></td>		Police Department - Core switches for PD			
C1A1TCAT95001 Cisco ONE Advantage High Term, C9500 \$0.000 \$0.000 \$0.000 \$12,590.5000 \$25,181.00 \$12,590.5000 \$25,181.00 \$12,590.5000 \$0.0000 \$0.000 \$	C9500-40X-A	Catalyst 9500 40-port 10Gig switch, Network Advantage	2.00	\$16,055.0000	\$32,110.00
C1A1TCAT95001 Cisco ONE Advantage High Term, C9500 2.00 \$0.0000 \$0.000 C1A1TCAT95001-5Y C1 Advantage High Term C9500 5Y - DNA, 25 ISE PLS, 25 SWATCH 2.00 \$12,590.5000 \$25,181.00 C1-C9500-40-DNAA-T Cisco ONE C9500 DNA Advantage 40P 10Gig Term licenses 2.00 \$0.0000 \$0.000 C1-C9500-TRK-5Y Cisco ONE Subscription SKU 5Y 2.00 \$0.0000 \$0.000 C1-SWATCH-T *Cisco ONE StealthWatch License Term - 1 Flow License 50.00 \$0.0000 \$0.00 C1-ISE-BASE-T *Cisco ONE Subscription SWATCH SKU 5Y 50.00 \$0.0000 \$0.00 C1-ISE-BASE-TRK-5Y *Cisco ONE ISE BASE License Term 50.00 \$0.0000 \$0.00 C1-ISE-PLS-T *Cisco ONE Subscription ISE BASE 5Y 50.00 \$0.0000 \$0.00 C1-ISE-PLS-TRK-5Y *Cisco ONE Subscription SKU ISE Plus 5Y 50.00 \$0.0000 \$0.00 C1-ISE-PLS-TRK-5Y *Cisco ONE Subscription SKU ISE Plus 5Y 50.00 \$0.0000 \$0.00 S9500UK9-166 CAT9500 Universal image 2.00 \$0.0000 \$0.000	CON-SNT-C95004XA	SNTC-8X5XNBD Catalyst 9500 40-port 10Gig switch, Netw	10.00	\$0.0000	\$0.00
C1A1TCAT95001-5Y C1 Advantage High Term C9500 5Y - DNA, 25 ISE PLS, 25 SWATCH 2.00 \$12,590.5000 \$25,181.00 C1-C9500-40-DNAA-T Cisco ONE C9500 DNA Advantage 40P 10Gig Term licenses 2.00 \$0.0000 \$0.000 C1-C9500-TRK-5Y Cisco ONE Subscription SKU 5Y 2.00 \$0.0000 \$0.000 C1-SWATCH-T *Cisco ONE StealthWatch License Term - 1 Flow License 50.00 \$0.0000 \$0.00 C1-SWATCH-TRK-5Y *Cisco ONE Subscription SWATCH SKU 5Y 50.00 \$0.0000 \$0.00 C1-ISE-BASE-T *Cisco ONE ISE BASE License Term 50.00 \$0.0000 \$0.00 C1-ISE-BASE-TRK-5Y *Cisco ONE Subscription ISE BASE 5Y 50.00 \$0.0000 \$0.00 C1-ISE-PLS-T *Cisco ONE ISE PLUS License Term 50.00 \$0.0000 \$0.00 C1-ISE-PLS-TRK-5Y *Cisco ONE Subscription SKU ISE Plus 5Y 50.00 \$0.0000 \$0.00 S9500UK9-166 CAT9500 Universal image 2.00 \$0.0000 \$0.00		60 Month Service Duration			
C1-C9500-40-DNAA-T Cisco ONE C9500 DNA Advantage 40P 10Gig Term licenses 2.00 \$0.0000 \$0.000 C1-C9500-TRK-5Y Cisco ONE Subscription SKU 5Y 2.00 \$0.0000 \$0.000 C1-SWATCH-T *Cisco ONE StealthWatch License Term - 1 Flow License 50.00 \$0.0000 \$0.000 C1-SWATCH-TRK-5Y *Cisco ONE Subscription SWATCH SKU 5Y 50.00 \$0.0000 \$0.000 C1-ISE-BASE-T *Cisco ONE ISE BASE License Term 50.00 \$0.0000 \$0.000 C1-ISE-BASE-TRK-5Y *Cisco ONE Subscription ISE BASE 5Y 50.00 \$0.0000 \$0.00 C1-ISE-PLS-T *Cisco ONE ISE PLUS License Term 50.00 \$0.0000 \$0.00 C1-ISE-PLS-TRK-5Y *Cisco ONE Subscription SKU ISE Plus 5Y 50.00 \$0.0000 \$0.00 S9500UK9-166 CAT9500 Universal image 2.00 \$0.0000 \$0.00	C1A1TCAT95001	Cisco ONE Advantage High Term, C9500	2.00	\$0.0000	\$0.00
C1-C9500-TRK-5Y Cisco ONE Subscription SKU 5Y 2.00 \$0.0000 \$0.000 C1-SWATCH-T *Cisco ONE StealthWatch License Term - 1 Flow License 50.00 \$0.0000 \$0.000 C1-SWATCH-TRK-5Y *Cisco ONE Subscription SWATCH SKU 5Y 50.00 \$0.0000 \$0.000 C1-ISE-BASE-T *Cisco ONE ISE BASE License Term 50.00 \$0.0000 \$0.000 C1-ISE-BASE-TRK-5Y *Cisco ONE Subscription ISE BASE 5Y 50.00 \$0.0000 \$0.000 C1-ISE-PLS-T *Cisco ONE ISE PLUS License Term 50.00 \$0.0000 \$0.000 C1-ISE-PLS-TRK-5Y *Cisco ONE Subscription SKU ISE Plus 5Y 50.00 \$0.0000 \$0.000 S9500UK9-166 CAT9500 Universal image 2.00 \$0.0000 \$0.000	C1A1TCAT95001-5Y	C1 Advantage High Term C9500 5Y - DNA, 25 ISE PLS, 25 SWATCH	2.00	\$12,590.5000	\$25,181.00
C1-SWATCH-T *Cisco ONE StealthWatch License Term - 1 Flow License 50.00 \$0.0000 \$0.000 C1-SWATCH-TRK-5Y *Cisco ONE Subscription SWATCH SKU 5Y 50.00 \$0.0000 \$0.000 C1-ISE-BASE-T *Cisco ONE ISE BASE License Term 50.00 \$0.0000 \$0.000 C1-ISE-BASE-TRK-5Y *Cisco ONE Subscription ISE BASE 5Y 50.00 \$0.0000 \$0.00 C1-ISE-PLS-T *Cisco ONE ISE PLUS License Term 50.00 \$0.0000 \$0.00 C1-ISE-PLS-TRK-5Y *Cisco ONE Subscription SKU ISE Plus 5Y 50.00 \$0.0000 \$0.00 S9500UK9-166 CAT9500 Universal image 2.00 \$0.0000 \$0.00	C1-C9500-40-DNAA-T	Cisco ONE C9500 DNA Advantage 40P 10Gig Term licenses	2.00	\$0.0000	\$0.00
C1-SWATCH-TRK-5Y *Cisco ONE Subscription SWATCH SKU 5Y 50.00 \$0.0000 \$0.000 C1-ISE-BASE-T *Cisco ONE ISE BASE License Term 50.00 \$0.0000 \$0.000 C1-ISE-BASE-TRK-5Y *Cisco ONE Subscription ISE BASE 5Y 50.00 \$0.0000 \$0.000 C1-ISE-PLS-T *Cisco ONE ISE PLUS License Term 50.00 \$0.0000 \$0.000 C1-ISE-PLS-TRK-5Y *Cisco ONE Subscription SKU ISE Plus 5Y 50.00 \$0.0000 \$0.000 S9500UK9-166 CAT9500 Universal image 2.00 \$0.0000 \$0.000	C1-C9500-TRK-5Y	Cisco ONE Subscription SKU 5Y	2.00	\$0.0000	\$0.00
C1-ISE-BASE-T *Cisco ONE ISE BASE License Term 50.00 \$0.0000 \$0.000 C1-ISE-BASE-TRK-5Y *Cisco ONE Subscription ISE BASE 5Y 50.00 \$0.0000 \$0.000 C1-ISE-PLS-T *Cisco ONE ISE PLUS License Term 50.00 \$0.0000 \$0.000 C1-ISE-PLS-TRK-5Y *Cisco ONE Subscription SKU ISE Plus 5Y 50.00 \$0.0000 \$0.000 S9500UK9-166 CAT9500 Universal image 2.00 \$0.0000 \$0.000	C1-SWATCH-T	*Cisco ONE StealthWatch License Term - 1 Flow License	50.00	\$0.0000	\$0.00
C1-ISE-BASE-TRK-5Y *Cisco ONE Subscription ISE BASE 5Y 50.00 \$0.0000 \$0.000 C1-ISE-PLS-T *Cisco ONE ISE PLUS License Term 50.00 \$0.0000 \$0.000 C1-ISE-PLS-TRK-5Y *Cisco ONE Subscription SKU ISE Plus 5Y 50.00 \$0.0000 \$0.000 S9500UK9-166 CAT9500 Universal image 2.00 \$0.0000 \$0.000	C1-SWATCH-TRK-5Y	*Cisco ONE Subscription SWATCH SKU 5Y	50.00	\$0.0000	\$0.00
C1-ISE-PLS-T *Cisco ONE ISE PLUS License Term 50.00 \$0.0000 \$0.000 C1-ISE-PLS-TRK-5Y *Cisco ONE Subscription SKU ISE Plus 5Y 50.00 \$0.0000 \$0.000 S9500UK9-166 CAT9500 Universal image 2.00 \$0.0000 \$0.000	C1-ISE-BASE-T	*Cisco ONE ISE BASE License Term	50.00	\$0.0000	\$0.00
C1-ISE-PLS-TRK-5Y *Cisco ONE Subscription SKU ISE Plus 5Y 50.00 \$0.000 \$0.000 S9500UK9-166 CAT9500 Universal image 2.00 \$0.0000 \$0.000	C1-ISE-BASE-TRK-5Y	*Cisco ONE Subscription ISE BASE 5Y	50.00	\$0.0000	\$0.00
S9500UK9-166 CAT9500 Universal image 2.00 \$0.0000 \$0.000	C1-ISE-PLS-T	*Cisco ONE ISE PLUS License Term	50.00	\$0.0000	\$0.00
200	C1-ISE-PLS-TRK-5Y	*Cisco ONE Subscription SKU ISE Plus 5Y	50.00	\$0.0000	\$0.00
C9500-NW-A C9500 Network Stack, Advantage 2.00 \$0.0000 \$0.000	S9500UK9-166	CAT9500 Universal image	2.00	\$0.0000	\$0.00
	C9500-NW-A	C9500 Network Stack, Advantage	2.00	\$0.0000	\$0.00



BILL TO:		JOB LOCATION:	
COMPANY (Chula Vista, City of	COMPANY City of Chula Vista	DATE December 6,2017
ADDRESS 2	276 Fourth Ave	ADDRESS 276 Fourth Ave	EXPIRY DATE January 5,2018
			SALES REP. MATTHEW ROBBART
(Chula Vista, CA 91910	Chula Vista, CA 91910	PHONE. (909)257-2733 EXT
CONTACT (Gary Halbert	CONTACT	_{EMAIL.} mrobbart@nicpartnersinc.com
PHONE		PHONE	
TITLE.			

TITLE:

PWR-C4-950WACR 950W AC Config 4 Power Supply front to back cooling 2.00 \$1,365,0000 \$2,730,00 PWR-C4-950WACR 250W AC Config 4 Power Supply front to back cooling 2.00 \$1,365,0000 \$2,730,00 CAB-TA-NA North America AC Type A Power Cable 4.00 \$0,000 \$0,000 CB300-24U-A Catalyst 9300 24-port UPCE, Network Advantage 2.00 \$3,913,0000 \$1,655,200 CON-SNT-C33002UA SNTC-38X/SMS DR Catalyst 9300 24-port UPCE, Network Advantage 2.00 \$0,000 \$0,000 C6300-NW-A-24 C39300 Network Advantage, 24-port license 4.00 \$0,000 \$0,000 SWIC-38X/SMS DC Catalyst 9300 24-port UPCE, Network Advantage 4.00 \$0,000 \$0,000 PWR-C1-1100WAC CAT390.01 Universal image 4.00 \$0,000 \$0,000 PWR-C1-1100WAC 1100W AC Config 1 Power Supply 4.00 \$1,235,000 \$4,940,00 CHATTAGA NA North America AC Type A Power Cable 8.00 \$1,000 \$1,000 CHATCATS3001-PY Cisco ONE Advantage 24-Port Term licenses 4.00 \$2,000 \$1,336,00 CHATTAGA NA	PART#	DESCRIPTION	QTY	UNIT PRICE	TOTAL PRICE
PWR-C4-980WAC-R2 S50W AC Config 4 Power Supply front to back coolling 2.00 \$1,365.0000 \$0.0000	C9500-NM-BLANK	Catalyst 9500 network module blank cover	2.00	\$0.0000	\$0.00
CAB-TA-NA North America AC Type A Power Cable 4.00 \$0.000 \$0.000 C9300-24L-NA Catalyst 9300 24-pon UPOE, Network Advantage 4.00 \$3.913.0000 \$15.6652.00 C9300-24L-NA Catalyst 9300 24-pon UPOE, Network Advantage 2.00 \$0.0000 \$0.0000 CON-SNT-C93002UA C9300 Network Advantage, 24-port license 4.00 \$0.0000 \$0.000 S9300UN9-166 *CAT9300 Universal image 4.00 \$0.0000 \$0.000 PWR-C1-1100WAC 1100W AC Config 1 Secondary Power Supply 4.00 \$1.205.000 \$4.940.00 C1A1TCAT930017 Cisco ONE Advantage Term, C9300 24-Port 4.00 \$0.000 \$0.000 C1A1TCAT930019** C1 Advantage Term, C9300 24-Port Term licenses 4.00 \$0.000 \$1.336.00 C1A1TCAT930019** C1 Advantage Term, C9300 24-Port Term licenses 4.00 \$0.000 \$1.336.00 C1-C1-C9300-24-DNAA-T Cisco ONE Subscription SKU SY 4.00 \$0.000 \$0.000 C1-S8-BASE-T Cisco ONE Subscription SKU SY 4.00 \$0.000 \$0.000 C1-S8-BASE-T Cisco ONE Subscripti	PWR-C4-950WAC-R	950W AC Config 4 Power Supply front to back cooling	2.00	\$1,365.0000	\$2,730.00
Police Department	PWR-C4-950WAC-R/2	950W AC Config 4 Power Supply front to back cooling	2.00	\$1,365.0000	\$2,730.00
CG900-24U-A Catalyst 9300 24-port UPOE, Network Advantage 4.00 \$3,913,0000 \$15,652,00 CON-NET-C93002LA SONTC-48X5NIBD Catalyst 9300 24-port UPOE, Network Advantage 20,000 \$0,0000 \$0,000 C9300-NW-A-24 C9300 Network Advantage, 24-port license 4.00 \$0,0000 \$0,000 S9300UK-166 *CAT9300 Universal image 4.00 \$0,0000 \$0,000 PWR-C1-1100WAC2 1100W AC Config 1 Power Supply 4.00 \$12,355,000 \$4,940.00 CAB-TA-NA North America AC Type A Power Cable 8.00 \$0,000 \$0,000 \$11,336.00 \$10,000 \$10,000 \$10,000 \$10,000 \$10,000 \$10,000 \$10,000 \$10,000 \$10,000 \$10,000 \$10,000 \$10,000 \$10,000 \$10,000 \$10,000 \$10,000 \$10,000	CAB-TA-NA	North America AC Type A Power Cable	4.00	\$0.0000	\$0.00
CON-SNT-C93002UA SNTC-BX5XNBD Catalyst 9300 24-port UPOE, Network Adva 20.00 \$0.0000 \$0.000 C9300-NW-A-24 C9300 Network Advantage, 24-port license 4.00 \$0.0000 \$0.00 S9300UK9-166 "CAT39300 Universal image 4.00 \$0.0000 \$0.00 PWR-C1-1100WAC 1100W AC Config 1 Secondary Power Supply 4.00 \$1.235.0000 \$4,940.00 CAB-TA-NA North America AC Type A Power Cable 1 4.00 \$0.0000 \$0.000 C1A1TCAT93001-57 C1sco ONE Advantage Term, C9300 24-Port 4.00 \$0.0000 \$0.000 C1-C3300-74ENAAT C1sco ONE C9300 DNA Advantage 24-Port Term licenses 4.00 \$0.0000 \$0.000 C1-L3300-74ENAST "C1sco ONE Subscription SKU 5Y 4.00 \$0.0000 \$0.000 C1-L3300-74ENAST "C1sco ONE Subscription SKU 5SY 4.00 \$0.0000 \$0.000 C1-I35E-BASE-TRK-5Y "C1sco ONE Subscription SKU ISE PLUS LICenses Term 100.00 \$0.0000 \$0.000 C1-I35E-PLS-T "C1sco ONE Subscription SKU ISE PLUS LICenses Term - 1 Flow License 100.00 \$0.0000 \$0.000 C1-I		Police Department - Extra switches for wireless			
C09300-NW-A-24 C9300 Network Advantage, 24-port license 4.00 \$0.0000 \$0.000 93000 WS-166 "CAT9300 Universal image 4.00 \$0.0000 \$0.000 PWR-C1-1100WAC 100W AC Config 1 Power Supply 4.00 \$0.0000 \$0.000 PWR-C1-1100WACV2 1100W AC Config 1 Secondary Power Supply 4.00 \$1.235,0000 \$0.000 CAB-TA-NA North America AC Type A Power Cable 8.00 \$0.0000 \$0.000 C1A1TCAT93001-5Y C1 Advantage Term C9300 24-P Drt 4.00 \$2.344,000 \$0.000 C1-C3930-14-NA Cisco ONE Advantage Term C9300 24-P Drt Term licenses 4.00 \$2.344,000 \$0.000 C1-C3930-14-NA-T Cisco ONE C9300 DNA Advantage 24-Port Term licenses 4.00 \$0.000 \$0.00 C1-C3930-17K-SP *Cisco ONE SUBscription SKU SY 4.00 \$0.000 \$0.00 C1-SE-BASE-TRK-SY *Cisco ONE SUBscription SKU SY 4.00 \$0.000 \$0.00 C1-ISE-BASE-TRK-SY *Cisco ONE SUBscription SKU ISE BASE SY 100.00 \$0.000 \$0.00 C1-ISE-BASE-TRK-SY *Cisco ONE SUBscription SKU ISE P	C9300-24U-A	Catalyst 9300 24-port UPOE, Network Advantage	4.00	\$3,913.0000	\$15,652.00
C3930 NeW-A-24 C3930 Network Advantage, 24-port license 4.00 \$0.0000 \$0.00 S3830 IKS-166 *CAT3300 Universal image 4.00 \$0.0000 \$0.00 PWR-C1-1100WAC 1100W AC Config 1 Power Supply 4.00 \$1,255.0000 \$4,940.00 CAB-TA-NA North America AC Type A Power Cable 8.00 \$0.0000 \$0.000 C1ATTCAT39011 Cisco ONE Advantage Term, C9300 24-Port 4.00 \$0.0000 \$0.000 C1ATTCAT39001-57 C1 Advantage Term C9300 24P Eyr-DNA, 25 ISE PLS, 25 SWATCH 4.00 \$0.0000 \$0.000 C1-C9300-27RK-97 *C1 Scoo ONE G300 DNA Advantage 24-Port Term licenses 4.00 \$0.0000 \$0.000 C1-G9300-27RK-97 *Cisco ONE Subscription ISE BASE 1clense Term 100.00 \$0.0000 \$0.000 C1-ISE-BASE-TRK-97 *Cisco ONE Subscription ISE BASE 5Y 100.00 \$0.0000 \$0.000 C1-ISE-PLS-T *Cisco ONE Subscription SKU ISE Plus SY 100.00 \$0.0000 \$0.000 C1-ISE-PLS-TRK-5Y *Cisco ONE Subscription SWATCH SKU SY 100.00 \$0.0000 \$0.000 C1-ISE-PLS-TRK-5Y	CON-SNT-C93002UA	SNTC-8X5XNBD Catalyst 9300 24-port UPOE, Network Adva	20.00	\$0.0000	\$0.00
S9300UK9-166 'CAT9300 Universal image 4.00 \$0.000 \$0.000 PWR-C1-1100WAC 1100W AC Config 1 Power Supply 4.00 \$0.000 \$0.000 PWR-C1-1100WAC 1100W AC Config 1 Secondary Power Supply 4.00 \$1,235.0000 \$4,940.00 CAB-TA-NA North America AC Type A Power Cable 8.00 \$0.0000 \$0.000 C1A1TCAT93001 Cisco ONE Advantage Term C9300 24P 5Y-DNA, 25 ISE PLS, 25 SWATCH 4.00 \$2,834.0000 \$11,336.00 C1-C9300-TRK-5y Cisco ONE C9300 DNA Advantage 24-Port Term licenses 4.00 \$0.0000 \$0.00 C1-C930-TRK-5y Cisco ONE Subscription SKU SY 4.00 \$0.0000 \$0.00 C1-SE-BASE-T Cisco ONE Subscription SEB BASE Es FY 100.00 \$0.0000 \$0.00 C1-ISE-BASE-TRK-5Y Cisco ONE Subscription SKU ISE Plus 5Y 100.00 \$0.0000 \$0.00 C1-ISE-PLS-TRK-5Y Cisco ONE Subscription SWATCH SKU SY 100.00 \$0.0000 \$0.00 C1-ISE-PLS-TRK-5Y Cisco ONE Subscription SWATCH SKU SY 100.00 \$0.0000 \$0.00 C1-ISE-PLS-TRK-5Y Cisco ONE Su		60 Month Service Duration			
PWR-CI-1100WAC 1100W AC Config 1 Power Supply 4.00 \$0.000 \$0.000 PWR-CI-1100WAC2 1100W AC Config 1 Secondary Power Supply 4.00 \$1,235.0000 \$4,940.00 CAB-TA-NA North America AC Type A Power Cable 8.00 \$0.0000 \$0.000 C1A1TCAT93001-5V C1 Advantage Term, C9300 24P Ort 4.00 \$2,834.0000 \$11,336.00 C1-C9300-24-DNA-T Cisco ONE C9300 DNA Advantage 24-Port Term licenses 4.00 \$0.0000 \$0.00 C1-C9300-24-DNA-T Cisco ONE C9300 DNA Advantage 24-Port Term licenses 4.00 \$0.0000 \$0.00 C1-C9300-24-DNA-T Cisco ONE Subscription SKU SY 4.00 \$0.0000 \$0.00 C1-S9300-24-DNA-T Cisco ONE Subscription SKU SY 4.00 \$0.0000 \$0.00 C1-SB-BASE-T "Cisco ONE Subscription SKU ISE Plus SY 100.00 \$0.0000 \$0.00 C1-ISB-BASE-TRK-SY "Cisco ONE Subscription SKU ISE Plus SY 100.00 \$0.0000 \$0.00 C1-ISB-PLS-TRK-SY "Cisco ONE Subscription SWATCH SKU SY 100.00 \$0.000 \$0.00 C1-SWATCH-T TK-SY "Cisco ON	C9300-NW-A-24	C9300 Network Advantage, 24-port license	4.00	\$0.0000	\$0.00
PWR-C1-1100WAC/2 1100W AC Config 1 Secondary Power Supply 4.00 \$1,235.0000 \$4,940.00 CAB-TA-NA North America AC Type A Power Cable 8.00 \$0.0000 \$0.000 C1ATTCAT93001 Cisco ONE Advantage Term, C9300 24-Port 4.00 \$0.0000 \$0.000 C1ATCAT93001-5Y C1 Advantage Term C9300 24P 5Y-DNA, 25 ISE PLS, 25 SWATCH 4.00 \$0.0000 \$0.000 C1-C9300-24-DNA-T C1 Sco ONE C9300 DNA Advantage 24-Port Term licenses 4.00 \$0.0000 \$0.00 C1-C9300-TRK-5Y **Cisco ONE Subscription SKU 5Y 4.00 \$0.0000 \$0.00 C1-ISE-BASE-TRK-5Y **Cisco ONE Subscription SKU 5Y 4.00 \$0.0000 \$0.00 C1-ISE-BASE-TRK-5Y **Cisco ONE Subscription SKU ISE BASE 5Y 100.00 \$0.0000 \$0.00 C1-ISE-PLS-T **Cisco ONE Subscription SKU ISE Plus 5Y 100.00 \$0.0000 \$0.00 C1-ISE-PLS-TRK-5Y **Cisco ONE Subscription SWATCH SKU 5Y 100.00 \$0.0000 \$0.00 C1-SWATCH-TRK-5Y **Cisco ONE Subscription SWATCH SKU 5Y 100.00 \$0.000 \$0.00 C300-NM-8X	S9300UK9-166	*CAT9300 Universal image	4.00	\$0.0000	\$0.00
CAB-TA-NA North America AC Type A Power Cable 8.00 \$0.000 \$0.000 C1A1TCAT93001 Cisco ONE Advantage Term, C9300 24-Port 4.00 \$0.000 \$0.00 C1A1TCAT93001-5Y C1 Advantage Term C9300 24P SY-DNA, 25 ISE PLS, 25 SWATCH 4.00 \$2.894.0000 \$11,336.00 C1-C9300-24-DNA-T Cisco ONE C9300 DNA Advantage 24-Port Term licenses 4.00 \$0.0000 \$0.000 C1-ISE-BASE-T Cisco ONE ISE BASE License Term 100.00 \$0.0000 \$0.000 C1-ISE-BASE-TRK-5Y *Cisco ONE Subscription ISE BASE 5Y 100.00 \$0.0000 \$0.000 C1-ISE-PLS-T *Cisco ONE Subscription SKU ISE Plus 5Y 100.00 \$0.0000 \$0.000 C1-ISE-PLS-TRK-5Y *Cisco ONE Subscription SKU ISE Plus 5Y 100.00 \$0.0000 \$0.000 C1-SWATCH-TRK-5Y *Cisco ONE Subscription SKU ISE Plus 5Y 100.00 \$0.0000 \$0.000 C1-SWATCH-TRK-5Y *Cisco ONE Subscription SWU ISE Plus 5Y 100.00 \$0.000 \$0.000 C1-SWATCH-TRK-5Y *Cisco ONE Subscription SWU ISE Plus 5Y 100.00 \$0.000 \$0.000 C1-SWATCH-TRK-	PWR-C1-1100WAC	1100W AC Config 1 Power Supply	4.00	\$0.0000	\$0.00
C1A1TCAT93001 Cisco ONE Advantage Term, C9300 24-Port 4.00 \$0.000 \$0.000 C1A1TCAT93001-5Y C1 Advantage Term C9300 24P 5Y-DNA, 25 ISE PLS, 25 SWATCH 4.00 \$2,834.0000 \$11,336.00 C1-C930024-DNAA-T Cisco ONE C9300 DNA Advantage 24-Port Term licenses 4.00 \$0.0000 \$0.000 C1-C93002-TRK-5Y *Cisco ONE Subscription SKU 5Y 4.00 \$0.0000 \$0.000 C1-ISE-BASE-TR *Cisco ONE ISE BASE License Term 100.00 \$0.0000 \$0.00 C1-ISE-BASE-TRK-5Y *Cisco ONE ISE PLUS License Term 100.00 \$0.0000 \$0.00 C1-ISE-PLS-TRK-5Y *Cisco ONE Subscription SKU ISE Plus 5Y 100.00 \$0.0000 \$0.00 C1-ISE-PLS-TRK-5Y *Cisco ONE Subscription SWATCH SKU 5Y 100.00 \$0.0000 \$0.00 C1-SWATCH-TRK-5Y *Cisco ONE Subscription SWATCH SKU 5Y 100.00 \$0.0000 \$0.00 C1-SWATCH-TRK-5Y *Cisco ONE Subscription SWATCH SKU 5Y 100.00 \$1,657.5000 \$6,630.00 C1-SWATCH-TRK-5Y *Cisco ONE Subscription SWATCH SKU 5Y 100.00 \$1,657.5000 \$6,630.00 C39	PWR-C1-1100WAC/2	1100W AC Config 1 Secondary Power Supply	4.00	\$1,235.0000	\$4,940.00
C1A1TCAT93001-5Y C1 Advantage Term C9300 24P 5Y-DNA, 25 ISE PLS, 25 SWATCH 4.00 \$2,834.0000 \$11,336.00 C1-C9300-24-DNAA-T Cisco ONE C9300 DNA Advantage 24-Port Term licenses 4.00 \$0,0000 \$0,000 C1-C9300-TRK-5Y *Cisco ONE Subscription SKU 5Y 4.00 \$0,0000 \$0,000 C1-ISE-BASE-T *Cisco ONE ISE BASE License Term 100,00 \$0,0000 \$0,000 C1-ISE-BASE-TRK-5Y *Cisco ONE Subscription ISE BASE 5Y 100,00 \$0,0000 \$0,000 C1-ISE-PLS-T *Cisco ONE ISE PLUS License Term 100,00 \$0,0000 \$0,000 C1-ISE-PLS-TRK-5Y *Cisco ONE Subscription SKU ISE Plus 5Y 100,00 \$0,0000 \$0,000 C1-ISE-PLS-TRK-5Y *Cisco ONE Subscription SKU ISE Plus 5Y 100,00 \$0,0000 \$0,000 C1-SWATCH-TRK-5Y *Cisco ONE Subscription SWATCH SKU 5Y 100,00 \$0,0000 \$0,000 C1-SWATCH-TRK-5Y *Cisco ONE Subscription SWATCH SKU 5Y 100,00 \$0,0000 \$0,000 C300-N-BX Catalyst 9300 8 x 10GE Network Module 4.00 \$1,657.5000 \$66,630.00 STACK-T1-SOCM<	CAB-TA-NA	North America AC Type A Power Cable	8.00	\$0.0000	\$0.00
C1-C9300-24-DNAA-T CISCO ONE C9300 DNA Advantage 24-Port Term licenses 4.00 \$0.0000 \$0.000 C1-C9300-TRK-5Y *Cisco ONE Subscription SKU 5Y 4.00 \$0.0000 \$0.000 C1-ISE-BASE-T *Cisco ONE Subscription ISE BASE License Term 100.00 \$0.0000 \$0.000 C1-ISE-BASE-TRK-5Y *Cisco ONE Subscription ISE BASE 5Y 100.00 \$0.0000 \$0.000 C1-ISE-PLS-T *Cisco ONE Subscription SKU ISE Plus 5Y 100.00 \$0.0000 \$0.00 C1-ISE-PLS-TRK-5Y *Cisco ONE Subscription SKU ISE Plus 5Y 100.00 \$0.0000 \$0.00 C1-SWATCH-TRK-5Y *Cisco ONE Subscription SWATCH SKU 5Y 100.00 \$0.0000 \$0.00 C1-SWATCH-TRK-5Y *Cisco ONE Subscription SWATCH SKU 5Y 100.00 \$0.0000 \$0.00 C1-SWATCH-TRK-5Y *Cisco ONE Subscription SWATCH SKU 5Y 100.00 \$0.0000 \$0.00 C1-SWATCH-TRK-5Y *Cisco ONE Subscription SWATCH SKU 5Y 100.00 \$0.0000 \$0.00 C9300-NIM-8X *Catalyst 9300 8 x 10GE Network Module 4.00 \$1.657.5000 \$66.630.00 SFP-10G-LRM	C1A1TCAT93001	Cisco ONE Advantage Term, C9300 24-Port	4.00	\$0.0000	\$0.00
C1-C9300-TRK-5Y *Cisco ONE Subscription SKU 5Y 4.00 \$0.0000 \$0.000 C1-ISE-BASE-T *Cisco ONE ISE BASE License Term 100.00 \$0.0000 \$0.000 C1-ISE-BASE-TRK-5Y *Cisco ONE Subscription ISE BASE 5Y 100.00 \$0.0000 \$0.000 C1-ISE-PLS-TRK-5Y *Cisco ONE ISE PLUS License Term 100.00 \$0.0000 \$0.000 C1-ISE-PLS-TRK-5Y *Cisco ONE Subscription SKU ISE Plus 5Y 100.00 \$0.0000 \$0.000 C1-SWATCH-T *Cisco ONE Subscription SWATCH SKU 5Y 100.00 \$0.0000 \$0.00 C1-SWATCH-TRK-5Y *Cisco ONE Subscription SWATCH SKU 5Y 100.00 \$0.0000 \$0.00 C9300-NM-8X Catalyst 9300 8 x 10GE Network Module 4.00 \$1657.5000 \$66.30.00 C9300-NM-8X Catalyst Stack Power Cable 30 CM 4.00 \$61.7500 \$247.00 CAB-SPWR-30CM Catalyst Stack Power Cable 30 CM 4.00 \$61.7500 \$5,720.00 SFP-10G-LRM= 10GBASE-LRM SFP Module 8.0 \$715.0000 \$5,720.00 C1-CISCO4451/K9 Cisco ONE ISR 4451 (4GE,3NIM,2SM,8G FLASH,4G DRAM, IPB) <td>C1A1TCAT93001-5Y</td> <td>C1 Advantage Term C9300 24P 5Y-DNA, 25 ISE PLS, 25 SWATCH</td> <td>4.00</td> <td>\$2,834.0000</td> <td>\$11,336.00</td>	C1A1TCAT93001-5Y	C1 Advantage Term C9300 24P 5Y-DNA, 25 ISE PLS, 25 SWATCH	4.00	\$2,834.0000	\$11,336.00
C1-ISE-BASE-T *Cisco ONE ISE BASE License Term 100.00 \$0.000 \$0.000 C1-ISE-BASE-TRK-5Y *Cisco ONE Subscription ISE BASE 5Y 100.00 \$0.000 \$0.000 C1-ISE-PLS-T *Cisco ONE ISE PLUS License Term 100.00 \$0.000 \$0.000 C1-ISE-PLS-TRK-5Y *Cisco ONE Subscription SKU ISE Plus 5Y 100.00 \$0.0000 \$0.000 C1-SWATCH-T *Cisco ONE Subscription SWATCH SKU 5Y 100.00 \$0.0000 \$0.000 C1-SWATCH-TRK-5Y *Cisco ONE Subscription SWATCH SKU 5Y 100.00 \$0.0000 \$0.000 C9300-NM-8X Catalyst 9300 8 x 10GE Network Module 4.00 \$1,657.5000 \$66.30.00 C9300-NM-8X Catalyst 9300 8 x 10GE Network Module 4.00 \$65.0000 \$260.00 CAB-SPWR-30CM Catalyst Stack Power Cable 30 CM 4.00 \$65.0000 \$247.00 CAB-SPWR-30CM Catalyst Stack Power Cable 30 CM 4.00 \$61.7500 \$247.00 SFP-10G-LRM= 10GBASE-LRM SFP Module 8.0 \$715.0000 \$5.720.00 C1-CISCO-4451/K9 Cisco ONE ISR 4451 (4GE,3NIM,2SM,8G FLASH,4G DRAM, IPB) <td>C1-C9300-24-DNAA-T</td> <td>Cisco ONE C9300 DNA Advantage 24-Port Term licenses</td> <td>4.00</td> <td>\$0.0000</td> <td>\$0.00</td>	C1-C9300-24-DNAA-T	Cisco ONE C9300 DNA Advantage 24-Port Term licenses	4.00	\$0.0000	\$0.00
C1-ISE-BASE-TRK-SY *Cisco ONE Subscription ISE BASE 5Y 100.00 \$0.0000 \$0.000 C1-ISE-PLS-T *Cisco ONE ISE PLUS License Term 100.00 \$0.0000 \$0.000 C1-ISE-PLS-TRK-SY *Cisco ONE Subscription SKU ISE Plus 5Y 100.00 \$0.0000 \$0.000 C1-SWATCH-T *Cisco ONE StealthWatch License Term - 1 Flow License 100.00 \$0.0000 \$0.000 C1-SWATCH-TRK-SY *Cisco ONE Subscription SWATCH SKU 5Y 100.00 \$0.0000 \$0.000 C300-NM-BX Catalyst 9300 8 x 10GE Network Module 4.00 \$1,657.5000 \$6,630.00 STACK-T1-50CM 50CM Type 1 Stacking Cable 4.00 \$65.0000 \$260.00 CAB-SPWR-30CM Catalyst Stack Power Cable 30 CM 4.00 \$61.7500 \$247.00 POlice Department - connections for 24p switches 8.00 \$715.0000 \$5,720.00 SFP-10G-LRM= 10GBASE-LRM SFP Module 8.00 \$715.0000 \$11,700.000 C1-CISCO4451/K9 Cisco ONE ISR 4451 (4GE,3NIM,2SM,8G FLASH,4G DRAM, IPB) 1.00 \$1,0000 \$11,700.00 C0N-SNT-C14451K9 *SNTC-8X5XNBD C1 ISR 4451 (4GE,	C1-C9300-TRK-5Y	*Cisco ONE Subscription SKU 5Y	4.00	\$0.0000	\$0.00
C1-ISE-PLS-T *Cisco ONE ISE PLUS License Term 100.00 \$0.000 \$0.00 C1-ISE-PLS-TRK-5Y *Cisco ONE Subscription SKU ISE Plus 5Y 100.00 \$0.000 \$0.00 C1-SWATCH-T *Cisco ONE StealthWatch License Term - 1 Flow License 100.00 \$0.000 \$0.00 C1-SWATCH-TRK-5Y *Cisco ONE Subscription SWATCH SKU 5Y 100.00 \$0.000 \$0.00 C9300-NM-8X Catalyst 9300 8 x 10GE Network Module 4.00 \$65.000 \$6.630.00 STACK-T1-50CM 50CM Type 1 Stacking Cable 4.00 \$65.000 \$247.00 CAB-SPWR-30CM Catalyst Stack Power Cable 30 CM 4.00 \$61.7500 \$247.00 Police Department - connections for 24p switches 50.00 \$715.000 \$5,720.00 SFP-10G-LRM= 10GBASE-LRM SFP Module 8.00 \$715.000 \$5,720.00 Public Works 11CSCO ONE ISR 4451 (4GE,3NIM,2SM,8G FLASH,4G DRAM, IPB) 1.00 \$0.000 \$0.000 C0N-SNT-C14451K9 *SNTC-8X5XNBD C1 ISR 4451 (4GE,3NIM,2SM,8G FLASH) 5.00 \$0.000 \$0.000 C1-SL-2500-AKC Cisco ONE Promo LIC Akamai Connect for 2500 co	C1-ISE-BASE-T	*Cisco ONE ISE BASE License Term	100.00	\$0.0000	\$0.00
C1-ISE-PLS-TRK-5Y *Cisco ONE Subscription SKU ISE Plus 5Y 100.00 \$0.000	C1-ISE-BASE-TRK-5Y	*Cisco ONE Subscription ISE BASE 5Y	100.00	\$0.0000	\$0.00
C1-SWATCH-T *Cisco ONE StealthWatch License Term - 1 Flow License 100.00 \$0.000 \$0.00 C1-SWATCH-TRK-5Y *Cisco ONE Subscription SWATCH SKU 5Y 100.00 \$0.000 \$0.00 C9300-NM-8X Catalyst 9300 8 x 10GE Network Module 4.00 \$1,657.5000 \$6,630.00 STACK-T1-50CM 50CM Type 1 Stacking Cable 4.00 \$65.0000 \$260.00 CAB-SPWR-30CM Catalyst Stack Power Cable 30 CM 4.00 \$61.7500 \$247.00 Police Department - connections for 24p switches SFP-10G-LRM= 10GBASE-LRM SFP Module 8.00 \$715.0000 \$5,720.00 Public Works C1-CISCO4451/K9 Cisco ONE ISR 4451 (4GE,3NIM,2SM,8G FLASH,4G DRAM, IPB) 1.00 \$11,700.000 \$11,700.00 CON-SNT-C14451K9 *SNTC-8X5XNBD C1 ISR 4451 (4GE,3NIM,2SM,8G FLASH) 5.00 \$0.0000 \$0.000 C0N-SNT-C14451K9 *SNTC-8X5XNBD C1 ISR 4451 (4GE,3NIM,2SM,8G FLASH) 5.00 \$0.0000 \$0.000 C1-SL-2500-AKC Cisco ONE Promo LIC Akamai Connect for 2500 connection WAAS 1.00 \$0.0000 \$0.000 <td>C1-ISE-PLS-T</td> <td>*Cisco ONE ISE PLUS License Term</td> <td>100.00</td> <td>\$0.0000</td> <td>\$0.00</td>	C1-ISE-PLS-T	*Cisco ONE ISE PLUS License Term	100.00	\$0.0000	\$0.00
C1-SWATCH-TRK-5Y *Cisco ONE Subscription SWATCH SKU 5Y 100.00 \$0.000 \$0.000 C9300-NM-8X Catalyst 9300 8 x 10GE Network Module 4.00 \$1,657.5000 \$6,630.00 STACK-T1-50CM 50CM Type 1 Stacking Cable 4.00 \$65.0000 \$260.00 CAB-SPWR-30CM Catalyst Stack Power Cable 30 CM 4.00 \$61.7500 \$247.00 Police Department - connections for 24p switches SFP-10G-LRM= 10GBASE-LRM SFP Module 8.00 \$715.0000 \$5,720.00 Public Works C1-CISCO4451/K9 Cisco ONE ISR 4451 (4GE,3NIM,2SM,8G FLASH,4G DRAM, IPB) 1.00 \$11,700.0000 \$11,700.00 C0N-SNT-C14451K9 *SNTC-8X5XNBD C1 ISR 4451 (4GE,3NIM,2SM,8G FLASH) 5.00 \$0.0000 \$0.00 C0N-SNT-C14451K9 *SNTC-8X5XNBD C1 ISR 4451 (4GE,3NIM,2SM,8G FLASH) 5.00 \$0.0000 \$0.000 C1-SL-2500-AKC Cisco ONE Promo LIC Akamai Connect for 2500 connection WAAS 1.00 \$0.0000 \$0.000 SL-44-IPB-K9 IP Base License for Cisco ISR 4400 Series 1.00 \$0.0000 \$0.00<	C1-ISE-PLS-TRK-5Y	*Cisco ONE Subscription SKU ISE Plus 5Y	100.00	\$0.0000	\$0.00
C9300-NM-8X Catalyst 9300 8 x 10GE Network Module 4.00 \$1,657.5000 \$6,630.00 STACK-T1-50CM 50CM Type 1 Stacking Cable 4.00 \$65.0000 \$260.00 CAB-SPWR-30CM Catalyst Stack Power Cable 30 CM 4.00 \$61.7500 \$247.00 Police Department - connections for 24p switches SFP-10G-LRM= 10GBASE-LRM SFP Module 8.00 \$715.0000 \$5,720.00 Public Works C1-CISCO4451/K9 Cisco ONE ISR 4451 (4GE,3NIM,2SM,8G FLASH,4G DRAM, IPB) 1.00 \$11,700.000 \$11,700.00 C0N-SNT-C14451K9 *SNTC-8X5XNBD C1 ISR 4451 (4GE,3NIM,2SM,8G FLASH) 5.00 \$0.0000 \$0.000 C1-SL-2500-AKC Cisco ONE Promo LIC Akamai Connect for 2500 connection WAAS 1.00 \$0.0000 \$0.00 SL-44-IPB-K9 IP Base License for Cisco ISR 4450 series 1.00 \$0.0000 \$0.00 PWR-4450-AC AC Power Supply for Cisco ISR 4450 and ISR4350 1.00 \$0.0000 \$0.00 CAB-AC AC Power Cord (North America), C13, NEMA 5-15P, 2.1m 1.00 \$0.0000 \$0.00 PWR-COVER-4450 <td< td=""><td>C1-SWATCH-T</td><td>*Cisco ONE StealthWatch License Term - 1 Flow License</td><td>100.00</td><td>\$0.0000</td><td>\$0.00</td></td<>	C1-SWATCH-T	*Cisco ONE StealthWatch License Term - 1 Flow License	100.00	\$0.0000	\$0.00
STACK-T1-50CM 50CM Type 1 Stacking Cable 4.00 \$65.0000 \$260.00 CAB-SPWR-30CM Catalyst Stack Power Cable 30 CM 4.00 \$61.7500 \$247.00 Police Department - connections for 24p switches SFP-10G-LRM= 10GBASE-LRM SFP Module 8.00 \$715.0000 \$5,720.00 Public Works C1-CISCO4451/K9 Cisco ONE ISR 4451 (4GE,3NIM,2SM,8G FLASH,4G DRAM, IPB) 1.00 \$11,700.000 \$11,700.00 CON-SNT-C14451K9 *SNTC-8X5XNBD C1 ISR 4451 (4GE,3NIM,2SM,8G FLASH) 5.00 \$0.0000 \$0.00 60 Month Service Duration 60 Month Service Duration 1.00 \$0.0000 \$0.00 SL-44-IPB-K9 IP Base License for Cisco ISR 4400 Series 1.00 \$0.0000 \$0.00 PWR-4450-AC AC Power Supply for Cisco ISR 4450 and ISR4350 1.00 \$0.0000 \$0.00 CAB-AC AC Power Cord (North America), C13, NEMA 5-15P, 2.1m 1.00 \$0.0000 \$0.00 PWR-COVER-4450 Cover for empty 2nd Power Supply slot on Cisco ISR 4450 1.00 \$0.0000 \$0.00 POE-COVER-4450 Cover for	C1-SWATCH-TRK-5Y	*Cisco ONE Subscription SWATCH SKU 5Y	100.00	\$0.0000	\$0.00
CAB-SPWR-30CM Catalyst Stack Power Cable 30 CM 4.00 \$61.7500 \$247.00 Police Department - connections for 24p switches SFP-10G-LRM= 10GBASE-LRM SFP Module 8.00 \$715.0000 \$5,720.00 Public Works C1-CISCO4451/K9 Cisco ONE ISR 4451 (4GE,3NIM,2SM,8G FLASH,4G DRAM, IPB) 1.00 \$11,700.000 \$11,700.000 CON-SNT-C14451K9 *SNTC-8X5XNBD C1 ISR 4451 (4GE,3NIM,2SM,8G FLASH) 5.00 \$0.0000 \$0.000 60 Month Service Duration 60 Month Service Duration 1.00 \$0.0000 \$0.000 SL-44-IPB-K9 IP Base License for Cisco ISR 4400 Series 1.00 \$0.0000 \$0.00 PWR-4450-AC AC Power Supply for Cisco ISR 4450 and ISR4350 1.00 \$0.0000 \$0.00 CAB-AC AC Power Cord (North America), C13, NEMA 5-15P, 2.1m 1.00 \$0.0000 \$0.00 PWR-COVER-4450 Cover for empty 2nd Power Supply slot on Cisco ISR 4450 1.00 \$0.0000 \$0.000 POE-COVER-4450 Cover for empty POE slot on Cisco ISR 4450 2.00 \$0.0000 \$0.000	C9300-NM-8X	Catalyst 9300 8 x 10GE Network Module	4.00	\$1,657.5000	\$6,630.00
Police Department - connections for 24p switches 8.00 \$715.0000 \$5,720.00	STACK-T1-50CM	50CM Type 1 Stacking Cable	4.00	\$65.0000	\$260.00
SFP-10G-LRM= 10GBASE-LRM SFP Module Public Works 8.00 \$715.0000 \$5,720.00 C1-CISCO4451/K9 Cisco ONE ISR 4451 (4GE,3NIM,2SM,8G FLASH,4G DRAM, IPB) 1.00 \$11,700.0000 \$11,700.0000 \$0.000 \$	CAB-SPWR-30CM	Catalyst Stack Power Cable 30 CM	4.00	\$61.7500	\$247.00
Public Works C1-CISCO4451/K9 Cisco ONE ISR 4451 (4GE,3NIM,2SM,8G FLASH,4G DRAM, IPB) 1.00 \$11,700.000 \$11,700.000 CON-SNT-C14451K9 *SNTC-8X5XNBD C1 ISR 4451 (4GE,3NIM,2SM,8G FLASH) 5.00 \$0.0000 \$0.0000 60 Month Service Duration 1.00 \$0.0000 \$0.000 C1-SL-2500-AKC Cisco ONE Promo LIC Akamai Connect for 2500 connection WAAS 1.00 \$0.0000 \$0.000 SL-44-IPB-K9 IP Base License for Cisco ISR 4400 Series 1.00 \$0.0000 \$0.000 PWR-4450-AC AC Power Supply for Cisco ISR 4450 and ISR4350 1.00 \$0.0000 \$0.000 CAB-AC AC Power Cord (North America), C13, NEMA 5-15P, 2.1m 1.00 \$0.0000 \$0.000 PWR-COVER-4450 Cover for empty 2nd Power Supply slot on Cisco ISR 4450 1.00 \$0.0000 \$0.000 POE-COVER-4450 Cover for empty POE slot on Cisco ISR 4450 2.00 \$0.0000 \$0.000		Police Department - connections for 24p switches			
C1-CISCO4451/K9 Cisco ONE ISR 4451 (4GE,3NIM,2SM,8G FLASH,4G DRAM, IPB) 1.00 \$11,700.0000 \$11,700.000 CON-SNT-C14451K9 *SNTC-8X5XNBD C1 ISR 4451 (4GE,3NIM,2SM,8G FLASH) 5.00 \$0.0000 \$0.000 60 Month Service Duration	SFP-10G-LRM=	10GBASE-LRM SFP Module	8.00	\$715.0000	\$5,720.00
CON-SNT-C14451K9 *SNTC-8X5XNBD C1 ISR 4451 (4GE,3NIM,2SM,8G FLASH) 5.00 \$0.0000 \$0.000 C1-SL-2500-AKC Cisco ONE Promo LIC Akamai Connect for 2500 connection WAAS 1.00 \$0.0000 \$0.000 SL-44-IPB-K9 IP Base License for Cisco ISR 4400 Series 1.00 \$0.0000 \$0.000 PWR-4450-AC AC Power Supply for Cisco ISR 4450 and ISR4350 1.00 \$0.0000 \$0.000 CAB-AC AC Power Cord (North America), C13, NEMA 5-15P, 2.1m 1.00 \$0.0000 \$0.000 PWR-COVER-4450 Cover for empty 2nd Power Supply slot on Cisco ISR 4450 1.00 \$0.0000 \$0.00 POE-COVER-4450 Cover for empty POE slot on Cisco ISR 4450 2.00 \$0.0000 \$0.00		Public Works			
60 Month Service Duration C1-SL-2500-AKC Cisco ONE Promo LIC Akamai Connect for 2500 connection WAAS 1.00 \$0.0000 \$0.00 SL-44-IPB-K9 IP Base License for Cisco ISR 4400 Series 1.00 \$0.0000 \$0.000 PWR-4450-AC AC Power Supply for Cisco ISR 4450 and ISR4350 1.00 \$0.0000 \$0.000 CAB-AC AC Power Cord (North America), C13, NEMA 5-15P, 2.1m 1.00 \$0.0000 \$0.000 PWR-COVER-4450 Cover for empty 2nd Power Supply slot on Cisco ISR 4450 1.00 \$0.0000 \$0.000 POE-COVER-4450 Cover for empty POE slot on Cisco ISR 4450 2.00 \$0.0000 \$0.000	C1-CISCO4451/K9	Cisco ONE ISR 4451 (4GE,3NIM,2SM,8G FLASH,4G DRAM, IPB)	1.00	\$11,700.0000	\$11,700.00
C1-SL-2500-AKC Cisco ONE Promo LIC Akamai Connect for 2500 connection WAAS 1.00 \$0.0000 \$0.000 SL-44-IPB-K9 IP Base License for Cisco ISR 4400 Series 1.00 \$0.0000 \$0.000 PWR-4450-AC AC Power Supply for Cisco ISR 4450 and ISR4350 1.00 \$0.0000 \$0.000 CAB-AC AC Power Cord (North America), C13, NEMA 5-15P, 2.1m 1.00 \$0.0000 \$0.000 PWR-COVER-4450 Cover for empty 2nd Power Supply slot on Cisco ISR 4450 1.00 \$0.0000 \$0.000 POE-COVER-4450 Cover for empty POE slot on Cisco ISR 4450 2.00 \$0.0000 \$0.00	CON-SNT-C14451K9	*SNTC-8X5XNBD C1 ISR 4451 (4GE,3NIM,2SM,8G FLASH)	5.00	\$0.0000	\$0.00
SL-44-IPB-K9 IP Base License for Cisco ISR 4400 Series 1.00 \$0.0000 \$0.000 PWR-4450-AC AC Power Supply for Cisco ISR 4450 and ISR4350 1.00 \$0.0000 \$0.000 CAB-AC AC Power Cord (North America), C13, NEMA 5-15P, 2.1m 1.00 \$0.0000 \$0.000 PWR-COVER-4450 Cover for empty 2nd Power Supply slot on Cisco ISR 4450 1.00 \$0.0000 \$0.000 POE-COVER-4450 Cover for empty POE slot on Cisco ISR 4450 2.00 \$0.0000 \$0.000		60 Month Service Duration			
PWR-4450-AC AC Power Supply for Cisco ISR 4450 and ISR4350 1.00 \$0.0000 \$0.000 CAB-AC AC Power Cord (North America), C13, NEMA 5-15P, 2.1m 1.00 \$0.0000 \$0.000 PWR-COVER-4450 Cover for empty 2nd Power Supply slot on Cisco ISR 4450 1.00 \$0.0000 \$0.000 POE-COVER-4450 Cover for empty POE slot on Cisco ISR 4450 2.00 \$0.0000 \$0.000	C1-SL-2500-AKC	Cisco ONE Promo LIC Akamai Connect for 2500 connection WAAS	1.00	\$0.0000	\$0.00
CAB-AC AC Power Cord (North America), C13, NEMA 5-15P, 2.1m 1.00 \$0.0000 \$0.000 PWR-COVER-4450 Cover for empty 2nd Power Supply slot on Cisco ISR 4450 1.00 \$0.0000 \$0.000 POE-COVER-4450 Cover for empty POE slot on Cisco ISR 4450 2.00 \$0.0000 \$0.000	SL-44-IPB-K9	IP Base License for Cisco ISR 4400 Series	1.00	\$0.0000	\$0.00
PWR-COVER-4450 Cover for empty 2nd Power Supply slot on Cisco ISR 4450 1.00 \$0.0000 \$0.000 POE-COVER-4450 Cover for empty POE slot on Cisco ISR 4450 2.00 \$0.0000 \$0.000	PWR-4450-AC	AC Power Supply for Cisco ISR 4450 and ISR4350	1.00	\$0.0000	\$0.00
POE-COVER-4450 Cover for empty POE slot on Cisco ISR 4450 2.00 \$0.0000 \$0.000	CAB-AC	AC Power Cord (North America), C13, NEMA 5-15P, 2.1m	1.00	\$0.0000	\$0.00
	PWR-COVER-4450	Cover for empty 2nd Power Supply slot on Cisco ISR 4450	1.00	\$0.0000	\$0.00
	POE-COVER-4450	Cover for empty POE slot on Cisco ISR 4450	2.00	\$0.0000	\$0.00
	PVDM4-64		1.00	\$0.0000	\$0.00



BILL TO:	JOB LOCATION:	
COMPANY Chula Vista, City of	COMPANY City of Chula Vista	DATE December 6,2017
ADDRESS 276 Fourth Ave	ADDRESS 276 Fourth Ave	EXPIRY DATE January 5,2018
		SALES REP. MATTHEW ROBBART
Chula Vista, CA 91910	Chula Vista, CA 91910	PHONE. (909)257-2733 EXT
CONTACT Gary Halbert	CONTACT	EMAIL. mrobbart@nicpartnersinc.com
PHONE	PHONE	
TITI C.		

TITLE

PART#	DESCRIPTION	QTY	UNIT PRICE	TOTAL PRICE
SM-S-BLANK	Removable faceplate for SM slot on Cisco 2900,3900,4400 ISR	2.00	\$0.0000	\$0.00
MEM-4400-8G	8G DRAM (4G+4G) for Cisco ISR 4400, Spare	1.00	\$0.0000	\$0.00
NIM-BLANK	Blank faceplate for NIM slot on Cisco ISR 4400	2.00	\$0.0000	\$0.00
MEM-FLSH-8G	8G eUSB Flash Memory for Cisco ISR 4430	1.00	\$0.0000	\$0.00
MEM-4400-DP-2G	2G DRAM (1 DIMM) for Cisco ISR 4400 Data Plane	1.00	\$0.0000	\$0.00
C1AUPISR4400SK9	Cisco ONE Advanced UC Perpetual License ISR 4400	1.00	\$2,600.0000	\$2,600.00
CON-ECMU-C1A4400S	*SWSS UPGRADES C1 Advanced Perpetual Lic ISR 4400	5.00	\$0.0000	\$0.00
	60 Month Service Duration			
SL-44-UC-K9	Unified Communication License for Cisco ISR 4400 Series	1.00	\$0.0000	\$0.00
FL-CME-SRST-25	SRST-25 Seat License (CME uses CUCME Phone License ONLY)	1.00	\$0.0000	\$0.00
FL-CUBEE-25	Unified Border Element Enterprise License - 25 sessions	1.00	\$0.0000	\$0.00
C1F1PISR4400SK9	Cisco ONE Foundation Perpetual License ISR 4400	1.00	\$5,005.0000	\$5,005.00
CON-ECMU-C1F1PISR	*SWSS UPGRADES Cisco ONE Foundation Perpetual License I	5.00	\$0.0000	\$0.00
	60 Month Service Duration			
SL-44-SEC-K9	Security License for Cisco ISR 4400 Series	1.00	\$0.0000	\$0.00
SL-44-APP-K9	AppX License for Cisco ISR 4400 Series	1.00	\$0.0000	\$0.00
ISRWAAS-RTU-2500	ISRWAAS RTU for 2500 connections	1.00	\$0.0000	\$0.00
VWAAS-RTU-2500	VWAAS 2500 conns RTU for UCS-E on single ISR only	1.00	\$0.0000	\$0.00
C1-PI-LFAS-ISR-K9	Cisco ONE PI Device License for LF, AS, & IWAN App for ISR	1.00	\$0.0000	\$0.00
C1-LIC-VCM-1N	*Cisco ONE Promo license to manage one WAAS node	1.00	\$0.0000	\$0.00
SISR4400UK9-316S	Cisco ISR 4400 Series IOS XE Universal	1.00	\$0.0000	\$0.00
FL-SRST	Cisco Survivable Remote Site Telephony (SRST) License	1.00	\$0.0000	\$0.00
FL-CME-SRST-100	SRST-100 Seat License (CME uses CUCME Phone License ONLY)	1.00	\$1,495.0000	\$1,495.00
NIM-2FXS/4FXO	2-Port FXS/FXS-E/DID and 4-Port FXO Network Interface Module	1.00	\$910.0000	\$910.00
C1A1VISR4400S-01	*Tracker PID v01 Adv Perpetual ISR4400S - no delivery	1.00	\$0.0000	\$0.00
	Public Works - Edge switches - There are five exis			
C9300-48U-A	Catalyst 9300 48-port UPOE, Network Advantage	6.00	\$6,831.5000	\$40,989.00
CON-SNT-C93004UA	SNTC-8X5XNBD Catalyst 9300 48-port UPOE, Network Adva	30.00	\$0.0000	\$0.00
	60 Month Service Duration			
C9300-NW-A-48	*C9300 Network Advantage, 48-port license	6.00	\$0.0000	\$0.00
PWR-C1-1100WAC	1100W AC Config 1 Power Supply	6.00	\$0.0000	\$0.00
PWR-C1-1100WAC/2	1100W AC Config 1 Secondary Power Supply	6.00	\$1,235.0000	\$7,410.00
C9300-NM-8X	Catalyst 9300 8 x 10GE Network Module	6.00	\$1,657.5000	\$9,945.00
C1A1TCAT93002	*Cisco ONE Advantage Term, C9300 48-port	6.00	\$0.0000	\$0.00
C1A1TCAT93002-5Y	*C1 Advantage Term C9300 48P 5Y - DNA, 25 ISE PLS, 25 SWATCH	6.00	\$4,608.5000	\$27,651.00
C1-C9300-48-DNAA-T	*Cisco ONE C9300 DNA Advantage 48-Port Term licenses	6.00	\$0.0000	\$0.00
C1-C9300-TRK-5Y	*Cisco ONE Subscription SKU 5Y	6.00	\$0.0000	\$0.00
C1-ISE-BASE-T	*Cisco ONE ISE BASE License Term	150.00	\$0.0000	\$0.00
C1-ISE-BASE-TRK-5Y	*Cisco ONE Subscription ISE BASE 5Y	150.00	\$0.0000	\$0.00



BILL TO:		JOB LOCATION:	
COMPANY (Chula Vista, City of	COMPANY City of Chula Vista	DATE December 6,2017
ADDRESS 2	276 Fourth Ave	ADDRESS 276 Fourth Ave	EXPIRY DATE January 5,2018
			SALES REP. MATTHEW ROBBART
	Chula Vista, CA 91910	Chula Vista, CA 91910	PHONE. (909)257-2733 EXT
CONTACT (Gary Halbert	CONTACT	EMAIL. mrobbart@nicpartnersinc.com
PHONE		PHONE	
TIT1 F			

TITLE

FLISE FLIST	PART#	DESCRIPTION	QTY	UNIT PRICE	TOTAL PRICE
C1-SWATCH-T **Cisco** ONE Statith/Watch License** Term -1 Flow License** 150.00 \$0.0000 \$0.00 C1-SWATCH-TRK-EY** **Cisco** ONE Subscription SWATCH SRU 5Y** 150.00 \$0.0000 \$0.00 C1-SWATCH-TRK-EY** **Cisco** ONE Advantage Add-On Term, C9300 \$0.0000 \$0.0000 \$0.0000 C1-LISE-BASE-T **Cisco** ONE ISE BASE License** Term 150.00 \$0.0000 \$0.000 C1-LISE-BASE-TRK-SY** **Cisco** ONE ISE BASE License** Term 150.00 \$0.0000 \$0.000 C1-LISE-BASE-TRK-SY** **Cisco** ONE Subscription ISKU ISE** Plus SY 150.00 \$0.0000 \$0.00 C1-LISE-PLS-TRK-SY** **Cisco** ONE Subscription SKU ISE** Plus Fly ISE** Plus License** 150.00 \$0.0000 \$0.00 C1-SWATCH-TRK-EY** **Cisco** ONE Subscription SWATCH SKU 5Y 150.00 \$0.0000 \$0.00 C1-SWATCH-TRK-EY** **Cisco** ONE Subscription SWATCH SKU 5Y \$150.00 \$0.0000 \$0.00 C1-SWATCH-TRK-EY** **Cisco** ONE Subscription SWATCH SKU 5Y \$150.00 \$0.0000 \$0.00 C1-SWATCH-TRK-EY** **Cisco** ONE Subscription SWATCH SKU 5Y** \$150.00 <t< td=""><td>C1-ISE-PLS-T</td><td>*Cisco ONE ISE PLUS License Term</td><td>150.00</td><td>\$0.0000</td><td>\$0.00</td></t<>	C1-ISE-PLS-T	*Cisco ONE ISE PLUS License Term	150.00	\$0.0000	\$0.00
CI-SWATCH-TRK-SY **Cisco** ONE Subscription SWATCH SKU 5Y 150.00 \$0.0000 \$0.00 CIAAITCAT930011 **Cisco** ONE Advantage Add-On Term, C93000 6.00 \$0.0000 \$0.00 C1AAITCAT93001+5 **Cisco** ONE ISE BASE License Term 150.00 \$0.0000 \$0.000 C1-ISE-BASE-TRK-SY **Cisco** ONE Subscription ISE BASE SY 150.00 \$0.0000 \$0.000 C1-ISE-PLS-T **Cisco** ONE Subscription SKU ISE Plus 5Y 150.00 \$0.0000 \$0.000 C1-ISE-PLS-TRK-SY **Cisco** ONE Subscription SKU ISE Plus 5Y 150.00 \$0.0000 \$0.00 C1-ISE-PLS-TRK-SY **Cisco** ONE Subscription SKU ISE Plus 5Y 150.00 \$0.0000 \$0.00 C1-ISE-PLS-TRK-SY **Cisco** ONE Subscription SWATCH SKU 5Y 150.00 \$0.0000 \$0.00 S3900UK9-166 **CAT9300 Universal image 6.00 \$0.0000 \$0.00 CAB-TA-NA North America AC Type A Power Cable 12.0 \$0.0000 \$30.00 STACK-T1-SCM 50CM Type 1 Stacking Cable 2.0 \$61.750 \$0.00 CL-TE= 100BASE-T SFP transceiver module for	C1-ISE-PLS-TRK-5Y	*Cisco ONE Subscription SKU ISE Plus 5Y	150.00	\$0.0000	\$0.00
C1AATTCAT930011 *Cisco ONE Advantage Add-On Term. C9300 6.00 \$0.0000 \$0.000 C1AATCAT33001-5* *C1 Advantage Add-On Term. C9300 SY - 25 ISE PLS, 25 SWATCH 6.00 \$80.000 \$4.836.00 C1-ISE-BASE-T *Cisco ONE ISE BASE License Term 150.00 \$0.0000 \$0.000 C1-ISE-BASE-TRK-SY *Cisco ONE Subscription ISE BASE SY 150.00 \$0.0000 \$0.000 C1-ISE-PLS-TR *Cisco ONE Subscription SKU ISE Plus SY 150.00 \$0.0000 \$0.000 C1-ISE-PLS-TRK-SY *Cisco ONE Subscription SWATCH SKU ISE Plus SY 150.00 \$0.0000 \$0.00 C1-SWATCH-TRK-SY *Cisco ONE Subscription SWATCH SKU ISY 150.00 \$0.0000 \$0.00 C1-SWATCH-TRK-SY *Cisco ONE Subscription SWATCH SKU SY 150.00 \$0.0000 \$0.00 C3-SWATCH-TRK-SY *Cisco ONE Subscription SWATCH SKU SY 150.00 \$0.0000 \$0.00 C4-SWATCH-TRK-SY *Cisco ONE Subscription SWATCH SKU SY 150.00 \$0.0000 \$0.00 C5-SWATCH-TRK-SY *Cisco ONE Subscription SWATCH SKU SY 150.00 \$0.0000 \$0.000 CAB-TAN AN </td <td>C1-SWATCH-T</td> <td>*Cisco ONE StealthWatch License Term - 1 Flow License</td> <td>150.00</td> <td>\$0.0000</td> <td>\$0.00</td>	C1-SWATCH-T	*Cisco ONE StealthWatch License Term - 1 Flow License	150.00	\$0.0000	\$0.00
C1AATCAT93001-SY ****C1 Advantage Add-On Term C9300 SY : 25 ISE PLS, 25 SWATCH 6.00 \$806.0000 \$4,836.00 C1-ISE-BASE-TR ***Cisco ONE ISE BASE License Term 150.00 \$0,000 \$0,000 C1-ISE-BASE-TRK-SY ***Cisco ONE Subscription ISE BASE SY 150.00 \$0,000 \$0,000 C1-ISE-PLS-TRK-SY ***Cisco ONE Subscription SKU ISE Plus SY 150.00 \$0,000 \$0,000 C1-ISE-PLS-TRK-SY ***Cisco ONE Subscription SKU ISE Plus SY 150.00 \$0,000 \$0,000 C1-SWATCH-TRK-SY ***Cisco ONE Subscription SWATCH SKU SY 150.00 \$0,0000 \$0,000 C1-SWATCH-TRK-SY ***Cisco ONE Subscription SWATCH SKU SY 150.00 \$0,0000 \$0,000 C1-SWATCH-TRK-SY ***Cisco ONE Subscription SWATCH SKU SY 150.00 \$0,0000 \$0,000 SB300UKS-IG ***CAT3930 Universal image 6.00 \$0,0000 \$0,000 CABA-TANA North America AC Type A Power Cable 2.00 \$61,000 \$61,000 \$370.50 CALE-SPWR-30CM Catalyst Stack Power Cable 30 CM ***CATSSCRIPT SUSSCRIPT SUSSCRIPT SUSSCRIPT SUSSCRIPT SUSSCRIPT SUSSCRIPT SUSSCRIPT SUSSCRIPT SUS	C1-SWATCH-TRK-5Y	*Cisco ONE Subscription SWATCH SKU 5Y	150.00	\$0.0000	\$0.00
C1-ISE-BASE-T Cisco ONE ISE BASE License Term 150.00 \$0.000 C1-ISE-BASE-TRK-SY ****Cisco ONE Subscription ISE BASE SY 150.00 \$0.000 \$0.000 C1-ISE-PLS-T ***Cisco ONE Subscription SKU ISE PILS SY 150.00 \$0.0000 \$0.000 C1-ISE-PLS-TRK-SY ***Cisco ONE Subscription SKU ISE PILS SY 150.00 \$0.0000 \$0.000 C1-SWATCH-TRK-SY ***Cisco ONE Subscription SWATCH SKU 5Y* 150.00 \$0.0000 \$0.000 C35300UK3-166 ***CAT9300 Universal image 6.00 \$0.0000 \$0.000 STACK-T1-60CM 50CM Type 1 Stacking Cable 6.00 \$60.000 \$0.000 CAB-SPWR-30CM 2ctalyst Stack Power Cable 30 CM 6.00 \$60.000 \$300.00 STACK-T1-60CM 50CM Type 1 Stacking Cable 6.00 \$60.000 \$300.00 CAB-SPWR-30CM 2ctalyst Stack Power Cable 30 CM \$60.000 \$60.000 \$300.00 SFP-10G-LTM= 1000BASE-T SFP transceiver module for Category 5 copper wire 2.00 \$292.5000 \$585.00 SFP-10G-LTM= 1000BASE-T SFP transceiver module for Category 5 copper wire	C1AA1TCAT93001	*Cisco ONE Advantage Add-On Term, C9300	6.00	\$0.0000	\$0.00
C1-ISE-BASE-TRK-5Y Cisco ONE Subscription ISE BASE 5Y 150.00 \$0.000 \$0.00 C1-ISE-PLS-T Cisco ONE Subscription SKU ISE Plus 5Y 150.00 \$0.000 \$0.000 C1-ISE-PLS-TRK-5Y Cisco ONE Subscription SKU ISE Plus 5Y 150.00 \$0.0000 \$0.000 C1-SWATCH-TRK-5Y Cisco ONE Subscription SWATCH SKU 5Y 150.00 \$0.0000 \$0.000 C1-SWATCH-TRK-5Y Cisco ONE Subscription SWATCH SKU 5Y 150.00 \$0.0000 \$0.000 S9300LKB-166 **CAT9300 Universal image 6.00 \$0.0000 \$0.000 CAB-TA-NA North America AC Type A Power Cable 12.00 \$0.000 \$300.00 CAB-SPWR-30CM Catalyst Stack Power Cable 30 CM 6.00 \$65.0000 \$390.00 CAB-SPWR-30CM Catalyst Stack Power Cable 30 CM 6.00 \$65.0000 \$390.00 CBC-TE= 1000BASE-T SFP transceiver module for Category 5 copper wire 2.00 \$292.5000 \$585.00 SFP-H10G-LTME 10GBASE-LTM SFP Module 2.00 \$71.5000 \$20.000.00 SFP-H10G-B-CUII-B Public Works - Core switches for PW	C1AA1TCAT93001-5Y	*C1 Advantage Add-On Term C9300 5Y - 25 ISE PLS, 25 SWATCH	6.00	\$806.0000	\$4,836.00
C1-ISE-PLS-TT *Clsco ONE ISE PLUS License Term 150.00 \$0.000 \$0.000 C1-ISE-PLS-TRK-SY *Cisco ONE Subscription SKU ISE Plus SY 160.00 \$0.0000 \$0.000 C1-SWATCH-T *Cisco ONE Subscription SWATCH SKU SY 150.00 \$0.0000 \$0.000 C1-SWATCH-TRK-SY *Cisco ONE Subscription SWATCH SKU SY 150.00 \$0.0000 \$0.000 S9300UK9-16e *CAT9300 Universal image 6.00 \$0.0000 \$0.000 STACK-T1-56CM 50CM Type 1 Stacking Cable 6.00 \$65.0000 \$390.00 CAB-SPWR-30CM *Catalyst Stack Power Cable 30 CM 6.00 \$65.0000 \$390.00 CAB-SPWR-30CM *1000BASE-T SFP transceiver module for Category 5 copper wire 2.00 \$292.5000 \$585.00 Public Works *1000BASE-T SFP transceiver module for Category 5 copper wire 2.00 \$59.000 \$300.00 SFP-10G-LRM= *100BASE-T MSFP Module 2.00 \$65.0000 \$130.00 SFP-10G-LRM= *100BASE-CU SFP Cable 1 Meter 2.00 \$65.0000 \$313.00 SFP-10G-LRM= *100BASE-CU SFP Cable 1 Meter	C1-ISE-BASE-T	*Cisco ONE ISE BASE License Term	150.00	\$0.0000	\$0.00
C1-ISE-PLS-TRK-5Y ***Cisco ONE Subscription SIKU ISE Plus 5Y 150.00 \$0.000 \$0.00 C1-SWATCH-TT ***Cisco ONE StealthWatch License Term -1 Flow License 150.00 \$0.0000 \$0.00 C1-SWATCH-TRK-5Y ***Cisco ONE Subscription SWATCH SKU SY 150.00 \$0.0000 \$0.00 S9300UR3-166 ***CAS300 Universal image 6.00 \$0.0000 \$0.00 CAB-TA-NA North America AC Type A Power Cable 12.00 \$0.0000 \$0.00 STACK-T1-S0CM 50CM Type 1 Stacking Cable 6.00 \$65.0000 \$390.00 CAB-SPWR-30CM Catalyst Stack Power Cable 30 CM 6.00 \$65.0000 \$390.00 CAB-SPWR-30CM Catalyst Stack Power Cable 30 CM 6.00 \$65.0000 \$390.00 CAB-SPWR-30CM 2000BASE-T SFP transceiver module for Category 5 copper wire 2.00 \$292.5000 \$585.00 FP-10G-LRM= 10GBASE-LRM SFP Module 2.00 \$715.0000 \$20,000.00 SFP-110G-LRM= 10GBASE-LRM SFP Module 2.00 \$715.000 \$323,110.00 C950-40X-A Catalyst 9500 40-port 10Gig switch, Network Advantage </td <td>C1-ISE-BASE-TRK-5Y</td> <td>*Cisco ONE Subscription ISE BASE 5Y</td> <td>150.00</td> <td>\$0.0000</td> <td>\$0.00</td>	C1-ISE-BASE-TRK-5Y	*Cisco ONE Subscription ISE BASE 5Y	150.00	\$0.0000	\$0.00
C1-SWATCH-TT *Cisco ONE Stealth/Watch License Term - 1 Flow License 150.00 \$0.000 \$0.000 C1-SWATCH-TRK-5Y *Cisco ONE Subscription SWATCH SKU 5Y 150.00 \$0.000 \$0.000 S9300UK9-166 *CAT9300 Universal image 6.00 \$0.0000 \$0.000 CAB-TA-NA North America AC Type A Power Cable 12.00 \$65.000 \$390.00 STACK-T1-SOCM 50CM Type 1 Stacking Cable 6.00 \$65.000 \$390.00 CAB-SPWR-30CM Catalyst Stack Power Cable 30 CM 6.00 \$65.000 \$390.00 CBC-TE- 1000BASE-TSFP transceiver module for Category 5 copper wire 2.00 \$292.500 \$585.00 SFP-10G-LRM- 100BASE-LRM SFP Module 2.00 \$65.000 \$130.00 SFP-110G-LRM- 10GBASE-LRM SFP Module 2.00 \$65.000 \$130.00 SFP-110G-LRM- 10GBASE-CU SFP+ Cable I Meter 2.00 \$16.055.000 \$320,000 SFP-110G-LRM- 10GBASE-CU SFP+ Cable I Meter 2.00 \$16.055.000 \$32,110.00 CFO50-40X-A Catalyst 9500 40-port 10Gig switch, Network Advantage 2.0	C1-ISE-PLS-T	*Cisco ONE ISE PLUS License Term	150.00	\$0.0000	\$0.00
C1-SWATCH-TRK-SY *Cisco ONE Subscription SWATCH SKU 5Y 150.00 \$0.000 \$0.00 S9300UK9-166 *CAT9300 Universal image 6.00 \$0.000 \$0.00 CAB-TANA North America AC Type A Power Cable 12.00 \$0.0000 \$0.00 STACK-T1-SOCM 50CM Type 1 Stacking Cable 6.00 \$65.0000 \$390.00 CAB-SPWR-30CM Catalyst Stack Power Cable 30 CM 6.00 \$61.7500 \$370.50 Public Works CISCOPER Public Works SFP-10G-LRM= 100BASE-T SFP transceiver module for Category 5 copper wire 2.00 \$292.5000 \$585.00 Public Works SFP-10G-LRM= 100BASE-T SFP transceiver module for Category 5 copper wire 2.00 \$55.000 \$585.00 SFP-10G-LRM= 100BASE-T SFP transceiver module for Category 5 copper wire 2.00 \$55.000 \$50.000 SFP-10G-LRM= 100BASE-T SFP transceiver module for Category 5 copper wire 2.00 \$55.000 \$32.100.00 100BASE-T SFP transceiver module for Category 5 copper wire 2.00 \$55.000 \$	C1-ISE-PLS-TRK-5Y	*Cisco ONE Subscription SKU ISE Plus 5Y	150.00	\$0.0000	\$0.00
S9300UK9-166 ***CAT9300 Universal image* 6.00 \$0.000 \$0.000 CAB-TA-NA North America AC Type A Power Cable 12.00 \$0.0000 \$0.000 STACK-T1-50CM 50CM Type 1 Stacking Cable 6.00 \$65.0000 \$390.00 CAB-SPWR-30CM Catalyst Stack Power Cable 30 CM 6.00 \$65.0000 \$370.50 Public Works SFP-H0G-LRM= 1000BASE-T SFP transceiver module for Category 5 copper wire 2.00 \$292.5000 \$585.00 SFP-H10G-LRM= 10GBASE-LRM SFP Module 28.00 \$715.0000 \$20,020.00 SFP-H10GB-CUTM= 10GBASE-LRM SFP Module 28.00 \$65.0000 \$320,020.00 SFP-H10GB-CUTM= 10GBASE-LRM SFP Module 28.00 \$65.0000 \$320,020.00 SFP-H10GB-CUTM= 10GBASE-LRM SFP Module 28.00 \$65.0000 \$320,020.00 SFP-H10GB-CUTM= 10GBASE-LRM SFP Module 28.00 \$65.0000 \$321,010.00 CSFV-H10GB-CUTM 10GBASE-LRM SFP Module 28.00 \$65.0000 \$321,110.00 CSFV-H10GB-CUTM 10GBASE-LRM SFP Module	C1-SWATCH-T	*Cisco ONE StealthWatch License Term - 1 Flow License	150.00	\$0.0000	\$0.00
CAB-TA-NA North America AC Type A Power Cable 12.00 \$0.0000 \$0.000 STACK-T1-50CM 50CM Type 1 Stacking Cable 6.00 \$65.0000 \$390.00 CAB-SPWR-30CM Catalyst Stack Power Cable 30 CM 6.00 \$61.7500 \$370.50 Public Works 1000BASE-T SFP transceiver module for Category 5 copper wire 2.00 \$292.5000 \$585.00 SFP-10G-LRM= 105BASE-LRM SFP Module 28.00 \$715.0000 \$20,020.00 SFP-H10GB-CU1M= 10GBASE-CU SFP+ Cable 1 Meter 2.00 \$65.0000 \$130.00 SFP-H10GB-CU1M= 10GBASE-CU SFP+ Cable 1 Meter 2.00 \$65.0000 \$130.00 Public Works - Core switches for PW 2.00 \$65.0000 \$32,110.00 C9500-40X-A Catalyst 9500 40-port 10Gig switch, Network Advantage 2.00 \$0.0000 \$0.000 C0N-SNT-C95004X-A SNTC-8X5XNBD Catalyst 9500 40-port 10Gig switch, Network Advantage 2.00 \$0.0000 \$0.000 C1A1TCAT95001 Cisco ONE Advantage High Term, C9500 2.00 \$0.0000 \$0.000 C1-14TCAT95001-5y C1 Advantage High Term C9500 5Y - DNA, 25 I	C1-SWATCH-TRK-5Y	*Cisco ONE Subscription SWATCH SKU 5Y	150.00	\$0.0000	\$0.00
STACK-T1-50CM 50CM Type 1 Stacking Cable 6.00 \$65.000 \$390.00 CAB-SPWR-30CM Public Works Catalyst Stack Power Cable 30 CM Public Works 6.00 \$61.7500 \$370.50 GLC-TE= 1000BASE-T SFP transceiver module for Category 5 copper wire Public Works 2.00 \$292.5000 \$585.00 SFP-10G-LRM= 10GBASE-LRM SFP Module 28.00 \$715.0000 \$20,020.00 SFP-H10GB-CU1M= Public Works - Core switches for PW 2.00 \$65.0000 \$32,110.00 C9500-40X-A CON-SNT-C95004XA Catalyst 9500 40-port 10Gig switch, Network Advantage 2.00 \$16,055.0000 \$32,110.00 C1-N-SNT-C95004XA SNTC-8X5XNBD Catalyst 9500 40-port 10Gig switch, Network Advantage 2.00 \$0.0000 \$32,110.00 C1-SNT-C95004XA Cisco ONE Advantage High Term, C9500 2.00 \$0.0000 \$0.00 C1-A1TCAT95001 Cisco ONE C9500 DNA Advantage 40P 10Gig Term licenses 2.00 \$12,590.5000 \$25,181.00 C1-C9500-4DNA-T Cisco ONE Subscription SW1 SW1 CH SW1 SY 2.00 \$0.0000 \$0.00 C1-SWATCH-T Cisco ONE Subscription SWATCH SKU SY 50.00 \$0.0000	S9300UK9-166	*CAT9300 Universal image	6.00	\$0.0000	\$0.00
CAB-SPWR-30CM Catalyst Stack Power Cable 30 CM Public Works 6.00 \$61.7500 \$370.50 GLC-TE= 1000BASE-T SFP transceiver module for Category 5 copper wire Public Works 2.00 \$292.5000 \$585.00 SFP-10G-LRM= 10GBASE-LRM SFP Module 28.00 \$715.0000 \$20,020.00 SFP-H10GB-CU1M= Public Works - Core switches for PW 10GBASE-CU SFP+ Cable 1 Meter Public Works - Core switches for PW 2.00 \$65,0000 \$32,110.00 C9500-40X-A Catalyst 9500 40-port 10Gig switch, Network Advantage 2.00 \$16,055.0000 \$32,110.00 C0N-SNT-C95004XA 60 Month Service Duration SNTC-8X5XNBD Catalyst 9500 40-port 10Gig switch, Network Advantage 2.00 \$0.0000 \$0.00 C1A1TCAT95001-5Y C1sco ONE Advantage High Term, C9500 2.0 \$0.0000 \$0.00 C1-C9500-TRK-5Y C1sco ONE C9500 DNA Advantage 40P 10Gig Term licenses 2.00 \$0.0000 \$0.00 C1-SWATCH-T *Cisco ONE Subscription SKU 5Y 2.00 \$0.0000 \$0.00 C1-SWATCH-TRK-5Y *Cisco ONE Subscription SWATCH SKU 5Y 50.00 \$0.0000 \$0.00 C1-SE-BASE-TRK-5Y *Cisco ONE Subscription SWATCH S	CAB-TA-NA	North America AC Type A Power Cable	12.00	\$0.0000	\$0.00
Public Works 1000BASE-T SFP transceiver module for Category 5 copper wire 2.00 \$292.5000 \$585.00 Public Works 28.00 \$715.0000 \$20,020.00 \$585.00 \$289.50	STACK-T1-50CM	50CM Type 1 Stacking Cable	6.00	\$65.0000	\$390.00
CLC-TE	CAB-SPWR-30CM	Catalyst Stack Power Cable 30 CM	6.00	\$61.7500	\$370.50
Public Works SFP-10G-LRM= 10GBASE-LRM SFP Module 28.00 \$715.0000 \$20,020.00 SFP-H10GB-CU1M= 10GBASE-CU SFP+ Cable 1 Meter 2.00 \$65.0000 \$130.00 Public Works - Core switches for PW C9500-40X-A Catalyst 9500 40-port 10Gig switch, Network Advantage 2.00 \$16,055.0000 \$32,110.00 C0N-SNT-C95004XA SNTC-8X5XNBD Catalyst 9500 40-port 10Gig switch, Network Advantage 2.00 \$0.0000 \$0.000 C1A1TCAT95001 Cisco ONE Advantage High Term, C9500 2.00 \$0.0000 \$0.000 C1A1TCAT95001-5V C1 Advantage High Term C9500 5Y - DNA, 25 ISE PLS, 25 SWATCH 2.00 \$12,590.5000 \$0.000 C1-C9500-40-DNAA-T Cisco ONE C9500 DNA Advantage 40P 10Gig Term licenses 2.00 \$0.0000 \$0.000 C1-SWATCH-T *Cisco ONE StealthWatch License Term - 1 Flow License 50.00 \$0.0000 \$0.00 C1-SWATCH-TRK-5Y *Cisco ONE Subscription SWATCH SKU 5Y 50.00 \$0.0000 \$0.00 C1-SWATCH-TRK-5Y *Cisco ONE ISE BASE License Term 50.00 \$0.0000 \$0.00 C1-ISE-BA		Public Works			
SFP-10G-LRM= 10GBASE-LRM SFP Module 28.00 \$715.0000 \$20,020.00 SFP-H10GB-CU1M= 10GBASE-CU SFP+ Cable 1 Meter 2.00 \$65.0000 \$130.00 Public Works - Core switches for PW C9500-40X-A Catalyst 9500 40-port 10Gig switch, Network Advantage 2.00 \$16,055.0000 \$0.000 CON-SNT-C95004XA SNTC-8X5XNBD Catalyst 9500 40-port 10Gig switch, Network Advantage 2.00 \$0.0000 \$0.000 C1A1TCAT95001 Cisco ONE Advantage High Term, C9500 2.00 \$0.0000 \$0.00 C1A1TCAT95001-5Y C1 Advantage High Term C9500 SY - DNA, 25 ISE PLS, 25 SWATCH 2.00 \$0.0000 \$0.00 C1-C9500-40-DNAAT Cisco ONE C9500 DNA Advantage 40P 10Gig Term licenses 2.00 \$0.0000 \$0.00 C1-S900-TRK-5Y Cisco ONE Subscription SKU 5Y 2.00 \$0.0000 \$0.000 C1-SWATCH-TTK-5Y *Cisco ONE Subscription SWATCH SKU 5Y 50.00 \$0.0000 \$0.00 C1-ISE-BASE-T *Cisco ONE ISE BASE License Term 50.00 \$0.0000 \$0.00 C1-ISE-PLS-T *Cisco ONE Subscription ISE BASE 5Y 50.00 \$0	GLC-TE=	1000BASE-T SFP transceiver module for Category 5 copper wire	2.00	\$292.5000	\$585.00
SFP-H10GB-CU1M= 10GBASE-CU SFP+ Cable 1 Meter 2.00 \$65.0000 \$130.00 C9500-40X-A Catalyst 9500 40-port 10Gig switch, Network Advantage 2.00 \$16,055.0000 \$32,110.00 CON-SNT-C95004XA SNTC-8X5XNBD Catalyst 9500 40-port 10Gig switch, Netw 10.00 \$0.0000 \$0.000 C1A1TCAT95001 Cisco ONE Advantage High Term, C9500 2.00 \$0.0000 \$0.000 C1A1TCAT95001-5Y C1 Advantage High Term C9500 5Y - DNA, 25 ISE PLS, 25 SWATCH 2.00 \$0.0000 \$0.000 C1-C9500-40-DNAA-T Cisco ONE C9500 DNA Advantage 40P 10Gig Term licenses 2.00 \$0.0000 \$0.00 C1-SWATCH-T *Cisco ONE Subscription SKU 5Y 2.00 \$0.0000 \$0.00 C1-SWATCH-TRK-5Y *Cisco ONE Subscription SWATCH SKU 5Y 50.00 \$0.0000 \$0.00 C1-ISE-BASE-T *Cisco ONE Subscription ISE BASE 5Y 50.00 \$0.0000 \$0.00 C1-ISE-BASE-TRK-5Y *Cisco ONE Subscription SKU ISE Plus 5Y 50.00 \$0.0000 \$0.00 C1-ISE-PLS-TRK-5Y *Cisco ONE Subscription SKU ISE Plus 5Y 50.00		Public Works			
Public Works - Core switches for PW C9500-40X-A Catalyst 9500 40-port 10Gig switch, Network Advantage 2.00 \$16,055.0000 \$32,110.00 CON-SNT-C95004XA SNTC-8X5XNBD Catalyst 9500 40-port 10Gig switch, Netw 10.00 \$0.0000 \$0.000 C1A1TCAT95001 Cisco ONE Advantage High Term, C9500 2.00 \$0.0000 \$0.000 C1A1TCAT95001-5Y C1 Advantage High Term C9500 5Y - DNA, 25 ISE PLS, 25 SWATCH 2.00 \$12,590.5000 \$25,181.00 C1-C9500-40-DNAA-T Cisco ONE C9500 DNA Advantage 40P 10Gig Term licenses 2.00 \$0.0000 \$0.00 C1-SWATCH-T *Cisco ONE Subscription SKU 5Y 2.00 \$0.0000 \$0.00 C1-SWATCH-TRK-5Y *Cisco ONE Subscription SWATCH SKU 5Y 50.00 \$0.0000 \$0.00 C1-ISE-BASE-T *Cisco ONE ISE BASE License Term 50.00 \$0.0000 \$0.00 C1-ISE-PLS-T *Cisco ONE Subscription ISE BASE 5Y 50.00 \$0.0000 \$0.00 C1-ISE-PLS-T *Cisco ONE Subscription SKU ISE Plus 5Y 50.00 \$0.0000 \$0.00 C9500 Network Stack, Advantage 2.00 \$0.0000	SFP-10G-LRM=	10GBASE-LRM SFP Module	28.00	\$715.0000	\$20,020.00
C9500-40X-A Catalyst 9500 40-port 10Gig switch, Network Advantage 2.00 \$16,055.0000 \$32,110.00 CON-SNT-C95004XA SNTC-8X5XNBD Catalyst 9500 40-port 10Gig switch, Network Advantage 10.00 \$0.0000 \$0.000 C1A1TCAT95001 Cisco ONE Advantage High Term, C9500 2.00 \$0.0000 \$0.000 C1A1TCAT95001-5Y C1 Advantage High Term C9500 5Y - DNA, 25 ISE PLS, 25 SWATCH 2.00 \$12,590.5000 \$25,181.00 C1-C9500-40-DNAA-T Cisco ONE C9500 DNA Advantage 40P 10Gig Term licenses 2.00 \$0.0000 \$0.000 C1-C9500-TRK-5Y Cisco ONE Subscription SKU 5Y 2.00 \$0.0000 \$0.000 C1-SWATCH-T *Cisco ONE Subscription SWATCH SKU 5Y 50.00 \$0.0000 \$0.000 C1-ISE-BASE-T *Cisco ONE ISE BASE License Term 50.00 \$0.0000 \$0.000 C1-ISE-PLS-T *Cisco ONE Subscription SKU ISE Plus 5Y 50.00 \$0.0000 \$0.000 C1-ISE-PLS-TRK-5Y *Cisco ONE Subscription SKU ISE Plus 5Y 50.00 \$0.0000 \$0.000 S9500 UK9-166 CAT9500 Universal image 2.00 \$0.0000 \$0.000 \$0.000	SFP-H10GB-CU1M=	10GBASE-CU SFP+ Cable 1 Meter	2.00	\$65.0000	\$130.00
CON-SNT-C95004XA SNTC-8X5XNBD Catalyst 9500 40-port 10Gig switch, Netw 60 Month Service Duration 10.00 \$0.0000 \$0.0000 C1A1TCAT95001 Cisco ONE Advantage High Term, C9500 2.00 \$0.0000 \$0.000 C1A1TCAT95001-5Y C1 Advantage High Term C9500 5Y - DNA, 25 ISE PLS, 25 SWATCH 2.00 \$12,590.5000 \$25,181.00 C1-C9500-40-DNAA-T Cisco ONE C9500 DNA Advantage 40P 10Gig Term licenses 2.00 \$0.0000 \$0.00 C1-C9500-TRK-5Y Cisco ONE Subscription SKU 5Y 2.00 \$0.0000 \$0.00 C1-SWATCH-T *Cisco ONE Subscription SWATCH SKU 5Y 50.00 \$0.0000 \$0.00 C1-ISE-BASE-T *Cisco ONE ISE BASE License Term 50.00 \$0.0000 \$0.00 C1-ISE-PLS-T *Cisco ONE Subscription ISE BASE 5Y 50.00 \$0.0000 \$0.00 C1-ISE-PLS-TRK-5Y *Cisco ONE Subscription SKU ISE Plus 5Y 50.00 \$0.0000 \$0.00 C9500-NW-A C9500 Network Stack, Advantage 2.00 \$0.0000 \$0.000 C9500-NW-BLANK Catalyst 9500 network module blank cover 2.00 \$0.0000 \$0.0000		Public Works - Core switches for PW			
C1A1TCAT95001 Cisco ONE Advantage High Term, C9500 2.00 \$0.000 \$0.	C9500-40X-A	Catalyst 9500 40-port 10Gig switch, Network Advantage	2.00	\$16,055.0000	\$32,110.00
C1A1TCAT95001 Cisco ONE Advantage High Term, C9500 2.00 \$0.0000 \$0.000 C1A1TCAT95001-5Y C1 Advantage High Term C9500 5Y - DNA, 25 ISE PLS, 25 SWATCH 2.00 \$12,590.5000 \$25,181.00 C1-C9500-40-DNAA-T Cisco ONE C9500 DNA Advantage 40P 10Gig Term licenses 2.00 \$0.0000 \$0.000 C1-C9500-TRK-5Y Cisco ONE Subscription SKU 5Y 2.00 \$0.0000 \$0.000 C1-SWATCH-T *Cisco ONE StealthWatch License Term - 1 Flow License 50.00 \$0.0000 \$0.000 C1-ISWATCH-TRK-5Y *Cisco ONE Subscription SWATCH SKU 5Y 50.00 \$0.0000 \$0.000 C1-ISE-BASE-T *Cisco ONE ISE BASE License Term 50.00 \$0.0000 \$0.000 C1-ISE-PLS-T *Cisco ONE Subscription ISE BASE 5Y 50.00 \$0.0000 \$0.000 C1-ISE-PLS-T *Cisco ONE Subscription SKU ISE Plus 5Y 50.00 \$0.0000 \$0.000 C9500-NW-9 *Catajyst 9500 Universal image 2.00 \$0.0000 \$0.000 C9500-NW-BLANK Catalyst 9500 network module blank cover 2.00 \$0.0000 \$0.000	CON-SNT-C95004XA	SNTC-8X5XNBD Catalyst 9500 40-port 10Gig switch, Netw	10.00	\$0.0000	\$0.00
C1A1TCAT95001-5Y C1 Advantage High Term C9500 5Y - DNA, 25 ISE PLS, 25 SWATCH 2.00 \$12,590.5000 \$25,181.00 C1-C9500-40-DNAA-T Cisco ONE C9500 DNA Advantage 40P 10Gig Term licenses 2.00 \$0.0000 \$0.000 C1-C9500-TRK-5Y Cisco ONE Subscription SKU 5Y 2.00 \$0.0000 \$0.000 C1-SWATCH-T *Cisco ONE Subscription SWATCH SKU 5Y 50.00 \$0.0000 \$0.000 C1-SWATCH-TRK-5Y *Cisco ONE Subscription SWATCH SKU 5Y 50.00 \$0.0000 \$0.00 C1-ISE-BASE-T *Cisco ONE ISE BASE License Term 50.00 \$0.0000 \$0.00 C1-ISE-BASE-TRK-5Y *Cisco ONE Subscription ISE BASE 5Y 50.00 \$0.0000 \$0.00 C1-ISE-PLS-T *Cisco ONE ISE PLUS License Term 50.00 \$0.0000 \$0.00 C1-ISE-PLS-TRK-5Y *Cisco ONE Subscription SKU ISE Plus 5Y 50.00 \$0.0000 \$0.00 S9500UK9-166 CAT9500 Universal image 2.00 \$0.0000 \$0.00 C9500-NW-A C9500 Network Stack, Advantage 2.00 \$0.0000 \$0.00 C9500-NM-BLANK Catalyst 9500 network module bla		60 Month Service Duration			
C1-C9500-40-DNAA-T Cisco ONE C9500 DNA Advantage 40P 10Gig Term licenses 2.00 \$0.0000 \$0.000 C1-C9500-TRK-5Y Cisco ONE Subscription SKU 5Y 2.00 \$0.0000 \$0.000 C1-SWATCH-T *Cisco ONE StealthWatch License Term - 1 Flow License 50.00 \$0.0000 \$0.000 C1-SWATCH-TRK-5Y *Cisco ONE Subscription SWATCH SKU 5Y 50.00 \$0.0000 \$0.000 C1-ISE-BASE-T *Cisco ONE ISE BASE License Term 50.00 \$0.0000 \$0.000 C1-ISE-BASE-TRK-5Y *Cisco ONE Subscription ISE BASE 5Y 50.00 \$0.0000 \$0.000 C1-ISE-PLS-T *Cisco ONE ISE PLUS License Term 50.00 \$0.0000 \$0.000 C1-ISE-PLS-TRK-5Y *Cisco ONE Subscription SKU ISE Plus 5Y 50.00 \$0.0000 \$0.00 S9500UK9-166 CAT9500 Universal image 2.00 \$0.0000 \$0.00 C9500-NW-A C9500 Network Stack, Advantage 2.00 \$0.0000 \$0.00 C9500-NM-BLANK Catalyst 9500 network module blank cover 2.00 \$0.0000 \$0.000	C1A1TCAT95001	Cisco ONE Advantage High Term, C9500	2.00	\$0.0000	\$0.00
C1-C9500-TRK-5Y Cisco ONE Subscription SKU 5Y 2.00 \$0.0000 \$0.000 C1-SWATCH-T *Cisco ONE StealthWatch License Term - 1 Flow License 50.00 \$0.0000 \$0.000 C1-SWATCH-TRK-5Y *Cisco ONE Subscription SWATCH SKU 5Y 50.00 \$0.0000 \$0.000 C1-ISE-BASE-T *Cisco ONE ISE BASE License Term 50.00 \$0.0000 \$0.000 C1-ISE-BASE-TRK-5Y *Cisco ONE Subscription ISE BASE 5Y 50.00 \$0.0000 \$0.000 C1-ISE-PLS-T *Cisco ONE ISE PLUS License Term 50.00 \$0.0000 \$0.000 C1-ISE-PLS-TRK-5Y *Cisco ONE Subscription SKU ISE Plus 5Y 50.00 \$0.0000 \$0.00 S9500UK9-166 CAT9500 Universal image 2.00 \$0.0000 \$0.00 C9500-NW-A C9500 Network Stack, Advantage 2.00 \$0.0000 \$0.00 C9500-NM-BLANK Catalyst 9500 network module blank cover 2.00 \$0.0000 \$0.00	C1A1TCAT95001-5Y	C1 Advantage High Term C9500 5Y - DNA, 25 ISE PLS, 25 SWATCH	2.00	\$12,590.5000	\$25,181.00
C1-SWATCH-T *Cisco ONE StealthWatch License Term - 1 Flow License 50.00 \$0.0000 \$0.000 C1-SWATCH-TRK-5Y *Cisco ONE Subscription SWATCH SKU 5Y 50.00 \$0.0000 \$0.000 C1-ISE-BASE-T *Cisco ONE ISE BASE License Term 50.00 \$0.0000 \$0.000 C1-ISE-BASE-TRK-5Y *Cisco ONE Subscription ISE BASE 5Y 50.00 \$0.0000 \$0.000 C1-ISE-PLS-T *Cisco ONE ISE PLUS License Term 50.00 \$0.0000 \$0.000 C1-ISE-PLS-TRK-5Y *Cisco ONE Subscription SKU ISE Plus 5Y 50.00 \$0.0000 \$0.000 S9500UK9-166 CAT9500 Universal image 2.00 \$0.0000 \$0.000 C9500-NW-A C9500 Network Stack, Advantage 2.00 \$0.0000 \$0.000 C9500-NM-BLANK Catalyst 9500 network module blank cover 2.00 \$0.0000 \$0.000	C1-C9500-40-DNAA-T	Cisco ONE C9500 DNA Advantage 40P 10Gig Term licenses	2.00	\$0.0000	\$0.00
C1-SWATCH-TRK-5Y *Cisco ONE Subscription SWATCH SKU 5Y 50.00 \$0.0000 \$0.000 C1-ISE-BASE-T *Cisco ONE ISE BASE License Term 50.00 \$0.0000 \$0.000 C1-ISE-BASE-TRK-5Y *Cisco ONE Subscription ISE BASE 5Y 50.00 \$0.0000 \$0.000 C1-ISE-PLS-T *Cisco ONE ISE PLUS License Term 50.00 \$0.0000 \$0.000 C1-ISE-PLS-TRK-5Y *Cisco ONE Subscription SKU ISE Plus 5Y 50.00 \$0.0000 \$0.000 S9500UK9-166 CAT9500 Universal image 2.00 \$0.0000 \$0.00 C9500-NW-A C9500 Network Stack, Advantage 2.00 \$0.0000 \$0.00 C9500-NM-BLANK Catalyst 9500 network module blank cover 2.00 \$0.0000 \$0.000	C1-C9500-TRK-5Y	Cisco ONE Subscription SKU 5Y	2.00	\$0.0000	\$0.00
C1-ISE-BASE-T *Cisco ONE ISE BASE License Term 50.00 \$0.0000 \$0.000 C1-ISE-BASE-TRK-5Y *Cisco ONE Subscription ISE BASE 5Y 50.00 \$0.0000 \$0.000 C1-ISE-PLS-T *Cisco ONE ISE PLUS License Term 50.00 \$0.0000 \$0.000 C1-ISE-PLS-TRK-5Y *Cisco ONE Subscription SKU ISE Plus 5Y 50.00 \$0.0000 \$0.000 \$9500UK9-166 CAT9500 Universal image 2.00 \$0.0000 \$0.000 C9500-NW-A C9500 Network Stack, Advantage 2.00 \$0.0000 \$0.000 C9500-NM-BLANK Catalyst 9500 network module blank cover 2.00 \$0.0000 \$0.000	C1-SWATCH-T	*Cisco ONE StealthWatch License Term - 1 Flow License	50.00	\$0.0000	\$0.00
C1-ISE-BASE-TRK-5Y *Cisco ONE Subscription ISE BASE 5Y 50.00 \$0.0000 \$0.000 C1-ISE-PLS-T *Cisco ONE ISE PLUS License Term 50.00 \$0.0000 \$0.000 C1-ISE-PLS-TRK-5Y *Cisco ONE Subscription SKU ISE Plus 5Y 50.00 \$0.0000 \$0.000 S9500UK9-166 CAT9500 Universal image 2.00 \$0.0000 \$0.000 C9500-NW-A C9500 Network Stack, Advantage 2.00 \$0.0000 \$0.000 C9500-NM-BLANK Catalyst 9500 network module blank cover 2.00 \$0.0000 \$0.000	C1-SWATCH-TRK-5Y	*Cisco ONE Subscription SWATCH SKU 5Y	50.00	\$0.0000	\$0.00
C1-ISE-PLS-T *Cisco ONE ISE PLUS License Term 50.00 \$0.0000 \$0.000 C1-ISE-PLS-TRK-5Y *Cisco ONE Subscription SKU ISE Plus 5Y 50.00 \$0.0000 \$0.000 S9500UK9-166 CAT9500 Universal image 2.00 \$0.0000 \$0.000 C9500-NW-A C9500 Network Stack, Advantage 2.00 \$0.0000 \$0.000 C9500-NM-BLANK Catalyst 9500 network module blank cover 2.00 \$0.0000 \$0.000	C1-ISE-BASE-T	*Cisco ONE ISE BASE License Term	50.00	\$0.0000	\$0.00
C1-ISE-PLS-TRK-5Y *Cisco ONE Subscription SKU ISE Plus 5Y 50.00 \$0.0000 \$0.000 S9500UK9-166 CAT9500 Universal image 2.00 \$0.0000 \$0.000 C9500-NW-A C9500 Network Stack, Advantage 2.00 \$0.0000 \$0.000 C9500-NM-BLANK Catalyst 9500 network module blank cover 2.00 \$0.0000 \$0.000	C1-ISE-BASE-TRK-5Y	*Cisco ONE Subscription ISE BASE 5Y	50.00	\$0.0000	\$0.00
S9500UK9-166 CAT9500 Universal image 2.00 \$0.0000 \$0.00 C9500-NW-A C9500 Network Stack, Advantage 2.00 \$0.0000 \$0.00 C9500-NM-BLANK Catalyst 9500 network module blank cover 2.00 \$0.0000 \$0.000	C1-ISE-PLS-T	*Cisco ONE ISE PLUS License Term	50.00	\$0.0000	\$0.00
C9500-NW-A C9500 Network Stack, Advantage 2.00 \$0.0000 \$0.000 C9500-NM-BLANK Catalyst 9500 network module blank cover 2.00 \$0.0000 \$0.000	C1-ISE-PLS-TRK-5Y	*Cisco ONE Subscription SKU ISE Plus 5Y	50.00	\$0.0000	\$0.00
C9500-NM-BLANK Catalyst 9500 network module blank cover 2.00 \$0.0000 \$0.000	S9500UK9-166	CAT9500 Universal image	2.00	\$0.0000	\$0.00
\$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$	C9500-NW-A	C9500 Network Stack, Advantage	2.00	\$0.0000	\$0.00
PWR-C4-950WAC-R 950W AC Config 4 Power Supply front to back cooling 2.00 \$1,365.0000 \$2,730.00	C9500-NM-BLANK	Catalyst 9500 network module blank cover	2.00	\$0.0000	\$0.00
	PWR-C4-950WAC-R	950W AC Config 4 Power Supply front to back cooling	2.00	\$1,365.0000	\$2,730.00



BILL TO:		JOB LOCATION:	
COMPANY (Chula Vista, City of	COMPANY City of Chula Vista	DATE December 6,2017
ADDRESS 2	276 Fourth Ave	ADDRESS 276 Fourth Ave	EXPIRY DATE January 5,2018
			SALES REP. MATTHEW ROBBART
(Chula Vista, CA 91910	Chula Vista, CA 91910	PHONE. (909)257-2733 EXT
CONTACT (Gary Halbert	CONTACT	_{EMAIL.} mrobbart@nicpartnersinc.com
PHONE		PHONE	
TITLE.			

TITLE:

PART#	DESCRIPTION	QTY	UNIT PRICE	TOTAL PRICE
PWR-C4-950WAC-R/2	950W AC Config 4 Power Supply front to back cooling	2.00	\$1,365.0000	\$2,730.00
CAB-TA-NA	North America AC Type A Power Cable	4.00	\$0.0000	\$0.00
	Living Coast Discovery Center			
C1-CISCO4451/K9	Cisco ONE ISR 4451 (4GE,3NIM,2SM,8G FLASH,4G DRAM, IPB)	1.00	\$11,700.0000	\$11,700.00
CON-SNT-C14451K9	*SNTC-8X5XNBD C1 ISR 4451 (4GE,3NIM,2SM,8G FLASH)	5.00	\$0.0000	\$0.00
	60 Month Service Duration			
C1-SL-2500-AKC	Cisco ONE Promo LIC Akamai Connect for 2500 connection WAAS	1.00	\$0.0000	\$0.00
SL-44-IPB-K9	IP Base License for Cisco ISR 4400 Series	1.00	\$0.0000	\$0.00
PWR-4450-AC	AC Power Supply for Cisco ISR 4450 and ISR4350	1.00	\$0.0000	\$0.00
CAB-AC	AC Power Cord (North America), C13, NEMA 5-15P, 2.1m	1.00	\$0.0000	\$0.00
PWR-COVER-4450	Cover for empty 2nd Power Supply slot on Cisco ISR 4450	1.00	\$0.0000	\$0.00
POE-COVER-4450	Cover for empty POE slot on Cisco ISR 4450	2.00	\$0.0000	\$0.00
PVDM4-64	64-channel DSP module	1.00	\$0.0000	\$0.00
SM-S-BLANK	Removable faceplate for SM slot on Cisco 2900,3900,4400 ISR	2.00	\$0.0000	\$0.00
MEM-4400-8G	8G DRAM (4G+4G) for Cisco ISR 4400, Spare	1.00	\$0.0000	\$0.00
NIM-BLANK	Blank faceplate for NIM slot on Cisco ISR 4400	2.00	\$0.0000	\$0.00
MEM-FLSH-8G	8G eUSB Flash Memory for Cisco ISR 4430	1.00	\$0.0000	\$0.00
MEM-4400-DP-2G	2G DRAM (1 DIMM) for Cisco ISR 4400 Data Plane	1.00	\$0.0000	\$0.00
C1AUPISR4400SK9	Cisco ONE Advanced UC Perpetual License ISR 4400	1.00	\$2,600.0000	\$2,600.00
CON-ECMU-C1A4400S	*SWSS UPGRADES C1 Advanced Perpetual Lic ISR 4400	5.00	\$0.0000	\$0.00
	60 Month Service Duration			
SL-44-UC-K9	Unified Communication License for Cisco ISR 4400 Series	1.00	\$0.0000	\$0.00
FL-CME-SRST-25	SRST-25 Seat License (CME uses CUCME Phone License ONLY)	1.00	\$0.0000	\$0.00
FL-CUBEE-25	Unified Border Element Enterprise License - 25 sessions	1.00	\$0.0000	\$0.00
C1F1PISR4400SK9	Cisco ONE Foundation Perpetual License ISR 4400	1.00	\$5,005.0000	\$5,005.00
CON-ECMU-C1F1PISR	*SWSS UPGRADES Cisco ONE Foundation Perpetual License I	5.00	\$0.0000	\$0.00
	60 Month Service Duration			
SL-44-SEC-K9	Security License for Cisco ISR 4400 Series	1.00	\$0.0000	\$0.00
SL-44-APP-K9	AppX License for Cisco ISR 4400 Series	1.00	\$0.0000	\$0.00
SRWAAS-RTU-2500	ISRWAAS RTU for 2500 connections	1.00	\$0.0000	\$0.00
VWAAS-RTU-2500	VWAAS 2500 conns RTU for UCS-E on single ISR only	1.00	\$0.0000	\$0.00
C1-PI-LFAS-ISR-K9	Cisco ONE PI Device License for LF, AS, & IWAN App for ISR	1.00	\$0.0000	\$0.00
C1-LIC-VCM-1N	*Cisco ONE Promo license to manage one WAAS node	1.00	\$0.0000	\$0.00
SISR4400UK9-316S	Cisco ISR 4400 Series IOS XE Universal	1.00	\$0.0000	\$0.00
NIM-2FXS/4FXO	2-Port FXS/FXS-E/DID and 4-Port FXO Network Interface Module	1.00	\$910.0000	\$910.00
C1A1VISR4400S-01	*Tracker PID v01 Adv Perpetual ISR4400S - no delivery	1.00	\$0.0000	\$0.00
	Living Coast Discovery Center - Per Hermon, one 48			
C9300-48U-A	Catalyst 9300 48-port UPOE, Network Advantage	1.00	\$6,831.5000	\$6,831.50
CON-SNT-C93004UA	SNTC-8X5XNBD Catalyst 9300 48-port UPOE, Network Adva	5.00	\$0.0000	\$0.00
	60 Month Service Duration			



BILL TO:	JOB LOCATION:	
COMPANY Chula Vista, City of	COMPANY City of Chula Vista	DATE December 6,2017
ADDRESS 276 Fourth Ave	ADDRESS 276 Fourth Ave	EXPIRY DATE January 5,2018
		SALES REP. MATTHEW ROBBART
Chula Vista, CA 91910	Chula Vista, CA 91910	PHONE. (909)257-2733 EXT
CONTACT Gary Halbert	CONTACT	EMAIL. mrobbart@nicpartnersinc.com
PHONE	PHONE	
TITI C.		

TITLE:

19300 NN-M-48 19300 Network Advantage, 48-port license	PART#	DESCRIPTION	QTY	UNIT PRICE	TOTAL PRICE
PWR-CI-1100WACZ	C9300-NW-A-48	*C9300 Network Advantage, 48-port license	1.00	\$0.0000	\$0.00
C1A1TCAT930002 *Cisco ONE Advantage Term, C9300 48-Port 1.00 \$0,0000 \$0,000 C1A1TCAT93002-57 *C1 Advantage Term C9300 48 PSY - DNA, 25 ISE PLS, 25 SWATCH 1.00 \$4,608,500 \$4,608,500 C1-C9300-48-DNAA-7 *Cisco ONE C9300 DNA Advantage 48-Port Term licenses 1.00 \$0,0000 \$0,000 C1-ISE-BASE-T *Cisco ONE Subscription SKU SY 1.00 \$0,0000 \$0,000 C1-ISE-BASE-TRK-97 *Cisco ONE Subscription ISE BASE SY 25.00 \$0,0000 \$0,000 C1-ISE-PLS-TRK-87 *Cisco ONE Subscription SKU ISE Plus SY 25.00 \$0,0000 \$0,000 C1-SWATCH-T *Cisco ONE Subscription SKU ISE Plus SY 25.00 \$0,0000 \$0,000 C1-SWATCH-T *Cisco ONE Subscription SWATCH SKU 5Y 25.00 \$0,0000 \$0,000 C1-SWATCH-TRK-57 *Cisco ONE Advantage Add-On Term C9300 1.00 \$0,000 \$0,000 C1-SWATCH-TRK-59 *Cisco ONE Subscription ISE BASE IS Y 25.00 \$0,000 \$0,000 C1-ISE-BLS-T *Cisco ONE Subscription SKU ISE Plus SY 25.00 \$0,0000 \$0,000 C1-ISE-BLS-T	PWR-C1-1100WAC	1100W AC Config 1 Power Supply	1.00	\$0.0000	\$0.00
C1A1TCAT93002-SY ****C1 Advantage Term C9300 48P 5Y - DNA, 25 ISE PLS, 25 SWATCH 1.00 \$4,608.5000 \$4,608.50 C1-C9300-TRK-SY ***Cisco ONE C9300 DNA Advantage 48-Port Term licenses 1.00 \$0,0000 \$0,000 C1-C930-TRK-SY ***Cisco ONE Subscription SKU 5Y 25.00 \$0,0000 \$0,000 C1-ISE-BASE-TRK-SY ***Cisco ONE Subscription ISE BASE 5Y 25.00 \$0,0000 \$0,000 C1-ISE-PLS-T ***Cisco ONE Subscription SKU ISE PIUS SY 25.00 \$0,0000 \$0,000 C1-ISE-PLS-TRK-SY ***Cisco ONE Subscription SKU ISE PIUS SY 25.00 \$0,0000 \$0,000 C1-SWATCH-TRK-SY ***Cisco ONE Subscription SWATCH SKU 5Y 25.00 \$0,0000 \$0,000 C1-SWATCH-TRK-SY **Cisco ONE Advantage Add-On Term C9300 SY - 25 ISE PLS, 25 SWATCH \$1.00 \$806,000 \$0,000 C1-ADATICAT93001-5Y **C1 Advantage Add-On Term C9300 SY - 25 ISE PLS, 25 SWATCH \$1.00 \$806,000 \$0,000 C1-ISE-PLS-TRK-SY **Cisco ONE Subscription SWATCH	PWR-C1-1100WAC/2	1100W AC Config 1 Secondary Power Supply	1.00	\$1,235.0000	\$1,235.00
C1-C9300-48-DNAA-T **Cisco ONE C9300 DNA Advantage 48-Port Term licenses 1.00 \$0.0000 \$0.00 C1-C9300-1KK-K9* **Cisco ONE Subscription SKU SY 1.00 \$0.0000 \$0.00 C1-ISSE-BASE-T **Cisco ONE Subscription ISE BASE E/F \$2.00 \$0.0000 \$0.00 C1-ISSE-PLS-TRK-SY **Cisco ONE Subscription ISE BASE E/F \$2.00 \$0.0000 \$0.00 C1-ISSE-PLS-TRK-SY **Cisco ONE Subscription SKU ISE Plus SY \$2.00 \$0.0000 \$0.00 C1-ISSE-PLS-TRK-SY **Cisco ONE Subscription SKU ISE Plus SY \$2.00 \$0.0000 \$0.00 C1-SWATCH-TRK-SY **Cisco ONE Subscription SWATCH SKU 5Y \$2.00 \$0.0000 \$0.00 C1-SWATCH-TRK-SY **Cisco ONE Advantage Add-On Term, C9300 \$1.00 \$80.0000 \$0.00 C1-ABATICAT330015** **Cisco ONE Subscription SWATCH SKU 5Y \$2.00 \$0.0000 \$80.00 C1-ISSE-BASE-T **Cisco ONE Subscription SWATCH SKU 5Y \$2.00 \$0.0000 \$0.00 C1-ISSE-BASE-TRK-5Y **Cisco ONE Subscription SWAT SWATCH SWA	C1A1TCAT93002	*Cisco ONE Advantage Term, C9300 48-port	1.00	\$0.0000	\$0.00
C1-G300-TRK-SY *Cisco ONE Subscription SKU 5Y 1.00 \$0,0000 \$0.00 C1-ISE-BASE-T *Cisco ONE Subscription ISE BASE License Term 25.00 \$0,0000 \$0.00 C1-ISE-BASE-TRK-SY *Cisco ONE Subscription SKU ISE BASE SY 25.00 \$0,0000 \$0.00 C1-ISE-PLS-TRK-SY *Cisco ONE Subscription SKU ISE Plus SY 25.00 \$0,0000 \$0.00 C1-SWATCH-TRK-SY *Cisco ONE Subscription SKU ISE Plus SY 25.00 \$0,0000 \$0.00 C1-SWATCH-TRK-SY *Cisco ONE Subscription SKU ISE Plus SY 25.00 \$0,0000 \$0.00 C1-MATICAT330001 *Cisco ONE Subscription SKU ISE Plus SY 25.00 \$0,0000 \$0.00 C1-MATICAT33001-SY *C1 Advantage Add-On Term C9300 SY - 25 ISE PLS, 25 SWATCH 1.00 \$806,000 \$0.00 C1-ISE-BASE-TRK-SY *Cisco ONE Subscription SKU ISE PLS, 25 SWATCH 1.00 \$0,0000 \$0.00 C1-ISE-PLS-TRK-SY *Cisco ONE Subscription SKU ISE PLS, 25 SWATCH 1.00 \$0,0000 \$0.00 C1-ISE-PLS-TRK-SY *Cisco ONE Subscription SKU ISE PLUS SY 25.00 \$0,0000 \$0.00 C	C1A1TCAT93002-5Y	*C1 Advantage Term C9300 48P 5Y - DNA, 25 ISE PLS, 25 SWATCH	1.00	\$4,608.5000	\$4,608.50
C1-ISE-BASE-T C1sco ONE ISE BASE License Term 25.00 \$0.000 C1-ISE-BASE-TRK-6Y C1sco ONE Subscription ISE BASE 5Y 25.00 \$0.0000 \$0.00 C1-ISE-PLS-T C1sco ONE Subscription SKU ISE PILUS License Term 25.00 \$0.0000 \$0.00 C1-ISE-PLS-TRK-6Y C1sco ONE Subscription SKU ISE PIlus SY 25.00 \$0.0000 \$0.00 C1-SWATCH-TRK-6Y C1sco ONE Subscription SKU ISE PIlus SY 25.00 \$0.0000 \$0.00 C1-SWATCH-TRK-6Y C1sco ONE Subscription SWATCH SKU 5Y 25.00 \$0.0000 \$0.00 C1-ALTICAT39301 C1sco ONE Advantage Add-On Term, C9300 1.00 \$0.000 \$0.00 C1-ALTICAT39301-5Y C1-Id-Advantage Add-On Term, C9300 OSY - 25 ISE PLS, 25 SWATCH 1.00 \$0.000 \$0.00 C1-ISE-BASE-TT C1sco ONE ISE BASE License Term 25.00 \$0.0000 \$0.00 C1-ISE-BASE-TRK-5Y C1sco ONE Subscription SKU ISE Plus SY 25.00 \$0.0000 \$0.00 C1-ISE-BASE-TRK-5Y C1sco ONE Subscription SWATCH SKU 5Y 25.00 \$0.0000 \$0.00 C1-ISE-PLS-T C1sco ONE Subscription SWA	C1-C9300-48-DNAA-T	*Cisco ONE C9300 DNA Advantage 48-Port Term licenses	1.00	\$0.0000	\$0.00
C1-ISE-BASE-TRK-5Y Cisco ONE Subscription ISE BASE 5Y 25.00 \$0.000 \$0.00 C1-ISE-PLS-TT **Cisco ONE ISE PLUS License Term 25.00 \$0.0000 \$0.000 C1-ISE-PLS-TRK-5Y **Cisco ONE Subscription SKU ISE Plus SY 25.00 \$0.0000 \$0.000 C1-SWATCH-T **Cisco ONE Subscription SKU ISE Plus SY 25.00 \$0.0000 \$0.000 C1-SWATCH-TRK-5Y **Cisco ONE Subscription SWATCH SKU SY 25.00 \$0.0000 \$0.000 C1-SWATCH-TRK-5Y **Cisco ONE Subscription SWATCH SKU SY 25.00 \$0.0000 \$0.000 C1-AA1TCAT93001-5Y **Cisco ONE Subscription SKU ISE PLS SE PLS, 25 SWATCH 1.00 \$0.0000 \$0.000 C1-ISE-BASE-T **Cisco ONE ISE BASE License Term 25.00 \$0.0000 \$0.000 C1-ISE-PLS-TRK-6Y **Cisco ONE Subscription SKU ISE Plus SY 25.00 \$0.0000 \$0.000 C1-ISE-PLS-TRK-6Y **Cisco ONE Subscription SKU ISE Plus SY 25.00 \$0.0000 \$0.000 C1-SWATCH-TRK-5Y **Cisco ONE Subscription SKU ISE Plus SY 25.00 \$0.0000 \$0.000 C1-SWATCH-TRK-5Y	C1-C9300-TRK-5Y	*Cisco ONE Subscription SKU 5Y	1.00	\$0.0000	\$0.00
C1-ISE-PLS-T **Cisco ONE ISE PLUS License Term 25.00 \$0.000 \$0.000 C1-ISE-PLS-TRK-8V **Cisco ONE Subscription SKU ISE Plus 5Y 25.00 \$0.0000 \$0.00 C1-SWATCH-TT **Cisco ONE Subscription SWATCH SKU 5Y 25.00 \$0.0000 \$0.00 C1-SWATCH-TRK-8V **Cisco ONE Advantage Add-On Term, C9300 1.00 \$0.0000 \$0.00 C1-MATCAT93001-9Y **C1 Advantage Add-On Term, C9300 5Y - 25 ISE PLS, 25 SWATCH 1.00 \$806.0000 \$806.00 C1-ISE-BASE-T **Cisco ONE ISE BASE License Term 25.00 \$0.0000 \$0.00 C1-ISE-BASE-TRK-8Y **Cisco ONE ISE BASE SES 5Y 25.00 \$0.0000 \$0.00 C1-ISE-PLS-TRK-8Y **Cisco ONE Subscription SKU ISE Plus 5Y 25.00 \$0.0000 \$0.00 C1-ISE-PLS-TRK-8Y **Cisco ONE Subscription SWATCH SKU 5Y 25.00 \$0.0000 \$0.00 C1-SWATCH-TRK-8Y **Cisco ONE Subscription SWATCH SKU 5Y 25.00 \$0.0000 \$0.00 C1-SWATCH-TRK-8Y **Cisco ONE Subscription SWATCH SKU 5Y 25.00 \$0.0000 \$0.00 C1-SWATCH-TRK-8Y **Ci	C1-ISE-BASE-T	*Cisco ONE ISE BASE License Term	25.00	\$0.0000	\$0.00
C1-ISE-PLS-TRK-SY ***Oisco* ONE Subscription SKU ISE Plus SY 25.00 \$0.000 \$0.00 C1-SWATCH-TY ***Cisco* ONE StealthWatch License Term -1 Flow License 25.00 \$0.000 \$0.00 C1-SWATCH-TRK-SY ***Cisco* ONE Subscription SWATCH SKU SY 25.00 \$0.0000 \$0.00 C1-ANATCAT93001-57 ***C1 Advantage Add-On Term C9300 57 - 25 ISE PLS, 25 SWATCH 1.00 \$806.000 \$806.00 C1-ISE-BASE-T ***Cisco* ONE ISE BASE License Term 25.00 \$0.0000 \$0.000 C1-ISE-BASE-TRK-SY ***Cisco* ONE Subscription ISE BASE SY 25.00 \$0.0000 \$0.00 C1-ISE-PLS-T ***Cisco* ONE Subscription SKU ISE Plus 5Y 25.00 \$0.0000 \$0.00 C1-ISE-PLS-TRK-SY ***Cisco* ONE Subscription SWATCH SKU 5Y 25.00 \$0.0000 \$0.00 C1-ISE-PLS-TRK-SY ***Cisco* ONE Subscription SWATCH SKU 5Y 25.00 \$0.0000 \$0.00 C1-ISE-PLS-TRK-SY ***Cisco* ONE Subscription SWATCH SKU 5Y 25.00 \$0.0000 \$0.00 C1-ISE-PLS-TRK-SY ***Cisco* ONE Subscription SWATCH SKU 5Y 25.00 \$0.0000 \$0.00	C1-ISE-BASE-TRK-5Y	*Cisco ONE Subscription ISE BASE 5Y	25.00	\$0.0000	\$0.00
C1-SWATCH-T *Cisco ONE Stealth/Watch License Term - 1 Flow License 25.00 \$0.0000 \$0.000 C1-SWATCH-TRK-SY *Cisco ONE Subscription SWATCH SKU 5Y 25.00 \$0.0000 \$0.000 C1-AATTCAT930011 *Cisco ONE Advantage Add-On Term, C9300 SY - 25 ISE PLS, 25 SWATCH 1.00 \$0.0000 \$0.000 C1-AATTCAT93001-57 *C1 Advantage Add-On Term C9300 SY - 25 ISE PLS, 25 SWATCH 1.00 \$0.0000 \$0.000 C1-ISE-BASE-T *Cisco ONE ISE BASE License Term 25.00 \$0.0000 \$0.000 C1-ISE-BASE-TRK-SY *Cisco ONE Subscription ISE BASE SY 25.00 \$0.0000 \$0.000 C1-ISE-PLS-TRK-SY *Cisco ONE Subscription SVAI U ISE Plus 5Y 25.00 \$0.0000 \$0.00 C1-SWATCH-T *Cisco ONE Subscription SWATCH SKU SY 25.00 \$0.0000 \$0.00 C1-SWATCH-TRK-5Y *Cisco ONE Subscription SWATCH SKU SY 25.00 \$0.0000 \$0.00 C1-SWATCH-TRK-5Y *Cisco ONE Subscription SWATCH SKU SY 25.00 \$0.0000 \$0.00 C1-SWATCH-TRK-5Y *Cisco ONE Subscription SWATCH SKU SY 25.00 \$0.0000 \$0.00	C1-ISE-PLS-T	*Cisco ONE ISE PLUS License Term	25.00	\$0.0000	\$0.00
C1-SWATCH-TRK-5Y *Cisco ONE Subscription SWATCH SKU 5Y 25.00 \$0.000 \$0.000 C1AA1TCAT93001 *Cisco ONE Advantage Add-On Term, C9300 1.00 \$0.000 \$0.000 C1AA1TCAT93001-5Y *C1 Advantage Add-On Term C9300 SY - 25 ISE PLS, 25 SWATCH 1.00 \$806.000 \$0.000 C1-ISE-BASE-T *Cisco ONE ISE BASE License Term 25.00 \$0.0000 \$0.00 C1-ISE-PLS-T *Cisco ONE Subscription ISE BASE 5Y 25.00 \$0.0000 \$0.00 C1-ISE-PLS-TRK-5Y *Cisco ONE Subscription SKU ISE Plus 5Y 25.00 \$0.0000 \$0.00 C1-SWATCH-T *Cisco ONE Stealth/Watch License Term - 1 Flow License 25.00 \$0.0000 \$0.00 C1-SWATCH-TRK-5Y *Cisco ONE Stealth/Watch License Term - 1 Flow License 25.00 \$0.0000 \$0.00 C1-SWATCH-TRK-5Y *Cisco ONE Stealth/Watch License Term - 1 Flow License 25.00 \$0.0000 \$0.00 C1-SWATCH-TRK-5Y *Cisco ONE Stealth/Watch License Term - 1 Flow License 25.00 \$0.0000 \$0.00 C1-SWATCH-TRK-5Y *Cisco ONE Stealth/Watch License Term - 1 Flow License 10.00 \$0.0000 \$0.00	C1-ISE-PLS-TRK-5Y	*Cisco ONE Subscription SKU ISE Plus 5Y	25.00	\$0.0000	\$0.00
C1AA1TCAT93001 **Cisco ONE Advantage Add-On Term, C9300 1.00 \$0.000 \$0.000 C1AA1TCAT93001-57 **C1 Advantage Add-On Term C9300 SY - 25 ISE PLS, 25 SWATCH 1.00 \$806.000 \$806.00 C1-ISE-BASE-TRK-57 **Cisco ONE ISE BASE License Term 25.00 \$0.0000 \$0.000 C1-ISE-BASE-TRK-57 **Cisco ONE Subscription ISE BASE SY 25.00 \$0.0000 \$0.000 C1-ISE-PLS-T **Cisco ONE Subscription SKU ISE Plus 5Y 25.00 \$0.0000 \$0.00 C1-ISE-PLS-TRK-57 **Cisco ONE Subscription SWATCH SKU 5Y 25.00 \$0.0000 \$0.00 C1-ISE-PLS-TRK-57 **Cisco ONE Subscription SWATCH SKU 5Y 25.00 \$0.0000 \$0.00 C1-SWATCH-TRK-57 **Cisco ONE Subscription SWATCH SKU 5Y 25.00 \$0.0000 \$0.00 C1-SWATCH-TRK-57 **Cisco ONE Subscription SWATCH SKU 5Y 25.00 \$0.0000 \$0.00 C3-300-NIA-1066 **CAT9300 Universal image 1.00 \$0.0000 \$0.00 C3-300-NIA-NA No Network Module Selected 1.00 \$0.0000 \$0.00 C9300-STACK-NONE No Stack Power Cab	C1-SWATCH-T	*Cisco ONE StealthWatch License Term - 1 Flow License	25.00	\$0.0000	\$0.00
C1AA1TCAT93001-57 *C1 Advantage Add-On Term C9300 5Y - 25 ISE PLS, 25 SWATCH 1.00 \$806.000 \$806.00 C1-ISE-BASE-T *Cisco ONE ISE BASE License Term 25.00 \$0.0000 \$0.00 C1-ISE-BASE-TRK-57 *Cisco ONE Subscription ISE BASE 5Y 25.00 \$0.0000 \$0.00 C1-ISE-PLS-T *Cisco ONE ISE PLUS License Term 25.00 \$0.0000 \$0.00 C1-ISE-PLS-TRK-57 *Cisco ONE Subscription SKU ISE Plus 5Y 25.00 \$0.0000 \$0.00 C1-SWATCH-T *Cisco ONE Subscription SWATCH SKU 5Y 25.00 \$0.0000 \$0.00 C1-SWATCH-TRK-57 *Cisco ONE Subscription SWATCH SKU 5Y 25.00 \$0.0000 \$0.00 C9300-WR9-166 *CAT9300 Universal image 1.00 \$0.0000 \$0.00 C9300-NM-NONE No Network Module Selected 1.00 \$0.0000 \$0.00 C9300-SPWR-NONE No Stack Cable Selected 1.00 \$0.0000 \$0.00 C9300-SPWR-NONE Cisco Catalyst Type 1 Network Module Blank 1.00 \$0.0000 \$0.00 C9300-SPWR-NONE Cisco Catalyst Type 1 Network Module Blank 1	C1-SWATCH-TRK-5Y	*Cisco ONE Subscription SWATCH SKU 5Y	25.00	\$0.0000	\$0.00
C1-ISE-BASE-T *Cisco ONE ISE BASE License Term 25.00 \$0.0000 \$0.000 C1-ISE-BASE-TRK-5Y *Cisco ONE Subscription ISE BASE 5Y 25.00 \$0.0000 \$0.00 C1-ISE-PLS-TT *Cisco ONE ISE PLUS License Term 25.00 \$0.0000 \$0.00 C1-ISE-PLS-TRK-5Y *Cisco ONE Subscription SKU ISE Plus SY 25.00 \$0.0000 \$0.00 C1-SWATCH-T *Cisco ONE Subscription SWATCH SKU 5Y 25.00 \$0.0000 \$0.00 C1-SWATCH-TRK-5Y *Cisco ONE Subscription SWATCH SKU 5Y 25.00 \$0.0000 \$0.00 C39300USP-166 *CAT9300 Universal image 1.00 \$0.0000 \$0.00 C3930U-NM-NONE North America AC Type A Power Cable 2.00 \$0.0000 \$0.00 C9300-NM-NONE No Stack Cable Selected 1.00 \$0.0000 \$0.00 C9300-SPWR-NONE No Stack Power Cable Selected 1.00 \$0.0000 \$0.00 NM-BLANK-T1 Cisco Catalyst Type 1 Network Module Blank 1.00 \$0.0000 \$0.00 C1-CISCO4321/K9 Cisco ONE ISR 4321 (2GE,2NIM,4G FLASH,4G DRAM,IPB) 5.0	C1AA1TCAT93001	*Cisco ONE Advantage Add-On Term, C9300	1.00	\$0.0000	\$0.00
C1-ISE-BASE-TRK-5Y *Cisco ONE Subscription ISE BASE 5Y 25.00 \$0.0000 \$0.00 C1-ISE-PLS-T *Cisco ONE ISE PLUS License Term 25.00 \$0.0000 \$0.00 C1-ISE-PLS-TRK-6Y *Cisco ONE Subscription SKU ISE Plus 5Y 25.00 \$0.0000 \$0.00 C1-SWATCH-T *Cisco ONE StealthWatch License Term - 1 Flow License 25.00 \$0.0000 \$0.00 C1-SWATCH-TRK-6Y *Cisco ONE Subscription SWATCH SKU 5Y 25.00 \$0.0000 \$0.00 S93000LW9-166 *CAT9300 Universal image 1.00 \$0.0000 \$0.00 CAB-TA-NA North America AC Type A Power Cable 2.00 \$0.0000 \$0.00 C9300-NM-NONE No Stack Cable Selected 1.00 \$0.0000 \$0.00 C9300-STACK-NONE No Stack Cable Selected 1.00 \$0.0000 \$0.00 C9300-SPWR-NONE No Stack Power Cable Selected 1.00 \$0.0000 \$0.00 NM-BLANK-T1 Cisco Catalyst Type 1 Network Module Blank 1.00 \$0.0000 \$0.00 C0N-SNT-C14321/K9 Cisco ONE ISR 4321 (2GE,2NIM,4G FLASH,4G DRAM,IPB) 5.0	C1AA1TCAT93001-5Y	*C1 Advantage Add-On Term C9300 5Y - 25 ISE PLS, 25 SWATCH	1.00	\$806.0000	\$806.00
C1-ISE-PLS-T *Cisco ONE ISE PLUS License Term 25.00 \$0.0000 \$0.000 C1-ISE-PLS-TRK-5Y *Cisco ONE Subscription SKU ISE Plus 5Y 25.00 \$0.0000 \$0.000 C1-SWATCH-T *Cisco ONE StealthWatch License Term - 1 Flow License 25.00 \$0.0000 \$0.000 C1-SWATCH-TRK-5Y *Cisco ONE Subscription SWATCH SKU 5Y 25.00 \$0.0000 \$0.00 S93000H9-166 *CAT9300 Universal image 1.00 \$0.0000 \$0.000 CAB-TA-NA North America AC Type A Power Cable 2.00 \$0.0000 \$0.000 C9300-NM-NONE No Network Module Selected 1.00 \$0.0000 \$0.000 C9300-STACK-NONE No Stack Cable Selected 1.00 \$0.0000 \$0.000 C9300-SPWR-NONE No Stack Power Cable Selected 1.00 \$0.0000 \$0.000 NM-BLANK-T1 Cisco Catalyst Type 1 Network Module Blank 1.00 \$0.0000 \$0.000 C1-CISCO4321/K9 Cisco ONE ISR 4321 (2GE,2NIM,4G FLASH,4G DRAM,IPB) 1.00 \$0.0000 \$0.000 C0-SNT-C14321K9 *SNTC-8X5XNBD C1 ISR 4321 (2GE,2NIM,4G FLASH,4G DRAM,IPB)	C1-ISE-BASE-T	*Cisco ONE ISE BASE License Term	25.00	\$0.0000	\$0.00
C1-ISE-PLS-TRK-5Y *Cisco ONE Subscription SKU ISE Plus 5Y 25.00 \$0.0000 \$0.00 C1-SWATCH-T *Cisco ONE StealthWatch License Term - 1 Flow License 25.00 \$0.0000 \$0.00 C1-SWATCH-TRK-5Y *Cisco ONE Subscription SWATCH SKU 5Y 25.00 \$0.0000 \$0.00 S9300UK9-166 *CAT9300 Universal image 1.00 \$0.0000 \$0.00 CAB-TA-NA North America AC Type A Power Cable 2.00 \$0.0000 \$0.00 C9300-NM-NONE No Network Module Selected 1.00 \$0.0000 \$0.00 C9300-SPWR-NONE No Stack Cable Selected 1.00 \$0.0000 \$0.00 C9300-SPWR-NONE No Stack Power Cable Selected 1.00 \$0.0000 \$0.00 NM-BLANK-T1 Cisco Catalyst Type 1 Network Module Blank 1.00 \$0.0000 \$0.00 C1-CISCO4321/K9 Cisco ONE ISR 4321 (2GE,2NIM,4G FLASH,4G DRAM,IPB) 5.00 \$0.0000 \$1.296.75 C0N-SNT-C14321K9 Cisco ONE Promo LIC Akamai Connect for 200 connection WAAS 1.00 \$0.0000 \$0.00 S1-4320-IPB-K9 IP Base License for Cisco ISR 4320 Series </td <td>C1-ISE-BASE-TRK-5Y</td> <td>*Cisco ONE Subscription ISE BASE 5Y</td> <td>25.00</td> <td>\$0.0000</td> <td>\$0.00</td>	C1-ISE-BASE-TRK-5Y	*Cisco ONE Subscription ISE BASE 5Y	25.00	\$0.0000	\$0.00
C1-SWATCH-TT *Cisco ONE StealthWatch License Term - 1 Flow License	C1-ISE-PLS-T	*Cisco ONE ISE PLUS License Term	25.00	\$0.0000	\$0.00
C1-SWATCH-TRK-5Y *Cisco ONE Subscription SWATCH SKU 5Y 25.00 \$0.0000 \$0.000 S9300UK9-166 *CAT9300 Universal image 1.00 \$0.0000 \$0.000 CAB-TA-NA North America AC Type A Power Cable 2.00 \$0.0000 \$0.000 C9300-NM-NONE No Network Module Selected 1.00 \$0.0000 \$0.000 C9300-SPWR-NONE No Stack Cable Selected 1.00 \$0.0000 \$0.000 NM-BLANK-T1 Cisco Catalyst Type 1 Network Module Blank 1.00 \$0.0000 \$0.000 NM-BLANK-T1 Cisco ONE ISR 4321 (2GE,2NIM,4G FLASH,4G DRAM,IPB) 1.00 \$1,296.750 \$1,296.75 CON-SNT-C14321K9 *SNTC-8X5XNBD C1 ISR 4321 (2GE,2NIM,4G FLASH) 5.00 \$0.0000 \$0.00 CON-SNT-C14321K9 *SNTC-8X5XNBD C1 ISR 4321 (2GE,2NIM,4G FLASH) 5.00 \$0.0000 \$0.00 C1-SL-200-AKC Cisco ONE Promo LIC Akamai Connect for 200 connection WAAS 1.00 \$0.0000 \$0.00 SL-4320-IPB-K9 IP Base License for Cisco ISR 4320 Series 1.00 \$0.0000 \$0.00 CAB-AC-C5 AC Power Cord, Type C5, US, Canada<	C1-ISE-PLS-TRK-5Y	*Cisco ONE Subscription SKU ISE Plus 5Y	25.00	\$0.0000	\$0.00
S9300UK9-166 *CAT9300 Universal image 1.00 \$0.0000 \$0.00 CAB-TA-NA North America AC Type A Power Cable 2.00 \$0.0000 \$0.00 C9300-NM-NONE No Network Module Selected 1.00 \$0.0000 \$0.00 C9300-STACK-NONE No Stack Cable Selected 1.00 \$0.0000 \$0.00 C9300-SPWR-NONE No Stack Power Cable Selected 1.00 \$0.0000 \$0.00 NM-BLANK-T1 Cisco Catalyst Type 1 Network Module Blank 1.00 \$0.0000 \$0.00 Animal Care Facility Cisco ONE ISR 4321 (2GE,2NIM,4G FLASH,4G DRAM,IPB) 1.00 \$1,296.750 \$1,296.75 CON-SNT-C14321K9 *SNTC-8X5XNBD C1 ISR 4321 (2GE,2NIM,4G FLASH) 5.00 \$0.0000 \$0.00 C1-SL-200-AKC Cisco ONE Promo LIC Akamai Connect for 200 connection WAAS 1.00 \$0.0000 \$0.00 SL-4320-IPB-K9 IP Base License for Cisco ISR 4320 Series 1.00 \$0.0000 \$0.00 CAB-AC-C5 AC Power Supply for Cisco ISR 4320 1.00 \$0.0000 \$0.00 MEM-4320-4GU8G 4G to 8G DRAM Upgrade (Fixed 4G + additional 4G) for I	C1-SWATCH-T	*Cisco ONE StealthWatch License Term - 1 Flow License	25.00	\$0.0000	\$0.00
CAB-TA-NA North America AC Type A Power Cable 2.00 \$0.0000 \$0.000 C9300-NM-NONE No Network Module Selected 1.00 \$0.0000 \$0.000 C9300-STACK-NONE No Stack Cable Selected 1.00 \$0.0000 \$0.000 C9300-SPWR-NONE No Stack Power Cable Selected 1.00 \$0.0000 \$0.000 NM-BLANK-T1 Cisco Catalyst Type 1 Network Module Blank 1.00 \$0.0000 \$0.000 Animal Care Facility Cisco ONE ISR 4321 (2GE,2NIM,4G FLASH,4G DRAM,IPB) 1.00 \$1,296.7500 \$1,296.75 CON-SNT-C14321K9 *SNTC-8X5XNBD C1 ISR 4321 (2GE,2NIM,4G FLASH) 5.00 \$0.0000 \$0.000 C1-SL-200-AKC Cisco ONE Promo LIC Akamai Connect for 200 connection WAAS 1.00 \$0.0000 \$0.00 SL-4320-IPB-K9 IP Base License for Cisco ISR 4320 Series 1.00 \$0.0000 \$0.00 PWR-4320-AC AC Power Supply for Cisco ISR 4320 1.00 \$0.0000 \$0.00 CAB-AC-C5 AC Power Cord, Type C5, US, Canada 1.00 \$0.0000 \$0.00 MEM-4320-4GU8G 4G to 8G DRAM Upgrade (Fixed 4G + addi	C1-SWATCH-TRK-5Y	*Cisco ONE Subscription SWATCH SKU 5Y	25.00	\$0.0000	\$0.00
C9300-NM-NONE No Network Module Selected 1.00 \$0.0000 \$0.000 C9300-STACK-NONE No Stack Cable Selected 1.00 \$0.0000 \$0.000 C9300-SPWR-NONE No Stack Power Cable Selected 1.00 \$0.0000 \$0.000 NM-BLANK-T1 Cisco Catalyst Type 1 Network Module Blank 1.00 \$0.0000 \$0.000 Animal Care Facility C1-CISCO4321/K9 Cisco ONE ISR 4321 (2GE,2NIM,4G FLASH,4G DRAM,IPB) 1.00 \$1,296.7500 \$1,296.75 CON-SNT-C14321K9 *SNTC-8X5XNBD C1 ISR 4321 (2GE,2NIM,4G FLASH) 5.00 \$0.0000 \$0.000 C1-SL-200-AKC Cisco ONE Promo LIC Akamai Connect for 200 connection WAAS 1.00 \$0.0000 \$0.000 SL-4320-IPB-K9 IP Base License for Cisco ISR 4320 Series 1.00 \$0.0000 \$0.000 PWR-4320-AC AC Power Supply for Cisco ISR 4320 1.00 \$0.0000 \$0.000 CAB-AC-C5 AC Power Cord, Type C5, US, Canada 1.00 \$0.0000 \$0.000 MEM-4320-4GU8G 4G to 8G DRAM Upgrade (Fixed 4G + additional 4G) for ISR4320 1.00 \$0.0000 \$0.000	S9300UK9-166	*CAT9300 Universal image	1.00	\$0.0000	\$0.00
C9300-STACK-NONE No Stack Cable Selected 1.00 \$0.0000 \$0.000	CAB-TA-NA	North America AC Type A Power Cable	2.00	\$0.0000	\$0.00
No Stack Power Cable Selected 1.00 \$0.0000 \$0.000	C9300-NM-NONE	No Network Module Selected	1.00	\$0.0000	\$0.00
NM-BLANK-T1 Cisco Catalyst Type 1 Network Module Blank 1.00 \$0.000 \$0.000 Animal Care Facility C1-CISCO4321/K9 Cisco ONE ISR 4321 (2GE,2NIM,4G FLASH,4G DRAM,IPB) 1.00 \$1,296.750 \$1,296.75 C0N-SNT-C14321K9 *SNTC-8X5XNBD C1 ISR 4321 (2GE,2NIM,4G FLASH) 5.00 \$0.000 \$0.000 60 Month Service Duration 60 Month Service Duration 1.00 \$0.000 \$0.00 SL-4320-IPB-K9 IP Base License for Cisco ISR 4320 Series 1.00 \$0.000 \$0.00 PWR-4320-AC AC Power Supply for Cisco ISR 4320 1.00 \$0.000 \$0.00 CAB-AC-C5 AC Power Cord, Type C5, US, Canada 1.00 \$0.000 \$0.00 MEM-4320-4GU8G 4G to 8G DRAM Upgrade (Fixed 4G + additional 4G) for ISR4320 1.00 \$0.000 \$0.00 NIM-BLANK Blank faceplate for NIM slot on Cisco ISR 4430 1.00 \$0.0000 \$0.00 MEM-FLSH-8G 8G eUSB Flash Memory for Cisco ISR 4430 1.00 \$0.0000 \$0.000	C9300-STACK-NONE	No Stack Cable Selected	1.00	\$0.0000	\$0.00
C1-CISCO4321/K9 Cisco ONE ISR 4321 (2GE,2NIM,4G FLASH,4G DRAM,IPB) 1.00 \$1,296.7500 \$1,296.75	C9300-SPWR-NONE	No Stack Power Cable Selected	1.00	\$0.0000	\$0.00
C1-CISCO4321/K9 Cisco ONE ISR 4321 (2GE,2NIM,4G FLASH,4G DRAM,IPB) 1.00 \$1,296.7500 \$1,296.7500 CON-SNT-C14321K9 *SNTC-8X5XNBD C1 ISR 4321 (2GE,2NIM,4G FLASH) 5.00 \$0.0000 \$0.000 C1-SL-200-AKC Cisco ONE Promo LIC Akamai Connect for 200 connection WAAS 1.00 \$0.0000 \$0.000 SL-4320-IPB-K9 IP Base License for Cisco ISR 4320 Series 1.00 \$0.0000 \$0.000 PWR-4320-AC AC Power Supply for Cisco ISR 4320 1.00 \$0.0000 \$0.000 CAB-AC-C5 AC Power Cord, Type C5, US, Canada 1.00 \$0.0000 \$0.00 MEM-4320-4GU8G 4G to 8G DRAM Upgrade (Fixed 4G + additional 4G) for ISR4320 1.00 \$0.0000 \$0.00 NIM-BLANK Blank faceplate for NIM slot on Cisco ISR 4400 1.00 \$0.0000 \$0.00 MEM-FLSH-8G 8G eUSB Flash Memory for Cisco ISR 4430 1.00 \$0.0000 \$0.000	NM-BLANK-T1	Cisco Catalyst Type 1 Network Module Blank	1.00	\$0.0000	\$0.00
CON-SNT-C14321K9 *SNTC-8X5XNBD C1 ISR 4321 (2GE,2NIM,4G FLASH) 5.00 \$0.0000 \$0.000 C1-SL-200-AKC Cisco ONE Promo LIC Akamai Connect for 200 connection WAAS 1.00 \$0.0000 \$0.000 SL-4320-IPB-K9 IP Base License for Cisco ISR 4320 Series 1.00 \$0.0000 \$0.000 PWR-4320-AC AC Power Supply for Cisco ISR 4320 1.00 \$0.0000 \$0.000 CAB-AC-C5 AC Power Cord, Type C5, US, Canada 1.00 \$0.0000 \$0.000 MEM-4320-4GU8G 4G to 8G DRAM Upgrade (Fixed 4G + additional 4G) for ISR4320 1.00 \$0.0000 \$0.000 NIM-BLANK Blank faceplate for NIM slot on Cisco ISR 4400 1.00 \$0.0000 \$0.000 MEM-FLSH-8G 8G eUSB Flash Memory for Cisco ISR 4430 1.00 \$0.0000 \$0.000		Animal Care Facility			
60 Month Service Duration C1-SL-200-AKC Cisco ONE Promo LIC Akamai Connect for 200 connection WAAS 1.00 \$0.0000 \$0.000 SL-4320-IPB-K9 IP Base License for Cisco ISR 4320 Series 1.00 \$0.0000 \$0.000 PWR-4320-AC AC Power Supply for Cisco ISR 4320 1.00 \$0.0000 \$0.000 CAB-AC-C5 AC Power Cord, Type C5, US, Canada 1.00 \$0.0000 \$0.000 MEM-4320-4GU8G 4G to 8G DRAM Upgrade (Fixed 4G + additional 4G) for ISR4320 1.00 \$0.0000 \$0.000 NIM-BLANK Blank faceplate for NIM slot on Cisco ISR 4400 1.00 \$0.0000 \$0.000 MEM-FLSH-8G 8G eUSB Flash Memory for Cisco ISR 4430 1.00 \$0.0000 \$0.000	C1-CISCO4321/K9	Cisco ONE ISR 4321 (2GE,2NIM,4G FLASH,4G DRAM,IPB)	1.00	\$1,296.7500	\$1,296.75
C1-SL-200-AKC Cisco ONE Promo LIC Akamai Connect for 200 connection WAAS 1.00 \$0.0000 \$0.000 SL-4320-IPB-K9 IP Base License for Cisco ISR 4320 Series 1.00 \$0.0000 \$0.000 PWR-4320-AC AC Power Supply for Cisco ISR 4320 1.00 \$0.0000 \$0.000 CAB-AC-C5 AC Power Cord, Type C5, US, Canada 1.00 \$0.0000 \$0.000 MEM-4320-4GU8G 4G to 8G DRAM Upgrade (Fixed 4G + additional 4G) for ISR4320 1.00 \$0.0000 \$0.000 NIM-BLANK Blank faceplate for NIM slot on Cisco ISR 4400 1.00 \$0.0000 \$0.000 MEM-FLSH-8G 8G eUSB Flash Memory for Cisco ISR 4430 1.00 \$0.0000 \$0.000	CON-SNT-C14321K9	*SNTC-8X5XNBD C1 ISR 4321 (2GE,2NIM,4G FLASH)	5.00	\$0.0000	\$0.00
SL-4320-IPB-K9 IP Base License for Cisco ISR 4320 Series 1.00 \$0.0000 \$0.000 PWR-4320-AC AC Power Supply for Cisco ISR 4320 1.00 \$0.0000 \$0.000 CAB-AC-C5 AC Power Cord, Type C5, US, Canada 1.00 \$0.0000 \$0.000 MEM-4320-4GU8G 4G to 8G DRAM Upgrade (Fixed 4G + additional 4G) for ISR4320 1.00 \$0.0000 \$0.000 NIM-BLANK Blank faceplate for NIM slot on Cisco ISR 4400 1.00 \$0.0000 \$0.000 MEM-FLSH-8G 8G eUSB Flash Memory for Cisco ISR 4430 1.00 \$0.0000 \$0.000		60 Month Service Duration			
PWR-4320-AC AC Power Supply for Cisco ISR 4320 1.00 \$0.0000 \$0.000 CAB-AC-C5 AC Power Cord, Type C5, US, Canada 1.00 \$0.0000 \$0.000 MEM-4320-4GU8G 4G to 8G DRAM Upgrade (Fixed 4G + additional 4G) for ISR4320 1.00 \$0.0000 \$0.000 NIM-BLANK Blank faceplate for NIM slot on Cisco ISR 4400 1.00 \$0.0000 \$0.000 MEM-FLSH-8G 8G eUSB Flash Memory for Cisco ISR 4430 1.00 \$0.0000 \$0.000	C1-SL-200-AKC	Cisco ONE Promo LIC Akamai Connect for 200 connection WAAS	1.00	\$0.0000	\$0.00
CAB-AC-C5 AC Power Cord, Type C5, US, Canada 1.00 \$0.0000 \$0.000 MEM-4320-4GU8G 4G to 8G DRAM Upgrade (Fixed 4G + additional 4G) for ISR4320 1.00 \$0.0000 \$0.000 NIM-BLANK Blank faceplate for NIM slot on Cisco ISR 4400 1.00 \$0.0000 \$0.000 MEM-FLSH-8G 8G eUSB Flash Memory for Cisco ISR 4430 1.00 \$0.0000 \$0.000	SL-4320-IPB-K9	IP Base License for Cisco ISR 4320 Series	1.00	\$0.0000	\$0.00
MEM-4320-4GU8G 4G to 8G DRAM Upgrade (Fixed 4G + additional 4G) for ISR4320 1.00 \$0.0000 \$0.000 NIM-BLANK Blank faceplate for NIM slot on Cisco ISR 4400 1.00 \$0.0000 \$0.000 MEM-FLSH-8G 8G eUSB Flash Memory for Cisco ISR 4430 1.00 \$0.0000 \$0.000	PWR-4320-AC	AC Power Supply for Cisco ISR 4320	1.00	\$0.0000	\$0.00
NIM-BLANK Blank faceplate for NIM slot on Cisco ISR 4400 1.00 \$0.0000 MEM-FLSH-8G 8G eUSB Flash Memory for Cisco ISR 4430 1.00 \$0.0000	CAB-AC-C5	AC Power Cord, Type C5, US, Canada	1.00	\$0.0000	\$0.00
MEM-FLSH-8G 8G eUSB Flash Memory for Cisco ISR 4430 1.00 \$0.0000 \$0.00	MEM-4320-4GU8G	4G to 8G DRAM Upgrade (Fixed 4G + additional 4G) for ISR4320	1.00	\$0.0000	\$0.00
	NIM-BLANK	Blank faceplate for NIM slot on Cisco ISR 4400	1.00	\$0.0000	\$0.00
C1F1PISR4320SK9 Cisco ONE Foundation Perpetual License ISR 4321 1.00 \$1,202.5000 \$1,202.500	MEM-FLSH-8G	8G eUSB Flash Memory for Cisco ISR 4430	1.00	\$0.0000	\$0.00
	C1F1PISR4320SK9	Cisco ONE Foundation Perpetual License ISR 4321	1.00	\$1,202.5000	\$1,202.50



BILL TO:	JOB LOCATION:	
COMPANY Chula Vista, City of	COMPANY City of Chula Vista	DATE December 6,2017
ADDRESS 276 Fourth Ave	ADDRESS 276 Fourth Ave	EXPIRY DATE January 5,2018
		SALES REP. MATTHEW ROBBART
Chula Vista, CA 91910	Chula Vista, CA 91910	PHONE. (909)257-2733 EXT
CONTACT Gary Halbert	CONTACT	EMAIL. mrobbart@nicpartnersinc.com
PHONE	PHONE	
TITI C.		

TITLE:

PART#	DESCRIPTION	QTY	UNIT PRICE	TOTAL PRICE
CON-ECMU-C1F4320S	*SWSS UPGRADES C1 Foundation Perpetual Lic ISR 4321	5.00	\$0.0000	\$0.00
	60 Month Service Duration			
SL-4320-SEC-K9	Security License for Cisco ISR 4320 Series	1.00	\$0.0000	\$0.00
SL-4320-APP-K9	AppX License for Cisco ISR 4320 Series	1.00	\$0.0000	\$0.00
ISRWAAS-200-RTU	ISRWAAS software 200 conns for ISR4300 series	1.00	\$0.0000	\$0.00
CON-ECMU-ISRW200	SWSS UPGRADES ISRWAAS software 200 conns for ISR4300 s 60 Month Service Duration	1.00	\$0.0000	\$0.00
C1-PI-LFAS-ISR-K9	Cisco ONE PI Device License for LF, AS, & IWAN App for ISR	1.00	\$0.0000	\$0.00
C1-LIC-VCM-1N	*Cisco ONE Promo license to manage one WAAS node	1.00	\$0.0000	\$0.00
C1AUPISR4320SK9	Cisco ONE Advanced UC Perpetual License ISR 4321	1.00	\$715.0000	\$715.00
CON-ECMU-C1A4320S	*SWSS UPGRADES C1 Advanced UC Perpetual Lic ISR 4321 60 Month Service Duration	5.00	\$0.0000	\$0.00
SL-4320-UC-K9	Unified Communication License for Cisco ISR 4320 Series	1.00	\$0.0000	\$0.00
FL-CME-SRST-25	SRST-25 Seat License (CME uses CUCME Phone License ONLY)	1.00	\$0.0000	\$0.00
FL-CUBEE-5	Unified Border Element Enterprise License - 5 sessions	2.00	\$0.0000	\$0.00
SISR4300UK9-316S	Cisco ISR 4300 Series IOS XE Universal	1.00	\$0.0000	\$0.00
NIM-2FXS/4FXO	2-Port FXS/FXS-E/DID and 4-Port FXO Network Interface Module	1.00	\$910.0000	\$910.00
C1A1VISR4320S-01	Tracker PID v01 Adv Perpetual ISR4320S - no delivery	1.00	\$0.0000	\$0.00
C1F1VISR4320S-04	Tracker PID v04 Fnd Perpetual ISR4320S - no delivery Animal Care Facility	1.00	\$0.0000	\$0.00
C9300-48U-A	Catalyst 9300 48-port UPOE, Network Advantage	1.00	\$6,831.5000	\$6,831.50
CON-SNT-C93004UA	SNTC-8X5XNBD Catalyst 9300 48-port UPOE, Network Adva 60 Month Service Duration	5.00	\$0.0000	\$0.00
C9300-NW-A-48	*C9300 Network Advantage, 48-port license	1.00	\$0.0000	\$0.00
PWR-C1-1100WAC	1100W AC Config 1 Power Supply	1.00	\$0.0000	\$0.00
PWR-C1-1100WAC/2	1100W AC Config 1 Secondary Power Supply	1.00	\$1,235.0000	\$1,235.00
C1A1TCAT93002	*Cisco ONE Advantage Term, C9300 48-port	1.00	\$0.0000	\$0.00
C1A1TCAT93002-5Y	*C1 Advantage Term C9300 48P 5Y - DNA, 25 ISE PLS, 25 SWATCH	1.00	\$4,608.5000	\$4,608.50
C1-C9300-48-DNAA-T	*Cisco ONE C9300 DNA Advantage 48-Port Term licenses	1.00	\$0.0000	\$0.00
C1-C9300-TRK-5Y	*Cisco ONE Subscription SKU 5Y	1.00	\$0.0000	\$0.00
C1-ISE-BASE-T	*Cisco ONE ISE BASE License Term	25.00	\$0.0000	\$0.00
C1-ISE-BASE-TRK-5Y	*Cisco ONE Subscription ISE BASE 5Y	25.00	\$0.0000	\$0.00
C1-ISE-PLS-T	*Cisco ONE ISE PLUS License Term	25.00	\$0.0000	\$0.00
C1-ISE-PLS-TRK-5Y	*Cisco ONE Subscription SKU ISE Plus 5Y	25.00	\$0.0000	\$0.00
C1-SWATCH-T	*Cisco ONE StealthWatch License Term - 1 Flow License	25.00	\$0.0000	\$0.00
C1-SWATCH-TRK-5Y	*Cisco ONE Subscription SWATCH SKU 5Y	25.00	\$0.0000	\$0.00
C1AA1TCAT93001	*Cisco ONE Advantage Add-On Term, C9300	1.00	\$0.0000	\$0.00
C1AA1TCAT93001-5Y	*C1 Advantage Add-On Term C9300 5Y - 25 ISE PLS, 25 SWATCH	1.00	\$806.0000	\$806.00
C1-ISE-BASE-T	*Cisco ONE ISE BASE License Term	25.00	\$0.0000	\$0.00



BILL TO:	JOB LOCATION:	
COMPANY Chula Vista, City of	COMPANY City of Chula Vista	DATE December 6,2017
ADDRESS 276 Fourth Ave	ADDRESS 276 Fourth Ave	EXPIRY DATE January 5,2018
		SALES REP. MATTHEW ROBBART
Chula Vista, CA 91910	Chula Vista, CA 91910	PHONE. (909)257-2733 EXT
CONTACT Gary Halbert	CONTACT	EMAIL. mrobbart@nicpartnersinc.com
PHONE	PHONE	
TITI C.		

TITLE:

PART#	DESCRIPTION	QTY	UNIT PRICE	TOTAL PRICE
C1-ISE-BASE-TRK-5Y	*Cisco ONE Subscription ISE BASE 5Y	25.00	\$0.0000	\$0.00
C1-ISE-PLS-T	*Cisco ONE ISE PLUS License Term	25.00	\$0.0000	\$0.00
C1-ISE-PLS-TRK-5Y	*Cisco ONE Subscription SKU ISE Plus 5Y	25.00	\$0.0000	\$0.00
C1-SWATCH-T	*Cisco ONE StealthWatch License Term - 1 Flow License	25.00	\$0.0000	\$0.00
C1-SWATCH-TRK-5Y	*Cisco ONE Subscription SWATCH SKU 5Y	25.00	\$0.0000	\$0.00
S9300UK9-166	*CAT9300 Universal image	1.00	\$0.0000	\$0.00
CAB-TA-NA	North America AC Type A Power Cable	2.00	\$0.0000	\$0.00
C9300-STACK-NONE	No Stack Cable Selected	1.00	\$0.0000	\$0.00
C9300-NM-NONE	No Network Module Selected	1.00	\$0.0000	\$0.00
C9300-SPWR-NONE	No Stack Power Cable Selected	1.00	\$0.0000	\$0.00
NM-BLANK-T1	Cisco Catalyst Type 1 Network Module Blank	1.00	\$0.0000	\$0.00
	Recreation Centers			
C1-CISCO4321/K9	Cisco ONE ISR 4321 (2GE,2NIM,4G FLASH,4G DRAM,IPB)	9.00	\$1,296.7500	\$11,670.75
CON-SNT-C14321K9	*SNTC-8X5XNBD C1 ISR 4321 (2GE,2NIM,4G FLASH)	45.00	\$0.0000	\$0.00
	60 Month Service Duration			
C1-SL-200-AKC	Cisco ONE Promo LIC Akamai Connect for 200 connection WAAS	9.00	\$0.0000	\$0.00
SL-4320-IPB-K9	IP Base License for Cisco ISR 4320 Series	9.00	\$0.0000	\$0.00
PWR-4320-AC	AC Power Supply for Cisco ISR 4320	9.00	\$0.0000	\$0.00
CAB-AC-C5	AC Power Cord, Type C5, US, Canada	9.00	\$0.0000	\$0.00
MEM-4320-4GU8G	4G to 8G DRAM Upgrade (Fixed 4G + additional 4G) for ISR4320	9.00	\$0.0000	\$0.00
NIM-BLANK	Blank faceplate for NIM slot on Cisco ISR 4400	9.00	\$0.0000	\$0.00
MEM-FLSH-8G	8G eUSB Flash Memory for Cisco ISR 4430	9.00	\$0.0000	\$0.00
C1F1PISR4320SK9	Cisco ONE Foundation Perpetual License ISR 4321	9.00	\$1,202.5000	\$10,822.50
CON-ECMU-C1F4320S	*SWSS UPGRADES C1 Foundation Perpetual Lic ISR 4321 60 Month Service Duration	45.00	\$0.0000	\$0.00
SL-4320-SEC-K9	Security License for Cisco ISR 4320 Series	9.00	\$0.0000	\$0.00
SL-4320-APP-K9	AppX License for Cisco ISR 4320 Series	9.00	\$0.0000	\$0.00
ISRWAAS-200-RTU	ISRWAAS software 200 conns for ISR4300 series	9.00	\$0.0000	\$0.00
CON-ECMU-ISRW200	SWSS UPGRADES ISRWAAS software 200 conns for ISR4300 s	9.00	\$0.0000	\$0.00
0.4 51.4 54.0 105 1/0	60 Month Service Duration	0.00	PO 0000	\$0.00
C1-PI-LFAS-ISR-K9	Cisco ONE PI Device License for LF, AS, & IWAN App for ISR	9.00	\$0.0000	\$0.00
C1-LIC-VCM-1N	*Cisco ONE Promo license to manage one WAAS node	9.00	\$0.0000	\$0.00
C1AUPISR4320SK9	Cisco ONE Advanced UC Perpetual License ISR 4321	9.00	\$715.0000	\$6,435.00
CON-ECMU-C1A4320S	*SWSS UPGRADES C1 Advanced UC Perpetual Lic ISR 4321 60 Month Service Duration	45.00	\$0.0000	\$0.00
SL-4320-UC-K9	Unified Communication License for Cisco ISR 4320 Series	9.00	\$0.0000	\$0.00
FL-CME-SRST-25	SRST-25 Seat License (CME uses CUCME Phone License ONLY)	9.00	\$0.0000	\$0.00
FL-CUBEE-5	Unified Border Element Enterprise License - 5 sessions	18.00	\$0.0000	\$0.00
SISR4300UK9-316S	Cisco ISR 4300 Series IOS XE Universal	9.00	\$0.0000	\$0.00



BILL TO:		JOB LOCATION:	
COMPANY	Chula Vista, City of	COMPANY City of Chula Vista	DATE December 6,2017
ADDRESS	276 Fourth Ave	ADDRESS 276 Fourth Ave	EXPIRY DATE January 5,2018
			SALES REP. MATTHEW ROBBART
	Chula Vista, CA 91910	Chula Vista, CA 91910	PHONE. (909)257-2733 EXT
CONTACT	Gary Halbert	CONTACT	EMAIL. mrobbart@nicpartnersinc.com
PHONE		PHONE	
TITLE.			

PART#	DESCRIPTION	QTY	UNIT PRICE	TOTAL PRICE
NIM-2FXS/4FXO	2-Port FXS/FXS-E/DID and 4-Port FXO Network Interface Module	9.00	\$910.0000	\$8,190.00
C1A1VISR4320S-01	Tracker PID v01 Adv Perpetual ISR4320S - no delivery	9.00	\$0.0000	\$0.00
C1F1VISR4320S-04	Tracker PID v04 Fnd Perpetual ISR4320S - no delivery	9.00	\$0.0000	\$0.00
	Recreation Centers - Per Hermon, one 24p switch pe			
C9300-24U-A	Catalyst 9300 24-port UPOE, Network Advantage	9.00	\$3,913.0000	\$35,217.00
CON-SNT-C93002UA	SNTC-8X5XNBD Catalyst 9300 24-port UPOE, Network Adva 60 Month Service Duration	45.00	\$0.0000	\$0.00
C9300-NW-A-24	C9300 Network Advantage, 24-port license	9.00	\$0.0000	\$0.00
S9300UK9-166	*CAT9300 Universal image	9.00	\$0.0000	\$0.00
PWR-C1-1100WAC	1100W AC Config 1 Power Supply	9.00	\$0.0000	\$0.00
PWR-C1-1100WAC/2	1100W AC Config 1 Secondary Power Supply	9.00	\$1,235.0000	\$11,115.00
CAB-TA-NA	North America AC Type A Power Cable	18.00	\$0.0000	\$0.00
09300-STACK-NONE	No Stack Cable Selected	9.00	\$0.0000	\$0.00
09300-SPWR-NONE	No Stack Power Cable Selected	9.00	\$0.0000	\$0.00
C1A1TCAT93001	Cisco ONE Advantage Term, C9300 24-Port	9.00	\$0.0000	\$0.00
C1A1TCAT93001-5Y	C1 Advantage Term C9300 24P 5Y-DNA, 25 ISE PLS, 25 SWATCH	9.00	\$2,834.0000	\$25,506.00
C1-C9300-24-DNAA-T	Cisco ONE C9300 DNA Advantage 24-Port Term licenses	9.00	\$0.0000	\$0.00
1-C9300-TRK-5Y	*Cisco ONE Subscription SKU 5Y	9.00	\$0.0000	\$0.00
1-ISE-BASE-T	*Cisco ONE ISE BASE License Term	225.00	\$0.0000	\$0.00
1-ISE-BASE-TRK-5Y	*Cisco ONE Subscription ISE BASE 5Y	225.00	\$0.0000	\$0.00
1-ISE-PLS-T	*Cisco ONE ISE PLUS License Term	225.00	\$0.0000	\$0.00
1-ISE-PLS-TRK-5Y	*Cisco ONE Subscription SKU ISE Plus 5Y	225.00	\$0.0000	\$0.00
1-SWATCH-T	*Cisco ONE StealthWatch License Term - 1 Flow License	225.00	\$0.0000	\$0.00
1-SWATCH-TRK-5Y	*Cisco ONE Subscription SWATCH SKU 5Y	225.00	\$0.0000	\$0.00
9300-NM-NONE	No Network Module Selected	9.00	\$0.0000	\$0.00
NM-BLANK-T1	Cisco Catalyst Type 1 Network Module Blank Fire Stations	9.00	\$0.0000	\$0.00
C1-CISCO4321/K9	Cisco ONE ISR 4321 (2GE,2NIM,4G FLASH,4G DRAM,IPB)	9.00	\$1,296.7500	\$11,670.75
CON-SNT-C14321K9	*SNTC-8X5XNBD C1 ISR 4321 (2GE,2NIM,4G FLASH) 60 Month Service Duration	45.00	\$0.0000	\$0.00
C1-SL-200-AKC	Cisco ONE Promo LIC Akamai Connect for 200 connection WAAS	9.00	\$0.0000	\$0.00
SL-4320-IPB-K9	IP Base License for Cisco ISR 4320 Series	9.00	\$0.0000	\$0.00
WR-4320-AC	AC Power Supply for Cisco ISR 4320	9.00	\$0.0000	\$0.00
AB-AC-C5	AC Power Cord, Type C5, US, Canada	9.00	\$0.0000	\$0.00
1EM-4320-4GU8G	4G to 8G DRAM Upgrade (Fixed 4G + additional 4G) for ISR4320	9.00	\$0.0000	\$0.00
IIM-BLANK	Blank faceplate for NIM slot on Cisco ISR 4400	9.00	\$0.0000	\$0.00
MEM-FLSH-8G	8G eUSB Flash Memory for Cisco ISR 4430	9.00	\$0.0000	\$0.00
1F1PISR4320SK9	Cisco ONE Foundation Perpetual License ISR 4321	9.00	\$1,202.5000	\$10,822.50
CON-ECMU-C1F4320S	·	45.00	\$0.0000	\$0.00



BILL TO:		JOB LOCATION:	
COMPANY (Chula Vista, City of	COMPANY City of Chula Vista	DATE December 6,2017
ADDRESS 2	276 Fourth Ave	ADDRESS 276 Fourth Ave	EXPIRY DATE January 5,2018
			SALES REP. MATTHEW ROBBART
	Chula Vista, CA 91910	Chula Vista, CA 91910	PHONE. (909)257-2733 EXT
CONTACT (Gary Halbert	CONTACT	EMAIL. mrobbart@nicpartnersinc.com
PHONE		PHONE	
TIT1 F			

TITLE:

PART#	DESCRIPTION	QTY	UNIT PRICE	TOTAL PRICE
SL-4320-SEC-K9	Security License for Cisco ISR 4320 Series	9.00	\$0.0000	\$0.00
SL-4320-APP-K9	AppX License for Cisco ISR 4320 Series	9.00	\$0.0000	\$0.00
ISRWAAS-200-RTU	ISRWAAS software 200 conns for ISR4300 series	9.00	\$0.0000	\$0.00
CON-ECMU-ISRW200	SWSS UPGRADES ISRWAAS software 200 conns for ISR4300 s 60 Month Service Duration	9.00	\$0.0000	\$0.00
C1-PI-LFAS-ISR-K9	Cisco ONE PI Device License for LF, AS, & IWAN App for ISR	9.00	\$0.0000	\$0.00
C1-LIC-VCM-1N	*Cisco ONE Promo license to manage one WAAS node	9.00	\$0.0000	\$0.00
C1AUPISR4320SK9	Cisco ONE Advanced UC Perpetual License ISR 4321	9.00	\$715.0000	\$6,435.00
CON-ECMU-C1A4320S	*SWSS UPGRADES C1 Advanced UC Perpetual Lic ISR 4321 60 Month Service Duration	45.00	\$0.0000	\$0.00
SL-4320-UC-K9	Unified Communication License for Cisco ISR 4320 Series	9.00	\$0.0000	\$0.00
FL-CME-SRST-25	SRST-25 Seat License (CME uses CUCME Phone License ONLY)	9.00	\$0.0000	\$0.00
FL-CUBEE-5	Unified Border Element Enterprise License - 5 sessions	18.00	\$0.0000	\$0.00
SISR4300UK9-316S	Cisco ISR 4300 Series IOS XE Universal	9.00	\$0.0000	\$0.00
NIM-2FXS/4FXO	2-Port FXS/FXS-E/DID and 4-Port FXO Network Interface Module	9.00	\$910.0000	\$8,190.00
C1A1VISR4320S-01	Tracker PID v01 Adv Perpetual ISR4320S - no delivery	9.00	\$0.0000	\$0.00
C1F1VISR4320S-04	Tracker PID v04 Fnd Perpetual ISR4320S - no delivery	9.00	\$0.0000	\$0.00
	Fire Stations - Stations 4 and 7 get 48p switches			
C9300-48U-A	Catalyst 9300 48-port UPOE, Network Advantage	2.00	\$6,831.5000	\$13,663.00
CON-SNT-C93004UA	SNTC-8X5XNBD Catalyst 9300 48-port UPOE, Network Adva 60 Month Service Duration	10.00	\$0.0000	\$0.00
C9300-NW-A-48	*C9300 Network Advantage, 48-port license	2.00	\$0.0000	\$0.00
PWR-C1-1100WAC	1100W AC Config 1 Power Supply	2.00	\$0.0000	\$0.00
PWR-C1-1100WAC/2	1100W AC Config 1 Secondary Power Supply	2.00	\$1,235.0000	\$2,470.00
C1A1TCAT93002	*Cisco ONE Advantage Term, C9300 48-port	2.00	\$0.0000	\$0.00
C1A1TCAT93002-5Y	*C1 Advantage Term C9300 48P 5Y - DNA, 25 ISE PLS, 25 SWATCH	2.00	\$4,608.5000	\$9,217.00
C1-C9300-48-DNAA-T	*Cisco ONE C9300 DNA Advantage 48-Port Term licenses	2.00	\$0.0000	\$0.00
C1-C9300-TRK-5Y	*Cisco ONE Subscription SKU 5Y	2.00	\$0.0000	\$0.00
C1-ISE-BASE-T	*Cisco ONE ISE BASE License Term	50.00	\$0.0000	\$0.00
C1-ISE-BASE-TRK-5Y	*Cisco ONE Subscription ISE BASE 5Y	50.00	\$0.0000	\$0.00
C1-ISE-PLS-T	*Cisco ONE ISE PLUS License Term	50.00	\$0.0000	\$0.00
C1-ISE-PLS-TRK-5Y	*Cisco ONE Subscription SKU ISE Plus 5Y	50.00	\$0.0000	\$0.00
C1-SWATCH-T	*Cisco ONE StealthWatch License Term - 1 Flow License	50.00	\$0.0000	\$0.00
C1-SWATCH-TRK-5Y	*Cisco ONE Subscription SWATCH SKU 5Y	50.00	\$0.0000	\$0.00
C1AA1TCAT93001	*Cisco ONE Advantage Add-On Term, C9300	2.00	\$0.0000	\$0.00
C1AA1TCAT93001-5Y	*C1 Advantage Add-On Term C9300 5Y - 25 ISE PLS, 25 SWATCH	2.00	\$806.0000	\$1,612.00
C1-ISE-BASE-T	*Cisco ONE ISE BASE License Term	50.00	\$0.0000	\$0.00
C1-ISE-BASE-TRK-5Y	*Cisco ONE Subscription ISE BASE 5Y	50.00	\$0.0000	\$0.00
C1-ISE-PLS-T	*Cisco ONE ISE PLUS License Term	50.00	\$0.0000	\$0.00



BILL TO:	JOB LOCATION:	
COMPANY Chula Vista, City of	COMPANY City of Chula Vista	DATE December 6,2017
ADDRESS 276 Fourth Ave	ADDRESS 276 Fourth Ave	EXPIRY DATE January 5,2018
		SALES REP. MATTHEW ROBBART
Chula Vista, CA 91910	Chula Vista, CA 91910	PHONE. (909)257-2733 EXT
CONTACT Gary Halbert	CONTACT	EMAIL. mrobbart@nicpartnersinc.com
PHONE	PHONE	
,		EMAIL. mrobbart@nicpartnersinc.co

TITLE:

PART#	DESCRIPTION	QTY	UNIT PRICE	TOTAL PRICE
C1-ISE-PLS-TRK-5Y	*Cisco ONE Subscription SKU ISE Plus 5Y	50.00	\$0.0000	\$0.00
C1-SWATCH-T	*Cisco ONE StealthWatch License Term - 1 Flow License	50.00	\$0.0000	\$0.00
C1-SWATCH-TRK-5Y	*Cisco ONE Subscription SWATCH SKU 5Y	50.00	\$0.0000	\$0.00
S9300UK9-166	*CAT9300 Universal image	2.00	\$0.0000	\$0.00
CAB-TA-NA	North America AC Type A Power Cable	4.00	\$0.0000	\$0.00
C9300-NM-NONE	No Network Module Selected	2.00	\$0.0000	\$0.00
C9300-STACK-NONE	No Stack Cable Selected	2.00	\$0.0000	\$0.00
C9300-SPWR-NONE	No Stack Power Cable Selected	2.00	\$0.0000	\$0.00
NM-BLANK-T1	Cisco Catalyst Type 1 Network Module Blank	2.00	\$0.0000	\$0.00
	Fire Stations - Per Hermon, Stations 4 and 7 need			
C9300-24U-A	Catalyst 9300 24-port UPOE, Network Advantage	7.00	\$3,913.0000	\$27,391.00
CON-SNT-C93002UA	SNTC-8X5XNBD Catalyst 9300 24-port UPOE, Network Adva	35.00	\$0.0000	\$0.00
	60 Month Service Duration			
C9300-NW-A-24	C9300 Network Advantage, 24-port license	7.00	\$0.0000	\$0.00
S9300UK9-166	*CAT9300 Universal image	7.00	\$0.0000	\$0.00
PWR-C1-1100WAC	1100W AC Config 1 Power Supply	7.00	\$0.0000	\$0.00
PWR-C1-1100WAC/2	1100W AC Config 1 Secondary Power Supply	7.00	\$1,235.0000	\$8,645.00
CAB-TA-NA	North America AC Type A Power Cable	14.00	\$0.0000	\$0.00
C9300-STACK-NONE	No Stack Cable Selected	7.00	\$0.0000	\$0.00
C9300-SPWR-NONE	No Stack Power Cable Selected	7.00	\$0.0000	\$0.00
C1A1TCAT93001	Cisco ONE Advantage Term, C9300 24-Port	7.00	\$0.0000	\$0.00
C1A1TCAT93001-5Y	C1 Advantage Term C9300 24P 5Y-DNA, 25 ISE PLS, 25 SWATCH	7.00	\$2,834.0000	\$19,838.00
C1-C9300-24-DNAA-T	Cisco ONE C9300 DNA Advantage 24-Port Term licenses	7.00	\$0.0000	\$0.00
C1-C9300-TRK-5Y	*Cisco ONE Subscription SKU 5Y	7.00	\$0.0000	\$0.00
C1-ISE-BASE-T	*Cisco ONE ISE BASE License Term	175.00	\$0.0000	\$0.00
C1-ISE-BASE-TRK-5Y	*Cisco ONE Subscription ISE BASE 5Y	175.00	\$0.0000	\$0.00
C1-ISE-PLS-T	*Cisco ONE ISE PLUS License Term	175.00	\$0.0000	\$0.00
C1-ISE-PLS-TRK-5Y	*Cisco ONE Subscription SKU ISE Plus 5Y	175.00	\$0.0000	\$0.00
C1-SWATCH-T	*Cisco ONE StealthWatch License Term - 1 Flow License	175.00	\$0.0000	\$0.00
C1-SWATCH-TRK-5Y	*Cisco ONE Subscription SWATCH SKU 5Y	175.00	\$0.0000	\$0.00
C9300-NM-NONE	No Network Module Selected	7.00	\$0.0000	\$0.00
NM-BLANK-T1	Cisco Catalyst Type 1 Network Module Blank	7.00	\$0.0000	\$0.00
	<u>Wireless</u>			
SFP-10G-SR=	10GBASE-SR SFP Module	4.00	\$646.7500	\$2,587.00
	<u>Wireless</u>			
SFP-10G-SR=	10GBASE-SR SFP Module	4.00	\$646.7500	\$2,587.00
	Wireless - Primary WLC for City Hall - 100 Cisco ONE licenses		•	
C1-AIR-CT5520-K9	Cisco ONE - 5520 Wireless Controller w/rack mounting kit		\$13,000.0000	\$13,000.00
CON-SNT-CT5520K9	*SNTC-8X5XNBD Cisco 5520 Wireless Controller w/rack mo	5.00	\$0.0000	\$0.00
	60 Month Service Duration			

PROPOSAL



NIC Partners Inc. 11981 Jack Benny Drive, Ste. 103 Rancho Cucamonga, CA 91739

BILL TO:	JOB LOCATION:	
COMPANY Chula Vista, City of	COMPANY City of Chula Vista	DATE December 6,2017
ADDRESS 276 Fourth Ave	ADDRESS 276 Fourth Ave	EXPIRY DATE January 5,2018
		SALES REP. MATTHEW ROBBART
Chula Vista, CA 91910	Chula Vista, CA 91910	PHONE. (909)257-2733 EXT
CONTACT Gary Halbert	CONTACT	EMAIL. mrobbart@nicpartnersinc.com
PHONE	PHONE	

TITLE:

PART#	DESCRIPTION	QTY	UNIT PRICE	TOTAL PRICE
CAB-9K12A-NA	Power Cord, 125VAC 13A NEMA 5-15 Plug, North America	2.00	\$0.0000	\$0.00
LIC-CT5520-DTLS-K9	*Cisco 5520 Wireless Controller DTLS License	1.00	\$0.0000	\$0.00
AIR-CT6870-NIC-K9	PCIe Network Interface 20G	1.00	\$0.0000	\$0.00
AIR-BZL-C220M4	Cisco 5520 Wireless Controller Security Bezel	1.00	\$0.0000	\$0.00
AIR-PSU1-770W	770W AC Hot-Plug Power Supply for 5520 Controller	1.00	\$0.0000	\$0.00
AIR-CPU-E52609D	1.90 GHz E5-2609 v3/85W 6C/15MB Cache/DDR4 1600MHz	1.00	\$0.0000	\$0.00
AIR-SD-32G-S	32GB SD Card for UCS servers	1.00	\$0.0000	\$0.00
AIR-SD240GBKS4-EV	240GB 2.5 inch Enterprise Value 6G SATA SSD	1.00	\$0.0000	\$0.00
AIR-MR-1X081RU-A	8GB DDR4-2133-MHz RDIMM/PC4-17000/single rank/x4/1.2v	4.00	\$0.0000	\$0.00
AIR-TPM2-001	Trusted Platform Module 1.2 for UCS (SPI-based)	1.00	\$0.0000	\$0.00
AIR-CT5520-SW-8.2	*Cisco 5520 Wireless Controller SW Rel. 8.2	1.00	\$0.0000	\$0.00
C1A1TAIRK9	Cisco ONE Advantage Term Wireless	100.00	\$0.0000	\$0.00
C1A1TAIRK9-5Y	Cisco ONE Advantage Term Wireless 5Y	100.00	\$650.0000	\$65,000.00
C1-AIR-DNA-A	Cisco ONE DNA Term License Wireless	100.00	\$0.0000	\$0.00
C1-AIR-DNA-A-5Y	Cisco ONE DNA Term License for WLAN 5Y	100.00	\$0.0000	\$0.00
C1-WLC-AP-T	Cisco ONE Wireless LAN Controller Term License	100.00	\$0.0000	\$0.00
C1-WLC-AP-5Y	Cisco ONE Wireless LAN Controller AP Term License 5Y	100.00	\$0.0000	\$0.00
C1-PI-LFAS-AP-T	Cisco ONE PI Dev Lic for Lifecycle & Assurance Term	100.00	\$0.0000	\$0.00
C1-PI-LFAS-AP-5Y	Cisco ONE PI Dev Lic for Lifecycle & Assurance Term 5Y	100.00	\$0.0000	\$0.00
C1-MSE-LS-1-T	Cisco ONE Mobility Services Engine Base Location Term	100.00	\$0.0000	\$0.00
C1-MSE-LS-1-5Y	Cisco ONE Mobility Services Engine Base Location Term 5Y	100.00	\$0.0000	\$0.00
C1-ISE-BASE-T	*Cisco ONE ISE BASE License Term	1500.00	\$0.0000	\$0.00
C1-ISE-BASE-TRK-5Y	*Cisco ONE Subscription ISE BASE 5Y	1500.00	\$0.0000	\$0.00
C1-ISE-PLS-T	*Cisco ONE ISE PLUS License Term	1500.00	\$0.0000	\$0.00
C1-ISE-PLS-TRK-5Y	*Cisco ONE Subscription SKU ISE Plus 5Y	1500.00	\$0.0000	\$0.00
AIR-PSU1-770W	770W AC Hot-Plug Power Supply for 5520 Controller	1.00	\$454.3500	\$454.35
	Wireless - Redundant WLC for City Hall (SSO mode)			
C1-AIR-CT5520-K9	Cisco ONE - 5520 Wireless Controller w/rack mounting kit	1.00	\$13,000.0000	\$13,000.00
CON-SNT-CT5520K9	*SNTC-8X5XNBD Cisco 5520 Wireless Controller w/rack mo	5.00	\$0.0000	\$0.00
	60 Month Service Duration			
CAB-9K12A-NA	Power Cord, 125VAC 13A NEMA 5-15 Plug, North America	2.00	\$0.0000	\$0.00
LIC-CT5520-DTLS-K9	*Cisco 5520 Wireless Controller DTLS License	1.00	\$0.0000	\$0.00
AIR-CT6870-NIC-K9	PCIe Network Interface 20G	1.00	\$0.0000	\$0.00
AIR-BZL-C220M4	Cisco 5520 Wireless Controller Security Bezel	1.00	\$0.0000	\$0.00
AIR-PSU1-770W	770W AC Hot-Plug Power Supply for 5520 Controller	1.00	\$0.0000	\$0.00
AIR-CPU-E52609D	1.90 GHz E5-2609 v3/85W 6C/15MB Cache/DDR4 1600MHz	1.00	\$0.0000	\$0.00
AIR-SD-32G-S	32GB SD Card for UCS servers	1.00	\$0.0000	\$0.00
AIR-SD240GBKS4-EV	240GB 2.5 inch Enterprise Value 6G SATA SSD	1.00	\$0.0000	\$0.00
AIR-MR-1X081RU-A	8GB DDR4-2133-MHz RDIMM/PC4-17000/single rank/x4/1.2v	4.00	\$0.0000	\$0.00

PROPOSAL



NIC Partners Inc. 11981 Jack Benny Drive, Ste. 103 Rancho Cucamonga, CA 91739

BILL TO:		JOB LOCATION:	
COMPANY (Chula Vista, City of	COMPANY City of Chula Vista	DATE December 6,2017
ADDRESS 2	276 Fourth Ave	ADDRESS 276 Fourth Ave	EXPIRY DATE January 5,2018
			SALES REP. MATTHEW ROBBART
	Chula Vista, CA 91910	Chula Vista, CA 91910	PHONE. (909)257-2733 EXT
CONTACT (Gary Halbert	CONTACT	EMAIL. mrobbart@nicpartnersinc.com
PHONE		PHONE	
TIT1 F			

PART#	DESCRIPTION	QTY	UNIT PRICE	TOTAL PRICE
AIR-TPM2-001	Trusted Platform Module 1.2 for UCS (SPI-based)	1.00	\$0.0000	\$0.00
AIR-CT5520-SW-8.2	*Cisco 5520 Wireless Controller SW Rel. 8.2	1.00	\$0.0000	\$0.00
AIR-PSU1-770W	770W AC Hot-Plug Power Supply for 5520 Controller	1.00	\$454.3500	\$454.35
	Wireless - (30) for City Hall, (15) for Public Wor			
AIR-AP3802I-A-K9	802.11ac W2 AP w/CA; 4x4:3; Mod; Int Ant; mGig A Domain	100.00	\$1,072.5000	\$107,250.00
AIR-AP-T-RAIL-R	Ceiling Grid Clip for Aironet APs - Recessed Mount (Default)	100.00	\$0.0000	\$0.00
SW3802-CAPWAP-K9	Cisco Aironet 3800 Series CAPWAP Software Image	100.00	\$0.0000	\$0.00
AIR-AP-BRACKET-2	802.11n AP Universal Mounting Bracket	100.00	\$0.0000	\$0.00
	Wireless - (1) for PD, (1) for Public Works			
C1-AIR-CT3504-K9	Cisco ONE - 3504 Wireless Controller	2.00	\$3,250.0000	\$6,500.00
CON-SNT-C19AIRKC	*SNTC-8X5XNBD Cisco ONE - 3504 Wireless Controller	10.00	\$0.0000	\$0.00
	60 Month Service Duration			
CAB-AC-C5	AC Power Cord, Type C5, US, Canada	2.00	\$0.0000	\$0.00
LIC-CT3504-DTLS-K9	Cisco 3504 Wireless Controller DTLS License	2.00	\$0.0000	\$0.00
CON-ECMU-LICDCT35	SWSS UPGRADES Cisco 3504 Wireless Controller DTLS Lice 60 Month Service Duration	2.00	\$0.0000	\$0.00
AIR-CT3504-SW-8.5	Cisco 3504 Wireless Controller SW Rel. 8.5	2.00	\$0.0000	\$0.00
CON-SNT-AIRWCT354	SNTC-8X5XNBD Cisco 3504 Wireless Controller SW Rel. 8	2.00	\$0.0000	\$0.00
	60 Month Service Duration			
PWR-115W-AC	Cisco 3504 Wireless Controller Power Supply	2.00	\$0.0000	\$0.00
AIR-CT3504-RMNT	3504 Wireless Controller Rack Mount Tray	2.00	\$146.2500	\$292.50
C1A1TAIRK9	Cisco ONE Advantage Term Wireless	2.00	\$0.0000	\$0.00
C1A1TAIRK9-5Y	Cisco ONE Advantage Term Wireless 5Y	2.00	\$650.0000	\$1,300.00
C1-AIR-DNA-A	Cisco ONE DNA Term License Wireless	2.00	\$0.0000	\$0.00
C1-AIR-DNA-A-5Y	Cisco ONE DNA Term License for WLAN 5Y	2.00	\$0.0000	\$0.00
C1-WLC-AP-T	Cisco ONE Wireless LAN Controller Term License	2.00	\$0.0000	\$0.00
C1-WLC-AP-5Y	Cisco ONE Wireless LAN Controller AP Term License 5Y	2.00	\$0.0000	\$0.00
C1-PI-LFAS-AP-T	Cisco ONE PI Dev Lic for Lifecycle & Assurance Term	2.00	\$0.0000	\$0.00
C1-PI-LFAS-AP-5Y	Cisco ONE PI Dev Lic for Lifecycle & Assurance Term 5Y	2.00	\$0.0000	\$0.00
C1-MSE-LS-1-T	Cisco ONE Mobility Services Engine Base Location Term	2.00	\$0.0000	\$0.00
C1-MSE-LS-1-5Y	Cisco ONE Mobility Services Engine Base Location Term 5Y	2.00	\$0.0000	\$0.00
C1-ISE-BASE-T	*Cisco ONE ISE BASE License Term	30.00	\$0.0000	\$0.00
C1-ISE-BASE-TRK-5Y	*Cisco ONE Subscription ISE BASE 5Y	30.00	\$0.0000	\$0.00
C1-ISE-PLS-T	*Cisco ONE ISE PLUS License Term	30.00	\$0.0000	\$0.00
C1-ISE-PLS-TRK-5Y	*Cisco ONE Subscription SKU ISE Plus 5Y	30.00	\$0.0000	\$0.00





BILL TO:	JOB LOCATION:	
COMPANY Chula Vista, City of	COMPANY City of Chula Vista	DATE December 6,2017
ADDRESS 276 Fourth Ave	ADDRESS 276 Fourth Ave	EXPIRY DATE January 5,2018
		SALES REP. MATTHEW ROBBART
Chula Vista, CA 91910	Chula Vista, CA 91910	PHONE. (909)257-2733 EXT
CONTACT Gary Halbert	CONTACT	EMAIL. mrobbart@nicpartnersinc.com
PHONE	PHONE	

TITLE:

FF - Chula Vista, City of-Comprehensive Tech Refresh - Police/PublicWorks/LCDC/Animal Facility/RecCenters/Fire/Wireless

PART#	DESCRIPTION	QTY UNIT PRIC	E TOTAL PRICE
Authorized Signature	<u>gnature</u>	Non-Taxable Material:	\$505,089.00
By:		Taxable Material:	\$923,762.45
		Tax:	\$71,591.59
Name:		Labor:	\$0.00
Date:		Service/Maintenance:	\$0.00
		Shipping:	\$0.00
		Other Services:	\$0.00
		TOTAL:	\$1,500,443.04

By signing this proposal, your acknowledge that you are authorized to enter into a binding agreement on behalf of your company/organization, and (unless governed by public sector purchasing contract/agreement) you agree to the terms and conditions below.

Printed: 12/07/17 Page 16 of 1